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TVC(Cbch) (0,14,3)

e po

A~ 1 nuiL s8ze+ud [ 25
4201 0.0
pL -35.37+ 0.00

TP delay

TVC(c,b Ch) (0, 14 7

E. pO

[ns]

- i bz1e+u4 / 25
4209+ 0.0
pl -34.74 % 0.00

TP delay

TVC(e.beh)=(0, 14, 11

. pO

[ns]

T nuiysze+ud [ 25
4234+ 0.0
p1 -36.23+ 0.00

TP delay

TVC(cbch) (0, 14 15

e pO

[ns]

- i puse+ud [ 25
4247+ 0.0
p1 -37.52+ 0.00

TP delay

[ns]



TVC(c,b,ch)=( 0, 15, 0)

4000 [

3000

2000 =

woo- C = 29.62 [ps/ch]

AL Yo06 /25
Y 4196+ 0.0
pl -33.76 + 0.00

50

1
100

TP delay [ns]

TVC(cbch) (0,154

4000 e

3000 -

2000 [~

1000 [~ C

-1 z43e+04 / 25
pO 4212+ 0.0
pl -36.19 + 0.00

10‘0
TP delay [ns]

TVC(cbch) (0o, 15 8

4000 B

3000

2000

1000

1 nuiLgope+u4 / 25
PD 4222+ 0.0
pl -35.47 + 0.00

TP delay [ns]

TVC(cbch) (0,15, 12

4000 e

3000

2000

1000

T nuiLoo5e+u4 / 25
PO 4233+ 0.0
pl -35.05 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,15,1)

[ C =30.10 [ps/ch] ™.

S yoal /25
PO 4195+ 0.0
pl -33.22+ 0.00

L
50

1
100

TP delay [ns]

TVC(cbch) (0,155

“nun1.30e+04 / 25
DU 4215+ 0.0
pL -36.48 + 0.00

1(;0
TP delay [ns]

TVC(c, bch) (0, 15 9

Tonan/.34e+04 1 25
DO 4260+ 0.0
pl -35.57 + 0.00

TP delay [ns]

TVC(cbch) (0.15,13

~ 1 nuiLayse+ud 25
PO 4223+ 0.0
pl -34.9+ 0.0

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (0,15,2)

T, L roe+ud [ 25
PO 4219+ 0.0
pl -35.47 + 0.00

TP delay [ns]

TVC(cbch) (0.15,6

- nurb1ye+u4 / 25
pO 4221+ 0.0
pl -36.61+ 0.00

10‘0
TP delay [ns]

TVC(cbch) (0, 15 10

T nuig.zo3e+ud | 25
DO 4279+ 0.0
pl -36.26 + 0.00

TP delay [ns]

TVC(cbch) (0.15, 14

- i 3yre+0d | 25
PD 4220+ 0.0
pl -34.57 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (0,15,3)

A~ 1bae+U4 25
. po 4214+ 0.0
pl_ -35.02% 0.00

TP delay [ns]

TVC(c, bch) (0,157

-1 nui bb3e+ud / 25
= PO 4236+ 0.0
pL -36.77 + 0.00

50 1(;0
TP delay [ns]

TVC(cbch) (o, 15 1

-1 nui yyze+ud [ 25
4255+ 0.0
-34.6 £ 0.0

[ C =28.90 [ps/ch] ]

1
50 100

TP delay [ns]

TVC(cbch) (0,15,15

T 4sze+04 [ 25
- PO 4229+ 0.0
-35.11 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,0,0

AT inun 3rze+04 /25
P, po 4185+ 0.0
pl -36.39+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (1,0,4

- i, 304e+04 / 25
™, pO 4167+ 0.0
pl -36.12+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (1 0,8

T rnuiLgse+U4 [ 25
= pO 4191+ 0.0
p1 -34.52 + 0.00

TP delay [ns]

TVC(cbch) (1,0,12

T i 34pe+04 / 25
= po 4203+ 0.0
pl -35.12+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,0,1

A nuiLasierud ] 25
e, po 4188+ 0.0
pl -37+ 0.0

[ C=27.03 [ps/c ]

1 1
50 100

TP delay [ns]

TVC(c,b ch) (1, O

=1 nuiL 4ube+u4 [ 25
e, pO 4176+ 0.0
pL -35.59+ 0.00

TP delay [ns]

TVC(c,b ch) (1 0,9

~ 1 nug.p44e+04 / 25
= po 4212+ 0.0
p1 -34.72+ 0.00

TP delay [ns]

TVC(cbch) (1,0,13

Tinai 43e+04 / 25
= pO 4203+ 0.0
pl -36.13+ 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

4000

2000

1000

TVC(cbch) (1,0,2)

AT 1nui3r0e+04 /25
P po 4181+ 0.0
- pl -35.72+ 0.00

3000

TP delay [ns]

TVC(cbch) (10,6

- rnub1ze+04 [ 25
= pO 4186+ 0.0
3 pl -35.58+ 0.00

3000

50 10‘0
TP delay [ns]

TVC(cbch) (1, 0 10

T, 35ze+04 | 25
= po 4230+ 0.0
- pl -34.93 + 0.00

3000

TP delay [ns]

TVC(cbch) (1,0,14

TrnuiLzize+u4 [ 25
= pD 4217+ 0.0
L p1 -37.47+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,0,3

AT 1 nuiLo41e+U4 /25
== po 4204+ 0.0
pl -36.52+ 0.00

TP delay [ns]

TVC(c,b ch) (1 0,7

=1 nui booe+u4 / 25
e, pO 4196+ 0.0
p1 -36.45+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (1, O

T az4e+u4/25
= po 4238+ 0.0
pl -35.63+ 0.00

TP delay [ns]

TVC(C, bch) (1,0,15

TinuiLsl/e+ud /25
- po 4210+ 0.0
p1 -36.62+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,1,0

A7 nui s44e+04 /25
P po 4178+ 0.0
pl -36.3+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (11,4

- i 381e+04 / 25
- pO 4178+ 0.0
p1 -35.78:+ 0.00

TP delay [ns]

TVC(ebioh)=(1, 1,8

T 741e+04 / 25
= po 4197+ 0.0
p1 -34.75 + 0.00

TP delay [ns]

TVC(cbch) (1,1,12

L 5upe+U4 / 25
- po 4214+ 0.0
pl -36.48 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,1,1

AT 1 nunLszoe+ud [ 25
., po 4198+ 0.0
pl -35.76 + 0.00

TP delay [ns]

TVC(c,b ch) (1, 1

=11 480e+04 / 25
pO 4196+ 0.0
pL -36.24+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 1

[ C =29.04 [ps/ch]

-1 nup.byze+u4 25
po 4221+ 0.0
p1 -34.44 + 0.00

50 1[;0
TP delay [ns]

TVC(cbch) (1,1,13

T inaiasze+ud [ 25
pO 4206+ 0.0
p1 -36.9 + 0.0

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

4000

2000

1000

TVC(cbch) (1,1,2)

A7 1nun isze+u4 /25
- po 4198+ 0.0
L pl -35.44 + 0.00

3000

TP delay [ns]

TVC(cbch) (11,6

-1 nuiL39ve+04 / 25
- pO 4205+ 0.0
[ pl -36.13+ 0.00

3000

TP delay [ns]

TVC(ebeh)=(1, 1, 10

- C = 28.95 [ps/ch]

T nuzp3se+ud | 25
-, po 4229+ 0.0
- pl -34.54 + 0.00

3000

1
50 100

TP delay [ns]

TVC(cbch) (1,1,14

T4l e+u4 /25
= pD 4216+ 0.0
L p1 -36.94 + 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,1,3

AT rnuiLibie+ud [ 25
Fee.. po 4205+ 0.0
pl -35.09 + 0.00

TP delay [ns]

TVC(c,b ch) (1 1,7

- nui 3y/e+u4 / 25
- pO 4205+ 0.0
pL -35.33+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 1

1)
-1 nui syse+u4 25
4232+ 0.0
-35.2+ 0.0

TP delay [ns]

TVC(cbch) (11,15

Tanaizrse+ud /25
= pO 4206+ 0.0
p1 -35.36+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,2,0

K71 nuizyse+ud [ 25
.. po 4197+ 0.0
pl -36.8+ 0.0

TP delay [ns]

TVC(cbch) (1,24

- i 4pbe+04 / 25
e, pO 4215+ 0.0
pl -35.97 + 0.00

50 10‘0
TP delay [ns]

TVC(ebeh)=(1,2,8

T L rg1e+u4 / 25
= po 4200+ 0.0
pl -35.06 + 0.00

TP delay [ns]

TVC(cbch) (1,212

T rnuizusze+u4 | 25
= po 4243+ 0.0
pl -36.83+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,21)

T Lz1e+ud /25
., pO 4198+ 0.0
pl -35.37 + 0.00

TP delay [ns]

TVC(c,b ch) (1, 2

-/ nuiL bloe+ud / 25
pO 4234+ 0.0
pL -35.89+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 2

Tinugs/e+ud [ 25
po 4221+ 0.0
pl -35.21+ 0.00

TP delay [ns]

TVC(cbch) (1,213

<1 nuiLayve+ud / 25
pO 4241% 0.0
pl -37.34+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000
3000

2000

TVC(cbch) (1,2,2)

TonunLave+ud [ 25
-, po 4212+ 0.0
o pl -35.81+ 0.00

3000

TP delay [ns]

TVC(cbch) (1,26

T b r1e+u4 /25
- pO 4242+ 0.0
[ pl -36.06 + 0.00

TP delay [ns]

TVC(ebeh)=(1, 2, 10

1000

TanuiL 1/e+04 /25
o=, po 4230+ 0.0
I pl -35.27 + 0.00

TP delay [ns]

TVC(cbch) (1,2 14

1000

Trnuz131e+04 /25
4242+ 0.0
-36.31+ 0.00

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,2,3

A 1L 2ave+ud | 25
o, po 4205+ 0.0
pL -34.77:+ 0.00

TP delay [ns]

TVC(c,b ch) (1 2,7

Crnan 1.81e+04 [ 25
- pO 4239+ 0.0
pL -35.75+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 2

T ab/e+u4/25
= po 4253+ 0.0
pl -36.01+ 0.00

TP delay [ns]

TVC(C, bch) (1,215

Tonanz.zze+u4 | 25
= po 4238+ 0.0
p1 -36.3+ 0.0

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,3,0)

T L4se+ud /25
pO 4208+ 0.0
pl -37.32+ 0.00

TP delay [ns]

TVC(cbch) (1,34

- i 353e+04 / 25
4203+ 0.0
-37.3+ 0.0

10‘0
TP delay [ns]

TVC(cbch) (1 3,8

1 nuiLYype+u4 / 25
PD 4233+ 0.0
p1 -35.42 + 0.00

TP delay [ns]

TVC(cbch) (1,312

© 1L g4o3e+04 / 25
pO 4196+ 0.0
p1 -33.5+ 0.0

[ C =29.85 [ps/ch]

50

1
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,31

AT 1 nuiLouye+ud [ 25
., po 4209+ 0.0
pl -35.91+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 3

-1 nui byze+u4d [ 25
pO 4234+ 0.0
pL -38.56 + 0.00

TP delay [ns]

TVC(c,b ch) (1 3,9

T nug.Usse+ud / 25
po 4251+ 0.0
pl -36.05+ 0.00

TP delay [ns]

TVC(cbch) (1,313

TinuiLarie+ud /25
4197+ 0.0
-33.61+ 0.00

[ C =29.75 [ps/ch] ]

50

il
100

TP delay [ns]

4000

3000
2000

1000

4000
3000
2000

1000

4000

3000

2000

4000

3000

2000

1000

1000

TVC(cbch) (1,3,2)

A llu114ue+u4/25
po 4212+ 0.0
pl -36.21+ 0.00

TP delay [ns]

TVC(cbch) (1,36

-1 nuiL boze+u4 / 25
4234+ 0.0
-38.4+ 0.0

TP delay [ns]

TVC(cbch) (1, 3 10

1 nuiLyope+u4 / 25
po 4273+ 0.0
pl -35.98 + 0.00

TP delay [ns]

TVC(cbch) (1,3 14

Sruae T 038125
pD 4188+ 1.1
p1 -33.37+ 0.03

F C =29.97 [ps/ch]

PR IR SRR |
50 100

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,3,3)

AT 1L ssye+ud [ 25
po 4227+ 0.0
p1 -36.7+ 0.0

TP delay [ns]

TVC(c,b ch) (1 3,7

- nun bz1e+u4 / 25
pO 4239+ 0.0
pL -38.01% 0.00

TVC(c,b ch) (1, 3

50 100
TP delay [ns]

T, /zue+u4/25
po 4256+ 0.0
pl -35.66 + 0.00

TP delay [ns]

TVC(C, bch) (1,315

-1 nui boye+ud / 25
po 4201+ 0.0
-34.18 + 0.00

[ C=29.25[ps/ch]

50

1
100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (1,4,0

A7 1 nuiosoe+ud /25
- po 4223+ 0.0
p1 -38.44 + 0.00

L=
50 100

TP delay [ns]

TVC(cbch) (14,4

-1 nuiL Zobe+ud / 25
= pO 4205+ 0.0
pl -35.11+ 0.00

50 10‘0
TP delay [ns]

TVC(eb.oh)=(1, 4,8

T nuz 330e+u4 / 25
- pO 4245+ 0.0
p1 -36.74 + 0.00

TP delay [ns]

TVC(cbch) (1,4,12

~rnuiLgooe+u4 / 25
= po 4210+ 0.0
pl -35.06 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,4,1

A7 1 nuiLbsoe+ud /25
F po 4227+ 0.0
pl -39.03+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 4

= 1nui Sz3e+04 | 25
== po 4220+ 0.0
-36.1+ 0.0

50 1(;0
TP delay [ns]

TVC(c,b ch) (1, 4

T nu.a34e+04 / 25
- po 4273+ 0.0
pl -36.74 + 0.00

TP delay [ns]

TVC(cbch) (1,4,13

T inai/1oe+ud [ 25
— pO 4219+ 0.0
pl -36.02+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (1,4,2)

A7 1 nui49ye+u4 / 25
F po 4230+ 0.0
- pl -38.17 + 0.00

L=
50 100

TP delay [ns]

TVC(cbch) (1,4,6

“rnuiLb4a/e+V4 [ 25
- pO 4224+ 0.0
[ pl -36.62+ 0.00

TP delay [ns]

TVC(ebeh)=(1, 4, 10

0

©1nuz5use+u4 [ 25
- DO 4293+ 0.0
- pl -37.53+ 0.00

TP delay [ns]

TVC(cbch) (1,4,14

~ 1L byze+u4 [ 25
- pD 4222+ 0.0
L p1 -35.92+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,4,3)

e po

p1

AT 1L oze+ud [ 25
4232+ 0.0
-37.81+ 0.00

TP delay [ns]

TVC(c,b ch) (1 4,7

Fo=. pO
pl

-1 nui 480e+04 / 25
4230+ 0.0
-35.88+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 4

= pO

1)
-1 nui yuse+u4 / 25
4280+ 0.0
-36.5 + 0.0

1
50 100

TP delay [ns]

TVC(C, bch) (1,4,15

= po

p1

T nui rbve+ud [ 25
4214+ 0.0
-36.31+ 0.00

TP delay [ns]



TVC(cbch)(lSO) TVC(cbch)(lSl) TVC(cbch)(152) TVC(cbch)(153)
AT 1L/ roe+u4 [ 25 “rnunppre+ud /25 A” 11 bsbe+ud [ 25 A~ 1z pyle+ud [ 25
4000 ;— PO 4194+ 0.0 4000 Mo po 4199+ 0.0 4000 _=— po 4203+ 0.0 4000 e, po 4213+ 0.0
pl -35.78 + 0.00 pl -35.57 + 0.00 r pl -35.82+ 0.00 pl -35.21+ 0.00

3000

1 3000 =1 3000 -1 3000 - -1

2000 - 2000 - 2000 =1 2000 -

1000 E 1000 - 1000

] woo- C = 28.40 [ps/ch

L
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (1,54 TVC(cbch) (155 TVC(cbch) (1,56 TVC(c, bch) (1,57

T nuiL431e+04 / 25 T rnan 1416404 125 T nuiL 3/9e+04 [ 25 T 3hre+U4 [ 25
4000, pO 4227+ 0.0 4000 pO 4228+ 0.0 4000 e, pO 4245+ 0.0 4000 fs pO 4246+ 0.0
Pl -36.13: 0.00 Pl -36.21% 0.00 [ PL_ -36.84% 0.00 -35.7+ 0.0

3000 E 3000 E 3000 1 3000 E

2000 - E 2000 - 2000~ ] 2000 -

1000 4 1000 g wool- C = 27.14 [ps/ch ] 1000 4

[ ]
-- - --
1 1 0 1 [ 1
50 00 50 T00 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(c,b Ch) (1, 5 8) TVC(c,b Ch) (1, 5 ) TVC(c,b, Ch) (1, 5 10) TVC(c,b Ch) (1, 5 1)
T nug. zoze+u4 [ 25 T i gure+us / 25 T, (29e+u4 [ 25 ~ i s8be+u4 / 25
4000 e, pO 4238+ 0.0 4000 e, pO 4262+ 00 4000 [, DO 4276+ 00 4000 fam, p0 4284+ 0.0
Pl 36,51+ 0.00 Pl -36.31% 0.00 [ PL_ -37.07%0.00 Pl -37.03% 0.00

3000

-1 3000 - 3000 -1 3000 -1

2000 -1 2000 - 2000 -1 2000

1000 E 1000 - 1000 E 1000

0 0

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch)(lSl ) TVC(cbch)(1513) TVC(cbch)(151 ) TVC(cbch)(1515)
T L yse+u4 [ 25 TinuiLy4ie+ud [ 25 T 3pe+u4 [ 25 T inai45e+u4 / 25
4000 f pO 4255+ 0.0 4000 fe, pO 4250 0.0 4000 f, pD 4248+ 0.0 4000 i, pO 4259+ 0.0
pl -36.08 + 0.00 pl -35.93+ 0.00 F pl -35.64 + 0.00 pl -35.74 + 0.00

3000

T 3000 _ 3000 -1 3000 .

2000 . 2000 _ 2000 1 2000

1000 -1 1000 -1 1000 - 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (1,6,0)

A1

' po
pl

ouve+u4 / 25
4196+ 0.0
-37.24+ 0.00

TP delay [ns]

TVC(cbch) (1,64

LTS

Zbae+u4 [ 25
4222+ 0.0
-36.9+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (1 6, 8

i poze+u4 | 25
4224+ 0.0
-34.96 + 0.00

TP delay [ns]

TVC(cbch) (1,6,12

pO
p1

T Lo/ e+u4 /25
4234+ 0.0
-37.45+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000
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= pO 4268+ 0.0
[ p1 -36.51 0.00

TP delay [ns]

TVC(c,b Ch) (1, 13 14)

© i zsde+04 [ 25

-]

4241+ 0.0
-36.3+ 0.0

PR R R SR R |
50 100

TP delay [ns]

TVC(Cbch) (1,13,3)

4000~

3000

2000

1000

A1 nu, (8re+ud [ 25
po 4231£ 0.0
pL -36.45+ 0.00

TP delay [ns]

TVC(c,b Ch) (1, 13 7

4000 |G

3000

2000

w0 C = 27.38 [ps/ch ]

-1 nui base+u4d / 25
pO 4243+ 0.0
p1 -36.52:+ 0.00

TP delay [ns]

TVC(eheh)=(1, 13, 11

4000 [us.

3000

2000

1000

T nai rzze+04 [ 25
po 4262+ 0.0
pl -36.05+ 0.00

TP delay [ns]

TVC(c,b ch) (1, 13 15

4000 [,

3000

2000

1000

S oz re+ud [ 25
pO 4260+ 0.0
p1 -37.23+ 0.00

TP delay [ns]



4000

3000

2000

1000

TVC(CbCh) (1, 14 0)

T oze+u4 [ 25
4204+ 0.0
-36.94 + 0.00

TVC(chh) (1,14,1)

4000 e po

pl

AT 1 nuiLsbze+ud [ 25
4198+ 0.0
-36.28 + 0.00

3000

2000

1000

TP delay [ns]

TVC(c,b ch) (1, 14 4

TP delay [ns]

TVC(c,b Ch) (1, 14 5

4000 k5,

S rnun L lre+u4 [ 25
= po 4181+ 0.0
pl -36+ 0.0

4000
3000 [ ]
2000 = 7
1000 C ]
0 = 00 -
TP delay [ns]
TVC(c,b, ch) (1, 14 8)
Tanu1z/e+u4 /25
4000 o, pO 4176+ 0.0
-33.35+ 0.00
3000 - 7
2000 = 71
wor C =29.99 [ps/ch]™, 7]
1 1 -
0 50 100

4000

3000

2000

1000

TP delay [ns]

TVC(c,b ch) (1, 14 12

E pO

p1

T gs1e+u4 / 25
4265+ 0.0
-37.08 + 0.00

TP delay [ns]

- i 3rze+04 [ 25
e pO 4194+ 0.0
pL -37.31% 0.00

3000 -

2000

1000 C = 26.81 [pS/C

TP delay [ns]

TVCEebeh)=( 1, 14,9

4000 pO

T inusylie+ud / 25
4203+ 0.0
-35.23 + 0.00

pl

3000

2000

1000

TP delay [ns]

TVC(c,b ch) (1, 14 13

4000 -, PO

~ 1 nuiLqoze+ud [ 25
4258+ 0.0
-37.58 + 0.00

3000

2000

1000

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000 [,
3000
2000

1000

4000

3000

2000

TVC(CbCh) (1,14,2)

- PO

X~ 1L 35/e+04 [ 25
4217+ 0.0
p1 -36.87 £ 0.00

TVC(Cbch) (1,14,3)

AT 1nuiLgz1e+04 /25
4234+ 0.0
p1 -37.24+ 0.00

4000 [u.

po

3000

2000

1000

1
100

TP delay [ns]

TVC(c,b ch) (1, 14 6

TP delay [ns]

TVC(c,b Ch) (1, 14 7

4000 [,

1000

_ “rnuiLzble+u4 / 25
e pO 4178+ 0.0
[ p1 -36.69 + 0.00

TP delay

TVC(Ee b eh)=( 1, 14,10

pO
pl

[ns]

- 1 nuiL yaye+u4 [ 25
4227+ 0.0
-34.99 + 0.00

TP delay

TVC(c,b Ch) (1, 14 14

- PD

[ns]

T nuiLa45e+04 / 25
4265+ 0.0
pl -37.18+ 0.00

TP delay

[ns]

= pO

< naial1e+u4 / 25
4203+ 0.0
p1 -36.37 + 0.00

3000

2000 -

1000 C

50 160
TP delay

TVC(eheh)=(1, 14, 11

4000 pO

pl

[ns]

<1 nuiLasae+u4 /25
4217+ 0.0
-34.42+ 0.00

3000 -

2000 =

lo00r C = 29.05 [ps/ch]

1
50 00

TP delay

TVC(c,b ch) (1, 14 15

4000 [, PO

[ns]

Tinuiay/e+ud /25
4259+ 0.0
p1 -36.76 + 0.00

3000

2000

1000

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (1, 15 0)

T rnuiLooze+u4 [ 25
pO 4209+ 0.0
pl -38.15+ 0.00

L=
50 100

TP delay [ns]

TVC(cbch) (1,154

- i bz3e+04 [ 25
- pO 4229+ 0.0
p1 -36.64 + 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (1, 15 8

T L/ r4e+04 [ 25
- po 4229+ 0.0
-35.4 + 0.0

1
50 100

TP delay [ns]

TVC(cbch) (1,15,12

T L r4e+04 /25
= po 4236+ 0.0
pl -35.55+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(chh) (1,15,1)

. PO

K™ rnuaiLgyie+ud [ 25
4212+ 0.0
-37.45+ 0.00

pl

TP delay [ns]

TVC(cbch) (1,155

- pO

=11 bube+u4 / 25
4232+ 0.0
-36.37 + 0.00

TP delay [ns]

TVC(c, bch) (1, 15 9

= po

pl

~ 1 nug syze+ud / 25
4263+ 0.0
-36.52 + 0.00

TP delay [ns]

TVC(cbch) (115,13

Tinuins/e+ud [ 25
4233+ 0.0
-35.59+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(CbCh) (1,15,2)

L=
50 100

TP delay [ns]

TVC(cbch) (1,156

A7 1 nui osoe+u4 / 25
_l' - po 4233+ 0.0
o pl -38.37+ 0.00

3000

- 1 nurL408e+04 / 25
- pO 4234+ 0.0
[ pl -35.46 + 0.00

TP delay [ns]

TVC(cbch) (1, 15 10

1000

0

Tz zsve+ud | 25
- DO 4276+ 0.0
- pl -37.3+ 0.0

TP delay [ns]

TVC(cbch) (115,14

T a4l re+u4 /25
- pD 4240+ 0.0
L pl -34.92+ 0.00

TP delay [ns]

TVC(Cbch) (1,15,3)

AT rnuiLoyle+ud [ 25
4222+ 0.0
pl -36.98+ 0.00

4000 [Su.

po

3000

2000

1000

TP delay

TVC(c, bch) (1,157

4000 fam pO

[ns]

- nui baze+u4d / 25
4235+ 0.0
pl -35.45+ 0.00

3000

2000 -

woor C =28.21 [ps/ch

TP delay

TVC(ehch)=(1, 15, 11

4000 pO

pl

[ns]

Tinair4/e+04 /25
4294+ 0.0
-36.48 + 0.00

3000

2000

1000

TP delay

TVC(cbch) (1,15,15

4000 [Gu.

[ns]

T inuiapze+ud [ 25
4239+ 0.0
p1 -35.38+ 0.00

3000

2000

1000

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,0,0)

X~ 1 i 5ube+U4 [ 25
Y 4210+ 0.0
pl -37.74+ 0.00

TP delay [ns]

TVC(cbch) (2,0,4

T y.4ne+04 /25
e pO 4196+ 0.0
pl -34.86 + 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (2 0,8

T L, r38e+04 / 25
- PD 4191+ 0.0
pl -35.14 + 0.00

TP delay [ns]

TVC(cbch) (2,0,12

T i pgze+u4 [ 25
F= PO 4209+ 0.0
pl -34.49 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(cbch) (2,01

AT 1 nuiLoB3e+U4 [ 25
[P, LY 4225+ 0.0
pl -37.58 + 0.00

TP delay [ns]

TVC(c,b ch) (2 0,5

S nun1.14e+05 /25
Faem, pO 4199+ 0.0
-34.59+ 0.00

[ C =28.91 [ps/ch]

50 1(;0
TP delay [ns]

TVC(c,b ch) (2 0,9

Tinun4.52e+04 1 25
= DO 4203+ 0.0
pl -35.97 + 0.00

TP delay [ns]

TVC(cbch) (2,0,13

T roge+u4 [ 25
PO 4225+ 0.0
pl -35.78 + 0.00

TP delay [ns]

4000
3000
2000

1000

4000

2000

1000

4000

2000

1000

4000
3000
2000

1000

TVC(cbch) (2,0,2)

X~ 1 rs3e+U4 /25
po 4218+ 0.0
pl -36.64 + 0.00

TP delay [ns]

TVC(cbch) (2,0,6

-1y, 3ze+u4 [ 25
= pO 4216+ 0.0
3 Pl -3549+ 0.00

3000

TP delay [ns]

TVC(cbch) (2, 0 10

0

1 nuz.4n8e+04 | 25
- DO 4230+ 0.0
r pl -36.48 + 0.00

3000

TP delay [ns]

TVC(cbch) (2,0,14

T, rz4e+04 [ 25
4222+ 0.0
-35.21+ 0.00

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,0,3)

130e+U4 [ 25
4211+ 0.0
-36.41+ 0.00

X 1L,
po
p1

TP delay [ns]

TVC(c,b ch) (2 0,7

= po
pl

=1 i Ugbe+Us / 25
4217+ 0.0
-34.79 + 0.00

TP delay [ns]

TVC(c,b ch) (2,0,1

X~ g,

/zye+u4 125
4239+ 0.0
-36.25+ 0.00

TP delay [ns]

TVC(C, bch) (2,0,15

T nuiLyuse+ud / 25
4208+ 0.0
-34.69+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,1,0

K™ 1nuig (zae+04 /25
| po 4225+ 0.0
p1 -40.42+ 0.00

TP delay [ns]

TVC(cbch) (21,4

- i 3pze+04 / 25
Froee pO 4182+ 0.0
p1 -35.44 + 0.00

50 10‘0
TP delay [ns]

TVC(ebeh)=(2, 1,8

T rnuzb4ze+04 [ 25
- po 4220+ 0.0
pl -36.96 + 0.00

TP delay [ns]

TVC(cbch) (21,12

TrnuiLgr1e+04 /25
= po 4209+ 0.0
pl -35.08 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,1,1

AT 1z rsve+ud [ 25
Foase po 4219+ 0.0
pl -39.19+ 0.00

TP delay [ns]

TVC(c,b ch) (2 1,5

-1 nui baye+u4 [ 25
4197+ 0.0
-35.8 + 0.0

50 1(;0
TP delay [ns]

TVC(c,b ch) (2, 1

T nugp31e+u4 / 25
- pO 4247+ 0.0
pl -37.25+ 0.00

TP delay [ns]

TVC(cbch) (21,13

T nuib30e+ud / 25
4231+ 0.0
-36.61+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (2,1,2)

A~ 1nuzysie+ud /25
_l'_ po 4224+ 0.0
- pl -38+ 0.0

TP delay [ns]

TVC(cbch) (2,1,6

-1 nuiL483e+04 [ 25
Fu.. pO 4202+ 0.0
[ pl -35.91+ 0.00

TP delay [ns]

TVC(ebeh)=(2 1, 10

T nuiLb3be+u4 / 25
- po 4247+ 0.0
- pl -36.01+ 0.00

TP delay [ns]

TVC(cbch) (21,14

T 1nuiLpole+ud / 25
I pD 4225+ 0.0
[ p1 -36.36 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,1,3)

- PO

p1

AT gy rze+ud [ 25
4232+ 0.0
-38.02+ 0.00

TP delay [ns]

TVC(c,b ch) (2 1,7

pO
pl

-1 nui bgbe+u4 / 25
4201+ 0.0
-35.82+ 0.00

50 100

TP delay [ns]

TVC(c,b ch) (2,1,

X~ g,

= po

v /5e+u4 125
4251% 0.0
-36.73+ 0.00

TP delay [ns]

TVC(cbch) (21,15

e, po

p1

T nui pzze+ud [ 25
4208+ 0.0
-36.02+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,2,0)

A1,

2uye+u4 | 25
4179+ 0.0
-35.18+ 0.00

TP delay [ns]

TVC(cbch) (2,24

RRALTUR

P, PO
pL

5lYe+u4 / 25
4201+ 0.0
-37.41+ 0.00

50 100

TP delay [ns]

TVC(ebch)=(2,2,8

K rnung,

pe=e. po
p1

112e+U04 125
4194+ 0.0
-35.37 + 0.00

TP delay [ns]

TVC(cbch) (2,212

1L 5Epe+U4 / 25
4240+ 0.0
-37.22+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,2,1)

PSR

=, po

pl

$v3e+ud [ 25
4192+ 0.0
-36.37 + 0.00

TP delay [ns]

TVC(c,b ch) (2 2,5

=1 nui 3bbe+u4 / 25
4186+ 0.0
-36.32+ 0.00

TP delay [ns]

TVC(c,b ch) (2, 2

~ 1 nug.zbae+ud / 25
4238+ 0.0
-35.66 + 0.00

TP delay [ns]

TVC(cbch) (2,2,13

FSRALTES

e, po
p1

bae+ud | 25
4225+ 0.0
-36.36 + 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (2,2,2)

= po

AT 1 nui4sse+04 /25
4196+ 0.0
pl -36.85+ 0.00

TP delay

TVC(cbch) (2,2,6

pO
p1

[ns]

- 1 i boge+ud [ 25
4201+ 0.0
-37.17 + 0.00

TP delay

TVC(ebeh)=(2,2, 10

= 90

[ns]

©1nuizusse+ud | 25
4231+ 0.0
pl -36.17 + 0.00

TP delay

TVC(cbch) (2,214

[ns]

T rnuiLbo/e+u4 /25
4231+ 0.0
pl -37.08 + 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,2,3)

3ve+u4 /25
4209+ 0.0
-37.73+ 0.00

PSR

e po
pL

TP delay [ns]

TVC(c,b ch) (2 2,7

pO
pl

- rnuiUr1e+u4 / 25
4204+ 0.0
-37.06 + 0.00

50 100

TP delay [ns]

TVC(c,b ch) (2,2,

X~ g,

= po

pl

/U4e+u4 125
4223+ 0.0
-35.52+ 0.00

TP delay [ns]

TVC(C, bch) (2,215

T nui p3ae+u4 [ 25
4225+ 0.0
-35.84+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (2,3,0)

A1,

' po
pl

240e+04 | 25
4210+ 0.0
-36.8+ 0.0

TP delay [ns]

TVC(cbch) (23,4

- rnuiL41ze+04 / 25
4212+ 0.0
-36.7+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (2 3,8

-1 nu z83e+04 [ 25
4229+ 0.0
-37.13+ 0.00

TP delay [ns]

TVC(Cbch) (2, 3 12

b, po
p1

“inu151e+u4 /25
4232+ 0.0
-34.93+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,3,1)

e, po

AT 1 nuiL3ube+u4 [ 25
4218+ 0.0
-36.61+ 0.00

pl

TP delay [ns]

TVC(c,b ch) (2 3,5

=11 4u4e+04 / 25
4200+ 0.0
-35.76 + 0.00

TP delay [ns]

TVC(c,b ch) (2 3,9

B pO

pl

T nug1se+ud [ 25
4261+ 0.0
-37.71+ 0.00

TP delay [ns]

TVC(c,b Ch) (2, 3 13

1

pO
p1

945/ 25
4230+ 0.0
-34.91+ 0.00

il
100

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

1000

TVC(cbch) (2,3,2)

= PO

pl

X~ 1w so4e+04 [ 25
4213+ 0.0
-36.32+ 0.00

TP delay [ns]

TVC(cbch) (23,6

= P°

pl

-1 i 3b4e+04 / 25
4221+ 0.0
-36.04 + 0.00

TP delay [ns]

TVC(eb.oh)=(2, 3, 10

- b

-1 U pgze+u4 [ 25
4272+ 0.0
-36.34 + 0.00

pl

TP delay [ns]

TVC(cbch) (2,3 14

~ i so4e+u4 / 25
4229+ 0.0
pl -34.85+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,3,3)

Sove+u4 [ 25
4211+ 0.0
-36.02+ 0.00

A~

po
pL

TP delay [ns]

TVC(c,b ch) (2 3,7

e pO
pl

-1 nui 4bbe+04 / 25
4201+ 0.0
-35.22+ 0.00

TP delay [ns]

TVC(c,b ch) (2, 3

= pO

AN u/ze+u4/25
4262+ 0.0
-36.01+ 0.00

pl

TP delay [ns]

TVC(c,b ch) (2, 3 15

- i slbe+ud [ 25
4231 0.0
-36.12+ 0.00

TP delay [ns]



TVC(CbCh) (2,4,0) TVC(CbCh) (2,4,1) TVC(CbCh) (2,4,2) TVC(CbCh) (2,4,3)
K1 dzzer0a] 25 X 1L doze+Ud ] 25 K- 1L dz0e+04 ] 25 A 1L doe+ud | 25
4000 fme, po 4208+ 0.0 4000 [, po 4193+ 0.0 4000 e, po 4201% 0.0 4000 fe, po 4223+ 0.0
pL -35.11+ 0.00 Pl -34.640.00 [ Pl -3546% 0.00 Pl -36.49 0.00

- 3000

3000 N

1 3000 =1 3000

2000 — 2000 - 2000 ] 2000

1000 E 1000 1000 - 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (24,4 TVC(cbch) (2,4,5 TVC(cbch) (24,6 TVC(c, bch) (2,47

-1 398e+u4 / 25 -1 gbbe+ud [ 25 ~ i, 754e+04 [ 25 -1 nur bgse+u4 / 25
4000 pO 4212+ 0.0 4000 e, pO 4222+ 0.0 4000 e, pO 4232+ 0.0 4000 e, pO 4230+ 0.0
pl -35.98 + 0.00 pL -36.03 + 0.00 3 pl -36.96+ 0.00 pL -36.46 + 0.00

3000~ 1 3000 - 3000 [~ B 3000 1

2000 - — 2000 - 2000~ - 2000 4

10001~ C E 1000 - 1000 r C =27.06 [pS/Ch ] 1000 C -

» [ ]
- '_- --
1 ' o 1 0 1 [
50 100 50 100 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (2,4,8 TVC(cbch) (2,4,9 TVC(cbch) (2,4,10 TVC(c, bch) (2,4,

T nuiLgze+u4 [ 25 T g 332e+04 1 25 © 1 nuz.4p8e+04 / 25 T, 14be+u4/25
4000 pO 4248+ 0.0 4000 pO 4263+ 00 4000 [, DO 4279+ 00 4000, p0 4284+ 0.0
Pl -38.48% 0.00 Pl -37.53% 0.00 [ PL_ -37.39+ 0.00 Pl -37.73% 0.00

-1 3000

3000 1 3000 -1 3000

2000 -1 2000 -1 2000 -1 2000

1000 -1 1000 -1 1000 - 1000

. - [
-
% 50 00 0 0

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch)(24l ) TVC(cbch)(2413) TVC(cbch)(24l ) TVC(cbch)(2415)
T i 5zoe+u4 / 25 Tinan 1 o3e+ud [ 25 T bzse+u4 [ 25 71 nuiL buse+ud / 25
4000 [m, pO 4248+ 0.0 4000 pO 4232+ 0.0 4000 PD 4236+ 0.0 4000 o, pO 4240+ 0.0
-34.74 + 0.00 pl -35.19.+ 0.00 I pl -35.26 + 0.00 pl -35.19 + 0.00

3000~

-1 3000 - 3000 - 3000 .

2000~ - 2000 - 2000 - 2000

- 1000 [~ -1 1000 -1 1000

1000~ C = 28.78 [pS/Ch]

PR B SRS |
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]




4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,5,0

A7 1 nui zove+ud / 25
.. po 4217+ 0.0
pl -35.97 + 0.00

TP delay [ns]

TVC(cbch) (2,54

- 1 nuiL4pye+u4 / 25
- pO 4191% 0.0
pl -36.53+ 0.00

TP delay [ns]

TVC(cbch) (2 5,8

T loze+u4 | 25
= po 4217+ 0.0
pl -34.63 + 0.00

TP delay [ns]

TVC(cbch) (2,5,12

x-rma az9725
= po 4235+ 0.0
pl -34.98+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,51

AT 1L zeoe+ud [ 25
= po 4212+ 0.0
pl -35.51+ 0.00

TP delay [ns]

TVC(c,b ch) (2 55

~ 1 nui 349e+04 / 25
- pO 4202+ 0.0
pL -37.14+ 0.00

TP delay [ns]

TVC(c,b ch) (2 59

T nugn1ye+ud / 25
==, 4242+ 0.0
-34.63 + 0.00

I C =28.88 [ps/ch] ]

1
50 100

TP delay [ns]

TVC(cbch) (2,5,13

T inai zose+ud [ 25
F= 4243+ 0.0
-34.14+ 0.00

[ C =29.29 [ps/ch] ]

PR U S S |
50 100

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (2,5,2)

A7 1nuns14e+04 /25
_- po 4224+ 0.0
o pl -36.72+ 0.00

3000

TP delay [ns]

TVC(cbch) (2,56

-1 nuiL438e+04 [ 25
- pO 4205+ 0.0
3 pl -36.13+ 0.00

TP delay [ns]

TVC(cbch) (2, 5 10

Tz z4ze+04 | 25
- po 4254+ 0.0
L pl -35.12+ 0.00

TP delay [ns]

TVC(cbch) (2,514

T nuiL43pe+u4 / 25
- pD 4250+ 0.0
L pl -35.07 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,5,3

x- 1 i Suae+Ud | 25
= po 4224+ 0.0
pL -36.9+ 0.0

TP delay [ns]

TVC(c,b ch) (2 57

“nui 4 e+04 /25
4213+ 0.0
-36.3+ 0.0

50 1(;0
TP delay [ns]

TVC(c,b ch) (2, 5

Ty aue+u4/25
= 4259+ 0.0
-34.59 + 0.00

[ C =28.91 [ps/ch] ]

1
50 100

TP delay [ns]

TVC(C, bch) (2,5,15

T nui sbve+ud / 25
= po 4236+ 0.0
p1 -34.82 + 0.00

TP delay [ns]



TVC(cbch) (2,6,0

4000

3000

2000

1000

K71 nuia40e+04 / 25
- po 4201+ 0.0
pl -35.39 0.00

TP delay [ns]

TVC(cbch) (26,4

4000

3000

2000

1000

-1 4age+04 | 25
o, pO 4263+ 0.0
pl -36.18:+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (2 6, 8

4000

3000

2000

1000

T L, ry4e+04 | 25
po 4249+ 0.0
p1 -34.82 + 0.00

C =28.72 [ps/ch] ]

0

1
50 100

TP delay [ns]

TVC(cbch) (2,6,12

4000

3000

2000

1000

- yys4 /25
pO 4230+ 0.0
pl -32.97 + 0.00

C =30.33 [ps/ch] ™_ 1]

PR B SRS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,6,1

AT rmuLuize+ud [ 25
Fraee po 4209+ 0.0
pl -35.63+ 0.00

TP delay [ns]

TVC(c,b ch) (2 6,5

- nui 1z8e+04 / 25
[P, DO 4266+ 0.0
-34.95+ 0.00

[ C =28.61[ps/ch]

50 1(;0
TP delay [ns]

TVC(c,b ch) (2 6,9

T nuig zsye+ud / 25
- po 4268+ 0.0
pl -35.79 + 0.00

TP delay [ns]

TVC(cbch) (2,6,13

T naiLyuse+ud / 25
4233+ 0.0
-34.71+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(cbch) (2,6,2)

K™ 1 nuiLsore+ud /25
_l_ po 4218+ 0.0
- pl -36.19+ 0.00

3000

TP delay [ns]

TVC(cbch) (26,6

- C = 28.18 [ps/ch

50 10‘0
TP delay [ns]

TVC(cbch) (2, 6 10

1000

T z2.34e+04 /25
- po 4294+ 0.0
[ pl -36.57  0.00

- 1nuiL410e+04 / 25
[, po 4260+ 0.0
[ pl -35.48+ 0.00

TP delay [ns]

TVC(cbch) (2,614

~rnuiLuzse+u4 | 25
__ pD 4236+ 0.0
L pl -35.34+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,6,3

AT 1L boye+ud [ 25
P ocee po 4223+ 0.0
pl -35.7+ 0.0

TP delay [ns]

TVC(c,b ch) (2 6,7

- nun Zz1e+04 / 25
pO 4264+ 0.0
p1 -34.89+ 0.00

[ C =28.66 [ps/ch] ]

L
50 100
TP delay [ns]

TVC(c,b ch) (2, 6

T ‘Jbée+l}4/25
- po 4293+ 0.0
pl -35.93+ 0.00

TP delay [ns]

TVC(C, bch) (2,6,15

Tonan g 14e+04 /25
= pO 4246+ 0.0
p1 -34.92 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,7,0

A7 1 nun zose+ud / 25
P, po 4202+ 0.0
pl -36.29 + 0.00

TP delay [ns]

TVC(cbch) (27,4

- rnuiLzy4e+04 [ 25
- pO 4190+ 0.0
p1 -34.95+ 0.00

50 10‘0
TP delay [ns]

TVC(ebeh)=(2,7,8

T z.30e+04 /25
- pO 4214+ 0.0
pl -35.46 + 0.00

TP delay [ns]

TVC(cbch) (2,7,12

T L bzse+u4 | 25
- po 4224+ 0.0
pl -36.67 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,7,1)

T Lzse+ud [ 25
pO 4210+ 0.0
pl -36.76 + 0.00

TP delay [ns]

TVC(c,b ch) (2 7,5

“nui 2y re+u4 [ 25
pO 4192+ 0.0
pL -34.98+ 0.00

TP delay [ns]

TVC(c,b ch) (2, 7

S HU|44U4&+U4/25
po 4226+ 0.0
p1 -34.85+ 0.00

TP delay [ns]

TVC(cbch) (2,7,13

<1 nuiLagve+ud 25
pO 4215+ 0.0
p1 -35.7+ 0.0

TP delay [ns]

4000

2000

4000
3000
2000

1000

4000
3000
2000

1000

4000
3000
2000

1000

1000

TVC(cbch) (2,7,2)

TrnunLs1e+u4 /25
F=, po 4222+ 0.0
o pl -37.83+ 0.00

3000

TP delay [ns]

TVC(cbch) (2,7,6

T L4 /ze+04 [ 25
pO 4220+ 0.0
pl -35.52+ 0.00

TP delay [ns]

TVC(ebeh)=(2, 7, 10

- rnuizgiie+ud | 25
4227+ 0.0
-35.5+ 0.0

TP delay [ns]

TVC(cbch) (27,14

~ i sy4e+04 [ 25
4222+ 0.0
-36.11 + 0.00

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,7,3

A1 L 4ase+Ud ] 25
pe=. po 4225+ 0.0
pL -36.66+ 0.00

TP delay [ns]

TVC(c,b ch) (2 7,7

- nun b13e+u4 / 25
- pO 4216+ 0.0
p1 -35.43+ 0.00

TP delay [ns]

TVC(c,b ch) (2, 7

AN ume+u4/25
e pO 4245+ 0.0
pl -35.56 + 0.00

TP delay [ns]

TVC(C, bch) (2,7,15

-1 nuiL byoe+ud / 25
- pO 4231+ 0.0
p1 -36.52+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,8,0)

A7 1 nui zuse+u4 / 25
po 4218+ 0.0
p1 -35.4+ 0.0

TP delay [ns]

TVC(cbch) (28,4

- i 135e+04 / 25
pO 4232+ 0.0
p1 -34.79:+ 0.00

TP delay [ns]

TVC(cbch) (2 8,8

T nu 3o3e+u4 / 25
PD 4235+ 0.0
pl -36.27 + 0.00

TP delay [ns]

TVC(cbch) (2,812

T i sspe+u4 / 25
pO 4269+ 0.0
pl -36.24 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,81

AT 1 nunLzuoe+ud [ 25
o, po 4234+ 0.0
p1 -36.1+ 0.0

TP delay [ns]

TVC(c,b ch) (2 8,5

[ C =29.43 [ps/ch] 7

-1 nui 2uze+u4 [ 25
4229+ 0.0
-33.97 + 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (2 8,9

~nai b18e+ud [/ 25
4241% 0.0
-35.5 % 0.0

1
50 100

TP delay [ns]

TVC(cbch) (2,813

T inai s3ve+ud 25
pO 4250+ 0.0
p1 -36.4+ 0.0

TP delay [ns]

4000
3000
2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (2,8,2)

K™ 1 nui isye+ud / 25
po 4238+ 0.0
pl -35.42+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (28,6

- C = 29.06 [ps/ch]

50 10‘0
TP delay [ns]

TVC(cbch) (2, 8 10

T nuz153e+04 / 25
-, po 4258+ 0.0
- pl -35.04 + 0.00

T 3/3e+04 [ 25
- pO 4247+ 0.0
[ -34.41% 0.00

TP delay [ns]

TVC(cbch) (2,8 14

T i s4e+04 / 25
__ pD 4268+ 0.0
L pl -36.29+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,83

T Le+ud /25
o pO 4227+ 0.0
pl -33.93+ 0.00

[ C =29.47 [ps/ch] ]

1 1
50 100

TP delay [ns]

TVC(c,b ch) (2 8,7

T rnuan 155e+04 [ 25
- pO 4261+ 0.0
pL -35.66+ 0.00

TP delay [ns]

TVC(c,b ch) (2, 8

T, /bHe+U4/25
po 4280+ 0.0
pl -35.84+ 0.00

TP delay [ns]

TVC(C, bch) (2,815

T inuigiae+u4 /25
= po 4276+ 0.0
p1 -37.59.+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,9,0

A7 1 nui zuye+ud [ 25
= po 4159+ 0.0
pl -35.32 0.00

TP delay [ns]

TVC(cbch) (29,4

T4 r1e+04 /25
- pO 4205+ 0.0
pl -37.52:+ 0.00

50 100
TP delay [ns]

TVC(cbch) (2 9,8

T rnu51e+u4 [ 25
= po 4208+ 0.0
pl -35.67 + 0.00

TP delay [ns]

TVC(cbch) (2,9,12

T L rse+u4 [ 25
- po 4205+ 0.0
pl -36.67 + 0.00

-
R

50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,91

x- 1L dLserud | 25
P, po 4174+ 0.0
pL -37.37+ 0.00

TP delay [ns]

TVC(c,b ch) (2 9,5

-1 nuiLbuse+u4d / 25
pO 4210 0.0
pL -38.17 0.00

50 1(;0 =
TP delay [ns]

TVC(c,b ch) (2 9,9

T nun.1/ze+u4 [ 25
po 4221+ 0.0
pl -35.41+ 0.00

TP delay [ns]

TVC(cbch) (2,9,13

T inai z4ae+04 [ 25
pO 4200+ 0.0
pl -36.16 + 0.00

TP delay [ns]

4000

2000

1000

4000
3000
2000

1000

4000

2000

4000

2000

1000

TVC(cbch) (2,9,2)

K™ 1 nui14ve+04 /25
- po 4181+ 0.0
L pl -35.18 + 0.00

3000

TP delay [ns]

TVC(cbch) (29,6

- rnuib41e+04 / 25
4204+ 0.0
-36.2+ 0.0

TP delay [ns]

TVC(cbch) (2, 9 10

1000

T nu333e+04 / 25
- po 4242+ 0.0
I pl -35.42+ 0.00

3000

TP delay [ns]

TVC(cbch) (2,914

T rnuiLgzze+04 [ 25
= pD 4210+ 0.0
F pl -37.13+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,9,3

AT 1 nuiLzoze+ud [ 25
pese po 4164+ 0.0
pl -34.97 + 0.00

TP delay [ns]

TVC(c,b ch) (2 9,7

Crnan 1.81e+04 [ 25
pO 4233+ 0.0
p1 -38.14 + 0.00

1=
50 100

TP delay [ns]

TVC(c,b ch) (2, 9

T aa=e+u4/25
4238+ 0.0
-36+ 0.0

1
50 100

TP delay [ns]

TVC(C, bch) (2,9,15

T nui sose+ud / 25
= pO 4205+ 0.0
p1 -36.37+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (2, 10 0)

T zsoe+ud | 25
4169+ 0.0
p1 -36.02+ 0.00

TP delay

TVC(Cbch) (2, 10 4

[ns]

T Lz /ye+u4 | 25
4199+ 0.0
-35.22+ 0.00

- pO
pl
- C =
1 1 -
50 100
TP delay [ns]
TVC(c,b, ch) (2, 10 8)
T rnuz 1r5e+u4 [ 25
= po 4222+ 0.0
pl -36.36 + 0.00

TP delay

TVC(Cbch) (2, 10 12

E pO

[ns]

Tinu 1 oe+ud /25
4242+ 0.0
pl -35.67 + 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (2,10,1)

- po

x- 1 i zbae+Ud | 25
4170+ 0.0
-34.82:+ 0.00

pl

TP delay [ns]

TVC(c,b Ch) (2, 10 5

~ 1 nuiL344e+04 | 25
4199+ 0.0
-34.52 + 0.00

TP delay [ns]

TVC(Ebeh)=(2, 10,9

foee pO

T nu 345e+04 [ 25
4246+ 0.0
-35.69 + 0.00

TP delay [ns]

TVC(c,b ch) (2, 10 13

e, pO
p1

Tinaiarze+ud [ 25
4237+ 0.0
-36.45+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

1000

TVC(CbCh) (2,10,2)

F=. po

A1 go3e+04 [ 25
4195+ 0.0
p1 -36.87 + 0.00

TP delay

TVC(Cbch) (2, 10 6

= o

[ns]

-1 nuiL493e+04 / 25
4232+ 0.0
pl -36.05+ 0.00

TP delay

TVC(cbch) (2,10, 10

= o

[ns]

©1nuiz.43pe+u4 / 25
4277+ 0.0
pl -36.65+ 0.00

TP delay

TVC(c,b Ch) (2, 10 14

= P"

[ns]

T rnuiLb41e+04 /25
4238+ 0.0
pl -35.73+ 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (2, 10 3)

i

e, pO

B 247125
4197+ 0.1
pL -36.19+ 0.00

TP delay

TVC(c,b Ch) (2, 10 7

E. pO

[ns]

=1 nui bobe+u4d [ 25
4229+ 0.0
p1 -35.91% 0.00

50 160
TP delay

TVC(eh.ch)=(2, 10, 11

= pO

[ns]

Tonanz2.15e+04 /25
4282+ 0.0
p1 -37.56 + 0.00

TP delay

TVC(cbch) (2, 10 15

[ns]

-1 nuiquye+ud / 25
4233+ 0.0
-34.63+ 0.00

[ C =28.88 [ps/ch]

PR R SR |
50 100

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (2,11,0)

A~ 1 nui 149e+04 | 25
4179+ 0.0
p1 -35.64 + 0.00

TP delay

TVC(cbch) (2, 11 4

[ns]

- i 318e+04 / 25
4190+ 0.0
-34.84 + 0.00

- pO
pl
- C =
1 1 -
50 100
TP delay [ns]
TVC(c,b, ch) (2, 11 8)
-1 nuz 149e+04 / 25
= po 4215+ 0.0
pl -36.71+ 0.00

TP delay

TVC(c,b Ch) (2,11,12

[ns]

A~ 1 nui byde+ud [ 25
= po 4236+ 0.0
pl -35.52+ 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (2,11,1)

[ po

A1 L aude+U4 | 25
4194+ 0.0
pL -36.22:+ 0.00

TP delay

TVC(c,b Ch) (2, 11 5

pO
pl

[ns]

-1 nui418e+04 / 25
4197+ 0.0
-35.74 % 0.00

50 150
TP delay

TVC(eh.eh)=(2, 11, 9

= pO

[ns]

T nug.u4/e+ud [ 25
4234+ 0.0
p1 -36.04 £ 0.00

TP delay

TVC(c,b ch) (2, 11 13

= pO

[ns]

Tinais4/e+u4 /25
4235+ 0.0
pl -35.36 + 0.00

TP delay

[ns]

4000

3000

2000

4000

3000

2000

1000

4000 [,
3000
2000

1000

4000

3000

2000

1000

TVC(CbCh) (2, 11 2)

- P°

- szse+04 [ 25
4203+ 0.0
p1 -36.36+ 0.00

TP delay

TVC(chh) (2, 11 6

pO
p1

[ns]

T 1nuiL447e+04 | 25
4206+ 0.0
-35.92 + 0.00

TP delay

TVC(cbch) (2,11, 10

[ns]

X~ 1z 141e+04 /25
po 4245+ 0.0
p1 -35+ 0.0

TP delay

TVC(c,b Ch) (2, 11 14

1000

= "

[ns]

)

S rnun L sve+ud [ 25
4245+ 0.0
pl -36.28+ 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (2,11,3)

e po

A~ 1 nuiLsy1e+ud [ 25
4204+ 0.0
pL -35.94 + 0.00

TP delay

TVC(CbCh) (2, 11 7

E. pO

[ns]

=1 nui 4pbe+04 / 25
4216+ 0.0
p1 -35.85+ 0.00

50 160
TP delay

TVC(Ebeh=(2, 11, 11

[ns]

-1 nuiL p4oe+u4 / 25
4231+ 0.0
-35.2+ 0.0

TP delay

TVC(c,b Ch) (2, 11 15

e pO

[ns]

S So/e+ud [ 25
4238+ 0.0
-35.81+ 0.00

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (2, 12 0)

T s3se+ud [ 25
e, pO 4199+ 0.0
p1 -37.26 + 0.00

TP delay [ns]

TVC(Cbch) (2, 12 4

T zs1e+ud / 25
- pO 4223+ 0.0
363+ 0.0

50 10'0
TP delay [ns]

TVC(cbch) (2,128

- /L g95e+U4 25
- pD 4205+ 0.0
p1 -34.87 + 0.00

TP delay [ns]

TVC(Cbch) (2, 12 12

T rnuiLg43e+04 / 25
= po 4249+ 0.0
pl -36.19+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (2,12,1)

F. po

p1

A7 L41e+ud ] 25
4210+ 0.0
-38.23+ 0.00

TP delay [ns]

TVC(c,b Ch) (2, 12 5

F- pO

- 1nui441e+04 / 25
4233+ 0.0
-36.7 £ 0.0

TP delay [ns]

TVCEDeN)=(2, 12,9

e pO

pl

T inan4.29e+04 1 25
4232+ 0.0
-35.79 + 0.00

TP delay [ns]

TVC(c,b ch) (2,12,13

3ze+ud | 25
4230+ 0.0
-34.89+ 0.00

PSRy

e, po
p1

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(CbCh) (2,12,2)

TP delay [ns]

TVC(Cbch) (2, 12 6

A1 z8Be+04 [ 25
_- po 4221+ 0.0
L pl -37.46 + 0.00

3000

“ 40 /e+u4 / 25
pe, pO 4239+ 0.0
[ pl -36.66 + 0.00

TP delay [ns]

TVC(cbch) (2,12,10

- L. r6Ye+U4 | 25
-, po 4238+ 0.0
L pl -35.14+ 0.00

TP delay [ns]

TVC(c,b Ch) (2, 12 14

T rnuiLg1ze+04 /25
. pD 4246+ 0.0
L pl -35.88+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (2,12,3)

A~ 1 nuiLs0ze+ud [ 25
4220+ 0.0
pL -36.62:+ 0.00

po

TP delay

TVC(c,b Ch) (2, 12 7

- pO

[ns]

-1 38be+u4 / 25
4269+ 0.0
pl -37.64 % 0.00

50 100
TP delay

TVC(cbch) (2, 12 11

[ns]

- nui s8ze+u4 / 25
4241% 0.0
pl -35.19+ 0.00

TP delay

TVC(cbch) (2, 12 15

[ns]

- i soze+ud [ 25
4235+ 0.0
p1 -35.16 + 0.00

TP delay

[ns]



4000

3000

2000

1000

4000

3000

-
2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (2, 13 0)

T, ssve+u4 [ 25
. pO 4206+ 0.0
p1 -36.83 + 0.00

TP delay [ns]

TVC(Cbch) (2, 13 4

- rnuiLeu/e+ud / 25
- pO 4243+ 0.0
p1 4011+ 0.00

TP delay [ns]

TVC(cbch) (2, 13 8

T L4 e+u4 [ 25
= pO 4206+ 0.0
pl -36.04 + 0.00

TP delay [ns]

TVC(Cbch) (2, 13 12

- i sy7e+u4 [ 25
= po 4233+ 0.0
pl -36.74 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (2,13,1)

= po

AT 1nuiLsrse+u4 [ 25

pL -36.55+ 0.00

4224+ 0.0

TP delay [ns]

TVC(c,b Ch) (2, 13 5

1L ba4e+u4 [ 25

- pO 4246+ 0.0
p1 -39.58+ 0.00

TP delay [ns]

TVCEDeN)=(2 13,9

- it yOse+Ud [ 25
e, pO 4231+ 0.0
p1 -34.87 + 0.00

TP delay [ns]

TVC(c,b ch) (2, 13 13

T 1 nuiLa49e+u4 / 25
- pO 4227+ 0.0
pl -36.08 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000
=
2000

1000

4000

3000

2000

4000 [,
3000
2000

1000

TVC(CbCh) (2, 13 2)

T groe+ud [ 25
_- pO 4214+ 0.0
[ p1 -36.51 0.00

3000

TP delay [ns]

TVC(Cbch) (2, 13 6

© i b31e+u4 / 25
3 pO 4256+ 0.0
[ pl -39.69 + 0.00

TP delay [ns]

TVC(cbch) (2,13,10

1000

T 1nuiLg43e+U4 | 25
- po 4242+ 0.0
L pl -35.44 + 0.00

TP delay [ns]

TVC(c,b Ch) (2,13,14

x- 1w s1ie+ud ] 25
po 4230+ 0.0
pl -35.99+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (2,13,3)

A~ nuiLslze+ud [ 25

po 4228+ 0.0
pL -37.03 £ 0.00

TP delay [ns]

TVC(c,b Ch) (2, 13 7

-1 nui 8oe+u4 / 25

pl -39.19+ 0.00

F po 4259+ 0.0

TP delay [ns]

TVC(eheh)=(2, 13, 1

Tonan 1 ooe+u4 [ 25
e pO 4243+ 0.0
pl -36.36 + 0.00

TP delay [ns]

TVC(cbch) (2, 13 15

- gole+ud [ 25
pO 4231 0.0
p1 -35.7 £ 0.0

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (2, 14 0)

T rnuLzsze+u4 [ 25
pee.,. pO 4176+ 0.0
pl -35.7+ 0.0

TP delay [ns]

TVC(cbch) (2,144

- 1L 2z39e+04 | 25
™, pO 4185+ 0.0
pl -36.95+ 0.00

TP delay [ns]

TVC(cbch) (2, 14 8

T~ 1nuig.444e+04 / 25
= po 4229+ 0.0
pl -37.52+ 0.00

TP delay [ns]

TVC(cbch) (2,14,12

~rnuiLgooe+u4 / 25
= po 4216+ 0.0
pl -35.76 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (2,14,1)

AT 1 nunLisoe+ud [ 25
pese,, po 4180+ 0.0
pl -36.07 + 0.00

TP delay [ns]

TVC(c, bch) (2,145

Cnuiz/ze+04 [ 25
e pO 4214+ 0.0
pL -37.38 0.00

TP delay [ns]

TVC(c, bch) (2,14,9

T nun.uzse+ud [ 25
e pO 4254+ 0.0
p1 -37.43+ 0.00

TP delay [ns]

TVC(cbch) (214,13

T nuiosse+ud [ 25
- pO 4216+ 0.0
pl -37.15+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

2000

1000

TVC(CbCh) (2,14,2)

K™ 1 nuiiyye+u4 /25
o=, po 4179+ 0.0
- pl -35.85+ 0.00

TP delay [ns]

TVC(cbch) (2.14,6

- 1nun 318e+04 / 25
- pO 4219+ 0.0
[ pl -36.62+ 0.00

TP delay [ns]

TVC(e b eh)=(2, 14,10

1000

0

© 1L yzde+u4 | 25
=, po 4263+ 0.0
- pl -37.32+ 0.00

TP delay [ns]

TVC(cbch) (214,14

~ 1L be5e+U4 / 25
= pD 4214+ 0.0
F -36.3+ 0.0

3000

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (2,14,3)

AT rnuaiLuyze+ud [ 25
peme, po 4184+ 0.0
p1 -34.81+ 0.00

TP delay [ns]

TVC(c, bch) (2,14,7

- 1nui43/e+04 / 25
- pO 4215+ 0.0
pL -36.17+ 0.00

TP delay [ns]

TVC(cbch) (2, 14 11

T nui rgoe+u4 / 25
- po 4267+ 0.0
pl -37.65+ 0.00

TP delay [ns]

TVC(cbch) (2,14,15

T nai s49e+04 / 25
- pO 4214+ 0.0
p1 -35.95+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (2,15,0)

TanuaiLzsze+ud [ 25
™, PO 4177+ 0.0
pl -35.74 + 0.00

TP delay [ns]

TVC(cbch) (2,154

-1 nuiL403e+04 / 25
- pO 4192+ 0.0
pl -35.75+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (2, 15 8

1 nuiLyyoe+u4 / 25
- PD 4214+ 0.0
pl -36.78 + 0.00

TP delay [ns]

TVC(cbch) (2,15,12

~1nuiLsyye+ud / 25
- PO 4221+ 0.0
pl -35.36 + 0.00

TVC(cbch) (2,15,1)

3000

2000

1000

AT 1 nuiLzive+ud [ 25
4000 [, po 4188+ 0.0
pL -35.62.+ 0.00

TP delay [ns]

TVC(cbch) (2,155

4000 o

3000 -

2000

1000 [~

S nun1.Zbe+ud [ 25
DU 4189+ 0.0
pL -34.75+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (2,159

4000 e

3000

2000

1000

. HUI445/3+U4/25
DO 4240+ 0.0
pl -36.17 + 0.00

TP delay [ns]

TVC(cbch) (215,13

4000 e

3000

2000

1000 [~

Tz re+u4 25
PO 4210% 0.0
pl -34.95 + 0.00

TP delay

[ns]

il
100

TP delay [ns]

4000

2000

1000

4000

3000

2000

4000

3000

2000

4000

2000

1000

TVC(cbch) (2,15,2)

X~ 1w 1ose+U4 /25
™, po 4193+ 0.0
I pl -35.66 + 0.00

3000

TP delay [ns]

TVC(cbch) (2,156

1000

=1 buze+u4 [ 25
- PO 4202+ 0.0
r pl -35.95 + 0.00

TP delay [ns]

TVC(cbch) (2, 15 10

1000

0

T z14e+04 /25
- DO 4270+ 0.0
I pl -37.55+ 0.00

TP delay [ns]

TVC(cbch) (2,15, 14

~ 1 nuiL4use+U4 / 25
- PD 4226+ 0.0
F pl -35.47 + 0.00

3000

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (2,15,3)

AT rnuiLzr1e+u4 /25
- Y 4199+ 0.0
p1 -35.69 + 0.00

TP delay [ns]

TVC(c, bch) (2,157

-1 nui blae+ud / 25
- PO 42141 0.0
pL -36.15+ 0.00

TP delay [ns]

TVC(ehch)=(2, 15, 11

-1 nuiL ozZoe+ud / 25
- pO 4241% 0.0
pl -35.65+ 0.00

TP delay [ns]

TVC(cbch) (2,15,15

Tinaiz41e+u4 /25
- 4213+ 0.0
-33.33+ 0.00

[ C =30.00[ps/ch] %. ]
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TP delay

[ns]



4000

3000

2000

1000

TVC(cbch) (3,0,0)

A7 1 nui osae+U4 /25
4206+ 0.0
-38.18+ 0.00

0 1 1=
50 100
TP delay [ns]
TVC(cbch)(304) -
1 194e+04 / 25
4000 &, pO 4219+ 0.0
pl -37.69+ 0.00
3000 - T
2000 7
1000 [~ 7
0
TP delay [ns]
TVC(Cbch) (3 0,8) —
T rnug.uzze+ud 5
4000, pO 41712 0.0
p1 -34.07 + 0.00
3000 - N
2000 |- N
10r C =29.35 [ps/ch],, 7
) L
0 50 100
TP delay [ns]
TVC(c,b ch) (3, O 12)
Srnun g 34e+04 /25
4000 [ po 4243+ 0.0
pl -35.75+ 0.00

3000

2000

1000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,0,1)

= po

AT rnuiLszie+u4 [ 25
4176+ 0.0
-36.7 £ 0.0

pl

TP delay [ns]

TVC(c,b ch) (3 0,5

-1 nui Bule+ud / 25
4210+ 0.0
-36.77 + 0.00

TP delay [ns]

TVC(c,b ch) (3 0,9

= po

pl

<1 nuiLguse+us / 25
4214+ 0.0
-34.79+ 0.00

TP delay [ns]

TVC(cbch) (3,0,13

e, pO
p1

T inuiL oo /e+ud [ 25
4226+ 0.0
-35.8+ 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

TVC(cbch) (3,0,2)

AT 1nuiasie+ud /25
4196+ 0.0
-37.24+ 0.00

1000

o po
L pl
TP delay [ns]
TVC(cbch) (3 0,6
= pO

p1

- 1L Bzoe+u4 [ 25
4233+ 0.0
-38.14 + 0.00

TP delay [ns]

TVC(cbch) (3, 0 10

2000 E RRALEDS 121e+04/25

peee, DO 4204+ 0.0

L pl -34.16 + 0.00
3000 -— N
2000 -— _-
oo C = 29.28 [ps/ch] ]

- --

-
1 1
0 50 100

4000

3000

2000

TP delay [ns]

TVC(cbch) (3,0,14

1000

T Lore+ud /25
- pD 4236+ 0.0
[ p1 -36.24+ 0.

-36.24 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,0,3)

PSRN

e po
pL

43e+ud | 25
4204+ 0.0
-37.22+ 0.00

TP delay [ns]

TVC(c,b ch) (3 0,7

pO
pl

=1 i Ygbe+u4 / 25
4240+ 0.0
-38.08 + 0.00

100

TP delay [ns]

TVC(c,b ch) (3, O

= pO

AN ume+u4/25
4211+ 0.0
-34.87 + 0.00

pl

TP delay [ns]

TVC(C, bch) (3,0,15

T nui n4se+ud [ 25
4220+ 0.0
-34.78 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,1,0

AT 1nuiayie+ud /25
- po 4182+ 0.0
pl -37.24+ 0.00

TP delay [ns]

TVC(cbch) (31,4

-1 nurL bsbe+ud / 25
pO 4203+ 0.0
p1 -36.14 + 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (3 1,8

T rnuz3ule+u4 / 25
4193+ 0.0
-35.5+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (31,12

i 5o0e+U4 / 25
pO 4216+ 0.0
pl -34.79+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,1,1

x- 1 i Soae+U4 | 25
o, po 4190+ 0.0
pL -37.07+ 0.00

TP delay [ns]

TVC(c,b ch) (3 1,5

-1 nui 483e+04 / 25
pO 4191% 0.0
pL -35.53+ 0.00

TP delay [ns]

TVC(c,b ch) (3 1,9

~ 1 nuw. 18be+u4 / 25
po 4199+ 0.0
pl -36.29 + 0.00

TP delay [ns]

TVC(cbch) (31,13

T inuip41e+u4 / 25
pO 4224+ 0.0
pl -36.82+ 0.00

TP delay [ns]

4000
3000
2000

1000

4000

2000

1000

4000

2000

1000

4000

2000

1000

TVC(cbch) (3,1,2)

K™ 1 nui4goe+04 / 25
po 4182+ 0.0
pl -36.31+ 0.00

TP delay [ns]

TVC(cbch) (3,1,6

T rnu1bre+ud [ 25
e pO 4209+ 0.0
[ pl -36.29+ 0.00

3000

TP delay [ns]

TVC(cbch) (3, 1 10

© 1 nuig. zove+u4 | 25
= po 4198+ 0.0
L pl -35.08 + 0.00

3000

TP delay [ns]

TVC(cbch) (31,14

1 nuiLqu4e+u4 [ 25
-, pD 4211+ 0.0
L p1 -35.77+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,1,3)

X 1L bLierud | 25
== po 4204+ 0.0
pL -36.24 + 0.00

TP delay [ns]

TVC(c,b ch) (3 1,7

-1 nui y14e+04 / 25
- pO 4221+ 0.0
pL -36.72:+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (3, l

T 991e+u4/25
= po 4215+ 0.0
pl -36.34+ 0.00

TP delay [ns]

TVC(cbch) (31,15

Tinuin3/e+ud [ 25
= pO 4221+ 0.0
p1 -35.34+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,2,0)

=, po

K™ 1 nui 4pae+04 /25
4171+ 0.0
pl -35.78+ 0.00

TP delay

TVC(cbch) (3,24

[ns]

=1, 2ase+ud /25
F.. po 4180+ 0.0
pl -35.66 + 0.00
- C N
1 L Z
50 100
TP delay [ns]
TVC(cbch) (328)
T nuiLprie+u4 / 25
- pO 4224+ 0.0
pl -35.79+ 0.00

TP delay

TVC(cbch) (3,212

[ns]

T rnuiLgs/e+u4 [ 25
4229+ 0.0
-35.6 + 0.0
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50 100

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,21)

. pO

S p41e+04 /25
4193+ 0.0
-36.86 + 0.00

p1

TP delay [ns]

TVC(c,b ch) (3 2,5

pO
pl

-1 nui433e+04 / 25
4205+ 0.0
-37.04 % 0.00

1
100

TP delay [ns]

TVC(c,b ch) (3 2,9

T nusY/oe+ud [ 25
4238+ 0.0
-36.55 + 0.00

TP delay [ns]

TVC(cbch) (3,2,13

~ 1 nuiLsupe+ud / 25
4229+ 0.0
-35.91+ 0.00

il
100

TP delay [ns]

4000

3000
2000

1000

4000
3000
2000

1000

4000

3000

2000

4000

3000
2000

1000

1000

0

TVC(cbch) (3,2,2)

™, DO

T Lose+ud /25
4198+ 0.0
-37.59+ 0.00

pl

TP delay [ns]

TVC(cbch) (32,6

=1 nurg bbbe+u4 [ 25
4204+ 0.0
-36.5+ 0.0

TP delay [ns]

TVC(cbch) (3, 2 10

- o

pl

T nub1ze+u4 [ 25
4278+ 0.0
-38.35+ 0.00

TP delay [ns]

TVC(cbch) (3,214

T rnuiLa4/e+04 /25
4222+ 0.0
pl -35.48+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b ch) (3,2,

A

po
pL

3

nuiLoyve+u4 / 25
4199+ 0.0
-37.3+ 0.0

TP delay [ns]

TVC(c,b ch) (3 2,7

-

pO
pl

nui b34e+04 / 25
4209+ 0.0
-35.89+ 0.00

1
100

TP delay [ns]

TVC(c,b ch) (3, 2

Ty u4e+u4/25
4271% 0.0
-37.4+ 0.0

1
100

50
TP delay [ns]
TVC(c,b ch) (3,2,15

X1

nui qv4e+u4 [ 25
4237+ 0.0
-35.44+ 0.00

1
100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,3,0

A7 1 nun ssoe+u4 / 25
P, po 4191+ 0.0
pl -35.86+ 0.00

TP delay [ns]

TVC(cbch) (33,4

-1 nuiLzu4e+04 / 25
= pO 4212 0.0
p1 -34.36+ 0.00

[ C=29.11 [ps/ch]

50 10‘0
TP delay [ns]

TVC(cbch) (3 3,8

T L5 ze+04 [ 25
- pO 4214+ 0.0
pl -35.37 + 0.00

TP delay [ns]

TVC(cbch) (3,312

~ 1L byse+u4 / 25
pO 4234+ 0.0
pl -36.01+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 5,

3000

2000

1000

TVC(cbch) (3,3,1

A1 3aze+Ua ] 25
Fee,, po 4200+ 0.0
pL -36.68+ 0.00

TP delay [ns]

TVC(c,b ch) (3 3,5

- 1nui41ze+04 / 25
- pO 4225 0.0
pL -35.48+ 0.00

TP delay [ns]

TVC(c,b ch) (3 3,9

T nug 1bze+ud [ 25
- pO 4224+ 0.0
p1 -34.88 £ 0.00

TP delay [ns]

TVC(cbch) (3,3,13

T 1 nuiLa4ye+ud [ 25
pO 4236+ 0.0
pl -36.13+ 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

4000

2000

1000

TVC(cbch) (3,3,2)

AT 1nui3roe+04 /25
- po 4216+ 0.0
o pl -36.13+ 0.00

3000

TP delay [ns]

TVC(cbch) (33,6

-1 nuiL390e+04 / 25
- pO 4234+ 0.0
[ pl -35.72+ 0.00

3000

TP delay [ns]

TVC(cbch) (3, 3 10

©1nuz150e+04 / 25
= po 4252+ 0.0
- pl -35.76 + 0.00

3000

TP delay [ns]

TVC(cbch) (3,314

~ 1L bs4e+U4 [ 25
- pD 4219+ 0.0
[ p1 -36.07 + 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,3,3

x- 1L Szae+04 [ 25
P, po 4215+ 0.0
pL -34.69+ 0.00

TP delay [ns]

TVC(c,b ch) (3 3,7

-1 nui 2y4e+04 / 25
pO 4251+ 0.0
p1 -34.72:+ 0.00

[ C =28.80 [ps/ch] ]

_L

50 1(;0
TP delay [ns]

TVC(c,b ch) (3, 3

T ﬁbﬂe+l}4/25
= po 4253+ 0.0
pl -36.83+ 0.00

TP delay [ns]

TVC(C, bch) (33,15

T nuipole+ud / 25
po 4241% 0.0
p1 -36.63+ 0.00

TP delay [ns]



TVC(cbch)(340) TVC(cbch)(34l) TVC(cbch)(342) TVC(cbch)(343)
AT i 483e+04 / 25 A~ 1L a14e+U4 [ 25 AT 1L 4yre+ud [ 25 A~ ogre+usd [ 25
4000 _- PO 4196 + 0.0 4000 _-I po 4193+ 0.0 4000 ._- po 4189+ 0.0 000 fo, po 4208+ 0.0
pl -36.86 + 0.00 pl -36.4+ 0.0 : pl -35.95+ 0.00 pl -37.02+ 0.00

3000

1 3000 -1 3000 -1 3000 N

2000 -1 2000 -1 2000 -1 2000

1000 1 1000 -1 1000 -1 1000

0, 0, 0,
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cbch) (3,4.4) TVC(cbch) (3.4,5) TVC(cbch) (3,4,6) TVC(cbch) (3.4,7)
T 1L 3r4e+04 / 25 -1 nui bage+u4 / 25 - Ui b4a3e+u4 [ 25 = 11U bube+u4 / 25
4000 fm, pO 4230 0.0 4000 pO 4235+ 0.0 4000 [, pO 4244+ 0.0 4000 e, pO 4251+ 0.0
pl -36.24 + 0.00 pL -36.89 + 0.00 3 pl -37.58:+ 0.00 pL -36.13+ 0.00
3000~ 4 3000 - 3000 — — 3000 E
2000 - - 2000 - 2000 — — 2000 - —
1000 C B 1000 B 1000:— C =26.61 [pS/C — 1000 C —
0 EY 00 = 0 0 EY 0 . 5 100 =
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(c,b ch) (3,4,8) TVC(c,b ch) (3.4,9) TVC(c,b, ch) (3,4,10) TVC(c,b ch) (3,4,11)
T, (45e+04 / 25 T rnunbble+u4 [ 25 - nu s82e+04 [ 25 T 3aze+04 [ 25
4000 e pO 4213+ 00 4000 pO 4233+ 00 4000 DO 4242+ 00 4000, p0 4247+ 00
pl -34.49 + 0.00 pL -35.05+ 0.00 [ pl -35.96 + 0.00 pL -35.11 % 0.00

3000 - 3000 - 3000 - 3000 _

2000 -1 2000 - 2000 I 2000

- 1000 - 1000F

1000 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cbch)(34l ) TVC(cbch)(3413) TVC(cbch)(34l4) TVC(cbch)(3415)
~inuiLople+ud / 25 T bzoe+u4 [ 25 Tinun L obe+u4 /25 T 45/e+U4 /25
4000 e pO 4239+ 0.0 o pO 4225+ 00 000K pD 4225+ 0.0 4000 pO 4228 0.0
pl -36.65+ 0.00 pl -37.46 + 0.00 : pl -37.06 + 0.00 pl -36.29 + 0.00

3000 -1 3000 -1 3000 -1 3000 -1

2000 -1 2000 - 2000 - 2000

1000 -1 1000 -1 1000 -1 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,5,0

A~ 1 Soze+u4 /25
Frcea. 4204+ 0.0
-35.41+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (3,54

S rnun 131e+04 /25
= po 4216+ 0.0
pl -35.52+ 0.00

50 10'0
TP delay [ns]

TVC(cbch) (3 5,8

-1z, [59e+U4 [ 25
o~ pD 4242+ 0.0
p1 -35.14 £ 0.00

TP delay [ns]

TVC(cbch) (3,5,12

po
p1

1 zose+ud [ 25
4297+ 0.0
-36.52+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,51

AT 1 nuiL2Zooe+ud [ 25
F.. po 4230+ 0.0
p1 -35.9+ 0.0

TP delay [ns]

TVC(c,b ch) (3 55

-1 nuiLa34e+04 | 25
== po 4206+ 0.0
pl -34.84+ 0.00

50 150
TP delay [ns]

TVC(c,b ch) (3 59

b, i30e+U4 ] 25
- pO 4272+ 0.0
pL -35.53+ 0.00

TP delay [ns]

TVC(c,b Ch) (3, 5 13

pO
p1

Tonan L ose+ud [ 25
4284+ 0.0
-36.91+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

4000

3000

2000

1000

4000

3000

2000

TVC(cbch) (3,5,2)

AT 1 goBe+04 [ 25
. po 4235+ 0.0
- pl -36.06 + 0.00

3000

TP delay [ns]

TVC(cbch) (3,56

1000

- rnub31e+u4 / 25
fo, pO 4210+ 0.0
[ p1 -34.52+ 0.00

TP delay [ns]

TVC(eb,oh)=(3, 5, 10

-1 2. 2se+ud [ 25
po 4286+ 0.0
p1 -35.08:+ 0.00

- C = 28.50 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (3,5,14

1000

pD

pl

T rnuiLa43e+04 / 25
4284+ 0.0
-36.95+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,53)

- 1issesud ] 25
pO 4242+ 0.0
pL -35.95+ 0.00

TP delay [ns]

TVC(c,b ch) (3 57

-1 nui bloe+ud / 25
4222+ 0.0
-34.5+ 0.0

[ C =28.98 [ps/ch] ]

_L

50 160
TP delay [ns]

TVC(c,b ch) (3, 5

T, /aue+u4/25
pO 4292+ 0.0
-35.2+ 0.0

[ C =28.41 [ps/ch]

1
50 00

TP delay [ns]

TVC(c,b ch) (3, 5 15

- i voye+ud [ 25
b=, pO 4297 0.0
p1 -37.05+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (3,6,0

A7 1nui 14se+04 /25
.. po 4178+ 0.0
p1 -34.32+ 0.00

TP delay [ns]

TVC(cbch) (36,4

-1 nuiL348e+04 / 25
- pO 4242+ 0.0
pl -36.89+ 0.00

TP delay [ns]

TVC(cbch) (3 6,8

©1nuzboze+u4 [ 25
- pO 4231+ 0.0
p1 -36.74 + 0.00

TP delay [ns]

TVC(cbch) (3,6,12

T 1 4ne+ud /25
= po 4223+ 0.0
pl -35.29+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 5,

3000

2000

1000

TVC(cbch) (3,6,1

AT rnuLzsie+ud [ 25
Fee, po 4189+ 0.0
p1 348+ 0.0

TP delay [ns]

TVC(c,b ch) (3 6,5

=1 nui 4nbe+04 / 25
- pO 4258+ 0.0
pL -37.71% 0.00

TP delay [ns]

TVC(c,b ch) (3 6,9

T nugproe+ud [ 25
= po 4259+ 0.0
pl -36.39 + 0.00

TP delay [ns]

TVC(cbch) (3,6,13

Tinui zie+ud [ 25
pO 4235+ 0.0
pl -36.08 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (3,6,2)

AT inunzsze+V4 /25
__— po 4206+ 0.0
L pl -35.44 + 0.00

3000

TP delay [ns]

TVC(cbch) (36,6

-1 nuiL4u1e+04 / 25
- pO 4261% 0.0
[ pl -37.07+ 0.00

TP delay [ns]

TVC(cbch) (3, 6 10

T 1nuz139e+04 / 25
- pO 4251+ 0.0
I pl -35.47 + 0.00

TP delay [ns]

TVC(cbch) (3,6,14

© i zoge+ud [ 25
F pD 4247+ 0.0
r -36.68 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,6,3)

e po

p1

AT 1 nuiLzyse+ud [ 25
4194+ 0.0
-34.77 + 0.00

TVC(c,b ch) (3 6,7

feme pO
pl

1
100

TP delay [ns]

-1 nui buse+u4 / 25
4264+ 0.0
-38.08 + 0.00

100

TP delay [ns]

TVC(c,b ch) (3, 6

e pO

T, uye+u4/25
4267+ 0.0
-36.92+ 0.00

pl

TP delay [ns]

TVC(C, bch) (3,6,15

Tonan g aze+ud |25
4241+ 0.0
-35.79+ 0.00

1
100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (3,7,0)

K™ 1nui 1yze+04 /25
4198+ 0.0
-35.33+ 0.00

TP delay [ns]

TVC(cbch) (37,4

T zo/e+u4 [ 25
e, pO 4207+ 0.0
pl -35.63+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (3 7,8

T rnuiLysse+u4 / 25
= po 4215+ 0.0
pl -37.23+ 0.00

TP delay [ns]

TVC(cbch) (3,7,12

~1nuiL4y4e+04 / 25
pO 4227+ 0.0
pl -34.87 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b ch) (3,7,

A

» PO
pl

1

nuiL1s/e+u4 [ 25
4202+ 0.0
-35.18 + 0.00

1
100

TP delay [ns]

TVC(c,b ch) (3 7,5

~nu Zge+u4 [ 25
pO 4196+ 0.0
pL -34.93+ 0.00

TP delay [ns]

TVC(c,b ch) (3 7,9

T nun 313e+U4 / 25
po 4242+ 0.0
pl -36.72+ 0.00

TP delay [ns]

TVC(cbch) (3,7,13

pO
p1

Tonan oy ie+ud /25
4211+ 0.0
-35.17+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000

2000

4000
3000
2000

1000

TVC(cbch) (3,7,2)

A"

po
pl

1 nui 45 /e+U4 [ 25
4218+ 0.0
-36.24 + 0.00

TP delay [ns]

TVC(cbch) (37,6

- i bYpe+u4 / 25
- pO 4215+ 0.0
3 pl -36.04 + 0.00

TP delay [ns]

TVC(cbch) (3, 7 10

1000

0

Trnuiz4r3e+04 /25
= po 4257+ 0.0
L pl -36.96 + 0.00

TP delay [ns]

TVC(cbch) (37,14

pD
pl

Ty sze+ud /25
4211+ 0.0
-34.58 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,7,3)

po
pL

AT rnuiLzsie+ud [ 25
4218+ 0.0
-35.55+ 0.00

1
100

TP delay [ns]

TVC(c,b ch) (3 7,7

- 1nui 441e+04 / 25
pO 4228+ 0.0
pL -35.81% 0.00

TVC(c,b ch) (3, 7

TP delay [ns]

T ss/e+u4/25
pO 4256+ 0.0
pl -37.15+ 0.00

TP delay [ns]

TVC(C, bch) (3,7,15

Tonan 1 3re+ud |25
po 4218+ 0.0
p1 -35.58 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (3,8,0

K™ 1nuioiae+04 /25
Fee. po 4221+ 0.0
pl -37.51+ 0.00

TP delay [ns]

TVC(cbch) (3,84

-1 boze+ud [ 25
- pO 4224+ 0.0
p1 -35.49+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (3 8,8

T rnuzpr4e+u4 | 25
PD 4252+ 0.0
p1 -38.42 + 0.00

L=
50 100

TP delay [ns]

TVC(cbch) (3,812

~ i psye+u4 / 25
= po 4240+ 0.0
pl -36.32+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,81

AT rnuiLzye+u4 [ 25
., po 4200+ 0.0
pl -35.66 + 0.00

TP delay [ns]

TVC(c,b ch) (3 8,5

= nui bh3e+ud [ 25
pO 4212+ 0.0
pL -35.33+ 0.00

TP delay [ns]

TVC(c,b ch) (3 8,9

~ 1 nu B40e+u4 | 25
po 4268+ 0.0
pl -37.76 + 0.00

TP delay [ns]

TVC(cbch) (3,8,13

T inuipz1e+ud / 25
pO 4236+ 0.0
pl -36.23+ 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

0

4000

2000

1000

TVC(cbch) (3,8,2)

AT 1nuiayre+ud /25
- po 4202+ 0.0
L pl -36.12+ 0.00

3000

TP delay [ns]

TVC(cbch) (3,86

= 1 nur boge+ud [ 25
- pO 4220+ 0.0
[ pl -35.38+ 0.00

3000

TP delay [ns]

TVC(cbch) (3, 8 10

T nuizplie+ud / 25
-, po 4273+ 0.0
- pl -38.13+ 0.00

3000

50 100

TP delay [ns]

TVC(cbch) (3,814

T L rve+u4 [ 25
- pD 4234+ 0.0
[ p1 -36.52+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (3,8,3

AT 1 nuiLogoe+ud [ 25
e, po 4232+ 0.0
pl -37.29+ 0.00

TP delay [ns]

TVC(c,b ch) (3 8,7

-1 nui bb3e+u4 / 25
- pO 4241+ 0.0
pL -36.29+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (3, 8

AN babe+u4/25
- po 4277+ 0.0
pl -38.25+ 0.00

TP delay [ns]

TVC(C, bch) (3,8,15

Tonair4/e+04 /25
e pO 4244+ 0.0
p1 -35.86+ 0.00

TP delay [ns]



TVE(ED.ch=(3,9,0) TVe(EDCh)=(3,9, 1) TVE(ED.Ch)=(3,9, 2) TVEEDe)=(3,9, 3)
A™ 1L 340e+04 / 25 A~ 1 1yse+ud | 25 A” i 3yse+ud [ 25 A~ 1 asze+ud | 25

4000 fme, po 4217+ 0.0 4000 fe,, po 4233+ 0.0 4000 fm PO 4233+ 0.0 4000 fo, PO 42312 0.0
pl -35.63+ 0.00 pl -36.14 + 0.00 F pl -35.91+ 0.00 pl -35.05+ 0.00

3000

E 3000 - 3000 - 3000 B

2000 - 2000 B 2000 N 2000

1000 - 1000 = 1000 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (39,4 TVC(cbch) (39, TVC(cbch) (39,6 TVC(c, bch) (39,

TN ‘:I)DAE+UA 125 Tnu,; i)ZHE*U4/25 T &l)dbeHJd 125 T L)U4E+l)4/25
4000 [, pO 4210+ 0.0 4000 [, pO 4218+ 0.0 4000 e, pO 4233+ 0.0 4000 fs pO 4243+ 0.0
pl 3506+ 0.00 Pl -36.14% 000 [ PL_ -36.03% 0.00 Pl 35143000

3000 ] 3000 [ E 3000 ] 3000 - 4

2000 ] 2000 E 2000 — — 2000 ]

- - 1000 [~ = N 1000 [~ = — L _ ]

w00} C C =27.67 [ps/ch [ C=27.75[ps/ch ] wof C = 28.45 [ps/ch
1 ' o 1 - 1 [ 1 -
50 00 50 100 50 T00 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(eb.ch)=(3,9,8) TVC(eb,oh)=(3,9,9) TVC(eb.oh)=(3, 9, 10) TVC(e.heh)=(3, 9, 11)
Tz psze+u4 | 25 T nuwg, 110e+u4 / 25 1 nuig.4uge+u4 / 25 T nuiz.agae+ud [ 25
4000 o, pO 4218+ 0.0 4000 pO 4230+ 0.0 4000 fo DO 4251+ 0.0 4000 o, p0 4258+ 0.0
pl -35.01+ 0.00 pl -35.59 + 0.00 F pl -35+ 0.0 pl -36.06 + 0.00

-1 3000

3000 N 3000 - 3000 1

2000 - 2000 2000 - 2000

1000 - 1000 1000 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (3,9,12 TVC(cbch) (3,9,13 TVC(cbch) (3,9,14 TVC(C, bch) (3,9,15

T rnuiLg34e+u4 / 25 Tonan g rge+ud [ 25 T gzze+04 [ 25 T nui p3se+ud / 25
4000 j pO 4272+ 0.0 4000 pO 4250+ 0.0 4000 R, PD 4257+ 0.0 4000 e, pO 4250+ 0.0
pl -36.66 + 0.00 pl -36.8+ 0.0 F pl -37.93+ 0.00 pl -37.07 + 0.00

- 3000

3000 -1 3000 1 3000

2000 -1 2000 -1 2000 -1 2000

1000 -1 1000 -1 1000 -1 1000

50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (3, 10 0)

T s3se+ud [ 25
.. pO 4221+ 0.0
pl -37.03+ 0.00

TP delay [ns]

TVC(cbch) (3,10,4

- i z3ze+u4 [ 25
e, pO 4206+ 0.0
p1 -36.84 + 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (3, 10 8

T L, r84e+04 | 25
- po 4253+ 0.0
p1 -37.04 + 0.00

TP delay [ns]

TVC(cbch) (310,12

i 5ove+U4 / 25
pO 4236+ 0.0
pl -35.05+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (3,10,1)

. PO

AT 1 nuiLsoze+ud [ 25
4223+ 0.0
pl -38.03+ 0.00

TP delay

TVC(c, bch) (3,10,5

[ns]

-1 s48e+u4 | 25
4214+ 0.0
pl -36.85+ 0.00

TP delay

TVC(c,b ch) (3, 10

e, po

[ns]

Tinug1z/e+u4 /25
4266+ 0.0
pl -36.72+ 0.00

TP delay

TVC(cbch) (310,13

[ns]

~ 1 nui zoobe+ud | 25
4235+ 0.0
-34.36 + 0.00

F C =29.10 [ps/ch]

PR U S S |
50 100

TP delay

[ns]

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(CbCh) (3,10,2)

AT 1nuis1ve+u4 /25
__- po 4221+ 0.0
o pl -375+ 0.0

- C = 26.67 [ps/c .

[
50 100

TP delay [ns]

TVC(cbch) (3,10,6

-1 nuiL49ze+04 [ 25
= po 4226+ 0.0
[ pl -36.69 + 0.00

TP delay [ns]

TVC(cbch) (3, 10 10

1000

0

T nuz334e+04 [ 25
-, po 4279+ 0.0
L pl -37.21+ 0.00

TP delay [ns]

TVC(cbch) (3.10,14

T rnuiLa47e+04 /25
- pD 4238+ 0.0
L pl -35.24 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (3,10,3)

e, po

AT 1 nuiLzooe+ud [ 25
4221+ 0.0
-36.1+ 0.0

p1

TP delay

TVC(c, bch) (3,10,7

E. pO

[ns]

- nun 383e+04 / 25
4234+ 0.0
pl -38.04 + 0.00

50 100
TP delay

TVC(cbch) (3, 10 1

= pO

[ns]

~inuiLyu/e+ud [ 25
4276+ 0.0
pl -36.05+ 0.00

TP delay

TVC(cbch) (3,10,15

[ns]

T nai s49e+04 / 25
4226+ 0.0
p1 -35.65+ 0.00

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000 =,

3000

2000

1000

TVC(e.bch)=(3, 11, 0)

X~ 1 Jobe+U4 [ 25
4188+ 0.0
p1 -36.86 + 0.00

TP delay [ns]

TVC(cbch) (3,11,4

- i 1zze+04 [ 25
4171+ 0.0
pl -35.36+ 0.00

TP delay [ns]

TVC(eDeh)=(3, 11, 8

E pD

-1 nug, 18Ye+u4 / 25
4241+ 0.0
pl -36.58 + 0.00

TP delay [ns]

TVC(ebch)=(3, 11, 12
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a1 ze+ud [ 25
4220+ 0.0
-35.51+ 0.00
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/ nar lmo /25
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100
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TVC(eb.eh)=(3, 11,

pO
p1

13

- nuig 18ze+u4 [ 25
4204+ 0.0
-35.19+ 0.00
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TP delay
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. pO

[ns]

~nuiU/be+u4 / 25
4187+ 0.0
pl -34.57 + 0.00

TP delay

TVCED =3, 11, 11

pO

[ns]

- i b3/e+04 [ 25
4268+ 0.0
pl -36.84+ 0.00

TP delay

TVC(eb.eh)=(3, 11, 15

e pO

[ns]

- i zu4e+ud [ 25
4209+ 0.0
-35.21+ 0.00

TP delay

[ns]



TVC(ehet)=(4,0,0) TVC(Ebe)=(4,0,1) TVC(ehe)=(4,0,2) TVC(ebe)=(4,0,3)
A™ i 349e+04 [ 25 “rnan g gve+ud [/ 25 AT 1w 131e+04 /25 A1 1sse+ud | 25
4000, po 4207+ 0.0 400, po 4209+ 0.0 4000, po 4219+ 0.0 4000 [ po 4226+ 0.0
Pl -36.47+0.00 Pl -36.15% 0.00 L pl 3593+ 0.00 pl_ -35.79% 0.00
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2000 -1 2000 - 2000 - 2000
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TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (4,0,4 TVC(cbch) (4,0,5 TVC(cbch) (4,0,6 TVC(c, bch) (40,7

- i 11be+u4 / 25 -1 aspe+ud [ 25 - nung z3ge+u4 [ 25 -1 nui 2yle+u4 / 25
000, pO 4224+ 0.0 4000 pO 4238+ 0.0 4000 fem, pO 4247+ 0.0 4000 fo, pO 4247+ 0.0
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2000 ] 2000 - 2000~ . 2000 4

. [ ]
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- - - -
- - - '
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TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(eh.ch=(4,0,8) TVC(eb.ch)=(4,0,9) TVC(eb.ch=(4, 0, 10) TVC(ebeh)=(4,0,11)
Tonu 1/e+u4 /25 T, zz9e+u4 [ 25 ~ 1 nuiLygle+u4 / 25 T r31e+u4 /25
4000 e, pO 4232+ 0.0 4000 e, pO 4262+ 0.0 4000 DO 4259+ 0.0 4000 [l p0 42712 0.0
368+ 0.0 Pl -37.12%0.00 [ PL_ -35.36% 0.00 Pl -36.51% 0.00
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2000 E 2000 ] 2000

2000
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1 1
% 50 00

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch)(40l ) TVC(cbch)(4013) TVC(cbch)(401 ) TVC(cbch)(4015)
Tz 53ve+u4 | 25 Tinuizag/e+ud [ 25 T z.3e+u4 /25 T nuiz sose+ud / 25
4000 [, pO 42345 00 4000 o, pO 4233£ 00 4000F 4229+ 0.0 4000 o pO 4238+ 0.0
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p1 -34.66 + 0.00
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TP delay [ns]
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pl -36.03 + 0.00
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-1 nui 148e+04 / 25
I 4205+ 0.0
-33.95+ 0.00
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T nuw Zobe+ud [ 25
- pO 4248+ 0.0
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TP delay [ns]
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-34.71+ 0.00
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pL -32.97+ 0.00

[ C =30.33 [ps/ch] “, 7
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T nai ruze+u4 [ 25
- pO 4254+ 0.0
pl -36.02+ 0.00

TP delay [ns]
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- po 4215+ 0.0
p1 -34.54+ 0.00
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-1 nui bage+u4 / 25
- pO 4220+ 0.0
pL -36.17+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (4, 2

T zwe+u4/25
e pO 4249+ 0.0
pl -36.38 + 0.00

TP delay [ns]
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T nuiagse+ud [ 25
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-35.47 + 0.00

TP delay [ns]
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TP delay [ns]
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TVC(c,b ch) (4 3,5
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-1 nui bole+ud / 25
4192+ 0.0
-36.94 + 0.00

TP delay [ns]
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4229+ 0.0
-36.82 + 0.00
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4221+ 0.0
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= P°
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TP delay [ns]
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- 90
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©1nugboze+u4 [ 25
4240+ 0.0
-37.26 + 0.00

TP delay [ns]
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4228+ 0.0
-37.46 + 0.00
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4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,3,3)
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4192+ 0.0
-34.87 + 0.00

TP delay [ns]

TVC(c,b ch) (4 3,7

Fe=. pO
pl

-1 nui bb3e+u4 / 25
4216+ 0.0
-36.11 + 0.00

TP delay [ns]

TVC(c,b ch) (4, 3

e pO
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T yue+u4/25
4250+ 0.0
-36.57 + 0.00

TP delay [ns]

TVC(C, bch) (43,15

T nui s30e+ud [ 25
4237+ 0.0
-37.38+ 0.00

TP delay [ns]
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pl -35.79+ 0.00

TP delay [ns]

TVC(cbch) (4.4,4

= i bobe+ud / 25
4204+ 0.0
-37.1+ 0.0

TP delay [ns]

TVC(eb,ch)=(4, 4,8

T rnuiLgroe+U4 [ 25
- pO 4240+ 0.0
p1 -37.9+ 0.0

TP delay [ns]
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T rze+04 [ 25
= po 4217+ 0.0
pl -34.99 + 0.00
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- po 4253+ 0.0
pl -36.45 + 0.00

TP delay [ns]
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- pO 4231+ 0.0
pl -35.64 + 0.00
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TP delay [ns]
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- pO 4219+ 0.0
[ pl -37.93+ 0.00

3000

TP delay [ns]
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1 nuiz,uyoe+u4 | 25
-, po 4260+ 0.0
- pl -36.38 + 0.00

3000

TP delay [ns]
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. pD 4223+ 0.0
L pl -34.65+ 0.00
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TVC(c,b ch) (4 4,7

S inuiL 7 e+ud [ 25
= po 4215+ 0.0
pl -36.93+ 0.00
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e po 4267+ 0.0
pl -37.65+ 0.00

TP delay [ns]
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Tinuiorze+ud [ 25
= pO 4222+ 0.0
p1 -35.33+ 0.00

TP delay [ns]
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TP delay
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pL

[ns]

T 3z/e+u4 [ 25
4189+ 0.0
-36.91+ 0.00

TP delay
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[ns]

T g zsze+u4 | 25
4242+ 0.0
pl -37.56 + 0.00

TP delay

TVC(cbch) (4,5,12

[ns]

T ze+u4 [ 25
4231+ 0.0
-35.41+ 0.00

PR B SRS |
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4193+ 0.0
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TP delay
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[ns]

=1 3vbe+u4 / 25
4193+ 0.0
pl -37.05+ 0.00

TP delay

TVC(c,b ch) (4 59

[ns]

T inaia4/e+04 /25
4267+ 0.0
pl -37.59 + 0.00

TP delay
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pl -34.82+ 0.00
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TP delay [ns]
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© 1 nuiz.y4pe+ud | 25
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-37.24+ 0.00
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4242+ 0.0
-36.04 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,5,3)

e, po

p1

AT 1 nuiL4oze+ud [ 25
4211+ 0.0
-36.11 + 0.00

TP delay [ns]
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-36.26 + 0.00

TP delay [ns]
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4269+ 0.0
-37.21+ 0.00

TP delay [ns]
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4231+ 0.0
-35.04+ 0.00

TP delay [ns]
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TP delay [ns]
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©rnuiLyose+u4 / 25
po 4219+ 0.0
pl -36.19+ 0.00
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L pl -38.57 + 0.00

3000

L=
50 100

TP delay [ns]

TVC(cbch) (46,6

T, 744e+04 | 25
e pO 4197+ 0.0
u pl -37.23+ 0.00

3000

TP delay [ns]

TVC(cbch) (4, 6 10

0

© 1 nuizpyze+u4 | 25
= po 4246+ 0.0
L pl -36.94 + 0.00

3000

TP delay [ns]

TVC(cbch) (4,6,14

~ 1 nuiL4npe+U4 / 25
- pD 4214+ 0.0
[ p1 -35.93 + 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,6,3)

A1 L dave+Ud | 25
. po 4217+ 0.0
pL -37.92:+ 0.00

TP delay [ns]

TVC(c,b ch) (4 6,7

- 1nu 339e+u4 / 25
pO 4208+ 0.0
pL -36.52:+ 0.00

TVC(c,b ch) (4, 6

TP delay [ns]

T U4e+u4/25
po 4248+ 0.0
pl -36.19+ 0.00

TP delay [ns]

TVC(C, bch) (4,6,15

T nuiasoe+ud [ 25
po 4232+ 0.0
p1 -36.03+ 0.00

TP delay [ns]
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1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (4,7,0

K71 nui ooze+V4 / 25
.. po 4202+ 0.0
pl -36.43+ 0.00

TP delay [ns]

TVC(cbch) (47,4

-1 nuiL438e+04 / 25
= pO 4214 0.0
p1 -37.14+ 0.00

TP delay [ns]

TVC(eb,oh)=(4, 7,8

T 3oze+u4 | 25
= po 4227+ 0.0
pl -36.51+ 0.00

TP delay [ns]

TVC(cbch) (4,7,12

T 14ae+04 /25
= po 4251+ 0.0
p1 -35.8+ 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,7,1

AT 1 nuiLbuLe+ud /25
. po 4215+ 0.0
p1 -36.4+ 0.0

TP delay [ns]

TVC(c,b ch) (4 7,5

-1 nui 481e+04 / 25
pO 4216+ 0.0
pL -36.38+ 0.00

TP delay [ns]

TVC(c,b ch) (4 7,9

T inugy1ze+ud [ 25
po 4259+ 0.0
pl -36.52 + 0.00

TP delay [ns]

TVC(cbch) (4,7,13

Tinuisy/e+ud [ 25
pO 4256+ 0.0
pl -36.36 + 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000
2000

1000

4000
3000
2000

1000

4000
3000
2000

1000

TVC(cbch) (4,7,2)

A~ 1 nuipuze+ud / 25
po 4208+ 0.0
pl -36.45+ 0.00

TP delay [ns]

TVC(cbch) (4,7,6

- 1nuibzye+ud [ 25
pO 4222+ 0.0
pl -36.47 + 0.00

TP delay [ns]

TVC(cbch) (47,10

T zu4e+04 /25
po 4256+ 0.0
pl -36.07 + 0.00

1
100

TP delay [ns]

TVC(cbch) (4,7,14

T ssze+u4 [ 25
pD 4256+ 0.0
pl -35.53+ 0.00

TP delay [ns]
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1000
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1000
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1000

4000

3000

2000

1000

TVC(cbch) (4,7,3)

AT 1L byye+ud [ 25
po 4227+ 0.0
pl -36.52+ 0.00

TP delay [ns]

TVC(c,b ch) (4 7,7

-1 nui bobe+u4 / 25
pO 4233+ 0.0
pL -35.35+ 0.00

TVC(c,b ch) (4, 7

TP delay [ns]

1)
T nai ruze+u4 [ 25
po 4258+ 0.0
pl -36.84+ 0.00

TP delay [ns]

TVC(C, bch) (4,7,15

T nai ozze+u4 [ 25
pO 4256+ 0.0
p1 -35.36+ 0.00

TP delay [ns]
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2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,8,0)

2yoe+u4 | 25
4188+ 0.0
-36.76 + 0.00

A1,

. p0
pl

TP delay [ns]

TVC(cbch) (4,84

- i 33ze+04 / 25
4191+ 0.0
-36.41+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (4 8,8

-1 nuiL 58ze+04 [ 25
4197+ 0.0
-35.05+ 0.00

TP delay [ns]

TVC(Cbch) (4, 8 12

= po
p1

“inu L ase+ud [ 25
4205+ 0.0
-35.31+ 0.00

TP delay [ns]
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1000

4000

3000

2000

1000
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1000

4000

3000

2000

1000

TVC(cbch) (4,8,1)

A

- po
pL -3

©/58/25
4191+ 0.0
6.81+ 0.00

TP delay

TVC(c,b ch) (4 8,5

pO
pl

[ns]

S nun1.30e+04 [ 25
4197+ 0.0
-36.81+ 0.00

50 150
TP delay

TVC(c,b ch) (4 8,9

[ns]

~ 1 nuis.azye+ud [ 25
4214+ 0.0
-34.91+ 0.00

1
50 00

TP delay

TVC(c,b Ch) (4, 8 13

== pO

[ns]

T nuiLgnae+ud [ 25
4208+ 0.0
pl -35.89+ 0.00

TP delay

[ns]

4000 (S
3000

2000

4000
3000
2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

1000

TVC(cbch) (4,8,2)

. po

pl

A~ nui 4ose+u4 | 25
4203+ 0.0
-36.18+ 0.00

TP delay [ns]

TVC(cbch) (4,86

©1nuiLbube+u4 / 25
4214+ 0.0
-36.6+ 0.0

TP delay [ns]

TVC(eb,oh)=(4, 8, 10

= pO

pl

-1 nuz,u3ye+ud [ 25
4242+ 0.0
-35.77 + 0.00

TP delay [ns]

TVC(cbch) (4,814

-1 sloe+ud [ 25
4210+ 0.0
-36.28+ 0.00

TP delay [ns]
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1000
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1000

4000

3000

2000

1000

TVC(cbch) (4,8,3)

Sole+ud /25
4206+ 0.0
-36.79+ 0.00

PSR

po
pL

TP delay [ns]

TVC(c,b ch) (4 8,7

e pO
pl

-1 nuibrae+u4 [ 25
4208+ 0.0
-36.24 + 0.00

1
50 00

TP delay [ns]

TVC(c,b ch) (4, 8

. pO

SRR bbbe+l}4/25
4232+ 0.0
-34.94 + 0.00

pl

TP delay [ns]

TVC(c,b ch) (4, 8 15

= pO

T inai szye+ud [ 25
4207+ 0.0
-34.97 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (4,9,0

A~ 1 nui Zzoze+04 | 25
.. po 4232+ 0.0
p1 -36.67 £ 0.00

TP delay [ns]

TVC(cbch) (49,4

= 1 1uiL4upe+u4 / 25
4217+ 0.0
-36.6+ 0.0

50 10'0
TP delay [ns]

TVC(cbch) (4 9,8

- i dvae+ud [ 25
= po 4220+ 0.0
p1 -35.03+ 0.00

TP delay [ns]

TVC(cbch) (4,9,12

- i 574e+04 [ 25
4246+ 0.0
-36.01+ 0.00

L n n n n 1
50 100

TP delay [ns]
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1000
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2000

1000

TVC(cbch) (4,91

X 1L dazerud | 25
e, po 4230+ 0.0
pL -36.77+ 0.00

TP delay [ns]

TVC(c,b ch) (4 9,5

= nur 1719e+04 /25
== po 4225+ 0.0
pl -36.06 + 0.00

TP delay [ns]

TVC(c,b ch) (4 9,9

I C =28.94 [ps/ch] ]

T nug. 718e+u4 / 25
= 4241% 0.0
-34.55 + 0.00

1
50 00

TP delay [ns]

TVC(c,b Ch) (4, 9 13

Tinan 1 b4e+u4 /25
- pO 4247+ 0.0
p1 -36.27 + 0.00

TP delay [ns]

TVC(cbch) (4,9,2)

4000

2000

1000

K™ nui dsze+04 | 25
P, po 4235+ 0.0
[ p1 -36.97 £ 0.00

3000

TP delay [ns]

TVC(cbch) (4,9,6

4000

3000

2000

1000

T ro/e+04 [ 25
- pO 4246+ 0.0
[ pl -37.45+ 0.00

TP delay [ns]

TVC(eb,oh)=(4, 9, 10

4000

3000

2000

1000

- C=29.71 [ps/ch] ™. 1

T rnuzanie+ud [ 25
- po 4241+ 0.0
K pl -33.66 + 0.00

0

1
50 100

TP delay [ns]

TVC(cbch) (4,9,14

4000

3000

2000

1000

- C =29.21 [psich™. 1

T rnuiLgnie+u4 /25
4231+ 0.0
-34.24 + 0.00

PR R R SR R |
50 100

TP delay [ns]
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1000
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1000

TVC(cbch) (4,9,3

A~ 1 nuiL4o0e+U4 / 25
- po 4255+ 0.0
p1 -37.24+ 0.00

TP delay [ns]

TVC(c,b ch) (4 9,7

= nui 7y1e+ud / 25
= po 4253+ 0.0
p1 -37.32+ 0.00

50 100
TP delay [ns]

TVC(c,b ch) (4, 9

[ C =28.94 [ps/ch] ]

AN 1b4E+U4/25
[, 4249+ 0.0
-34.56 + 0.00

1
50 00

TP delay [ns]

TVC(c,b ch) (4, 9 15

- slse+ud [ 25
e, pO 4251% 0.0
p1 -35.57 + 0.00

TP delay [ns]
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3000

2000

1000

0

4000 [,

3000

2000

1000

TVC(c,b,ch)=( 4, 10,0)

T AT Yob2 / 25
™, po 4162+ 0.0
pl -35.37 + 0.00

TP delay [ns]

TVC(cbch) (4,104

- 1L 11be+u4 / 25
pO 4215+ 0.0
pl -35.33+ 0.00

TP delay [ns]

TVC(cbch) (4, 10 8

T nuig, soge+u4 / 25
- PD 4222+ 0.0
pl -36.46 + 0.00

TP delay [ns]

TVC(cbch) (4,10, 12

T i s43e+04 / 25
PO 4251 0.0
pl -36.63 + 0.00

TP delay [ns]
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1000
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1000

4000
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2000

1000

TVC(cbch) (4,10,1)

AT 1 nuiL193e+u4 / 25
- Y 4188+ 0.0
pl -35.21+ 0.00

TP delay [ns]

TVC(c, bch) (4,10,5

=1 nui 20be+u4 / 25
e, pO 4208+ 0.0
pL -35.13+ 0.00

TP delay [ns]

TVC(c,b ch) (4,10,9

T inug3rge+ud [ 25
- DO 4243+ 0.0
pl -36.48 + 0.00

TP delay [ns]

TVC(C, bch) (410,13

- rnuiLaa3e+ud [ 25
pO 4260+ 0.0
pl -36.17 + 0.00

TP delay [ns]
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2000

4000

3000

2000

1000

TVC(cbch) (4,10,2)

TP delay [ns]

TVC(cbch) (4,10,6

S 1ize+ud ] 25
- PO 4182+ 0.0
r pl 35+ 0.0

3000

1L 3/8e+04 [ 25

- pO 4231 0.0
3 PL_ -36.64+ 0.00

TP delay [ns]

TVC(cbch) (4, 10 10

1000

0

© 1 nu, 3bye+u4 [ 25
- DO 4269+ 0.0
I pl -37.4+ 0.0

TP delay [ns]

TVC(cbch) (410,14

1000

L slerud [ 25
F PD 4253+ 0.0
F pl -36.28 + 0.00

TP delay [ns]
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1000
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1000

TVC(cbch) (4,10,3)

AT nuiL1sze+U4 [ 25
= Y 4188+ 0.0
p1 -35.34 + 0.00

TP delay [ns]

TVC(c, bch) (4,10, 7

/nar ‘4095 /25

- pO 4236+ 0.0
pl -35.8+ 0.0

TP delay [ns]

TVC(ehch)=(4, 10, 11

-1 nui ysge+ud [ 25
- pO 4261+ 0.0
pl -35.94 + 0.00

TP delay [ns]

TVC(cbch) (4,10,15

T nui 1sae+u4 / 25
- PO 4233+ 0.0
-35.81+ 0.00

TP delay [ns]
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1000

0
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2000

1000

TVC(CbCh) (4,11,0)

[ C =29.66 [ps/ch]

A7 1 nuiLu4ve+ud /25
.. po 4168+ 0.0
-33.71+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (4,11,4

-1 zz4e+04 [ 25
- pO 4229+ 0.0
pl -35.59+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (4,118

1z, (uve+u4 | 25
= po 4228+ 0.0
pl -36.83+ 0.00

TP delay [ns]

TVC(cbch) (4,11, 12

X~ 144 e+04 /25
= PO 4241 0.0
pl -36.74 + 0.00

TP delay [ns]

TVC(Cbch) (4,11,1)

4000 [ po

pl

A7 1 nuiLus4e+u4 [ 25
4181+ 0.0
-33.57 + 0.00

3000

2000 -

ol C = 29,78 [ps/ch]

1 1
50 100

TP delay

TVC(cbch) (4,11,5

4000 fm, pO

[ns]

-1 nui ZoYe+u4 / 25
4220+ 0.0
-36.1+ 0.0

3000

2000

1000

50 1(;0
TP delay

TVC(eh.eh)=(4, 11, 9

4000 B pO

[ns]

T nug gg/e+u4 /25
4248+ 0.0
pl -35.57 + 0.00

3000

2000

1000

TP delay

TVC(c, bch) (411,13

4000 e ,,0

[ns]

T nui oyae+ud [ 25
4239+ 0.0
pl -36.82+ 0.00

3000

2000

1000

TP delay

[ns]
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1000
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2000

4000
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1000

TVC(CbCh) (4,11, 2)

- C = 29.97 [ps/ch]

X~ 1ae+u4 /25
e po 4188+ 0.0
o pl -33.36+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (4,116

- rnuib31e+u4 / 25
- pO 4240+ 0.0
[ pl -36.99 + 0.00

TP delay [ns]

TVC(e.bch)=(4, 11, 10

1000

X~ 11wz 159e+04 [ 25
-, po 4253+ 0.0
- pl -35.16 + 0.00

TP delay [ns]

TVC(cbch) (4,11, 14

X~ 1 343e+04 [ 25
- po 4230+ 0.0
L pl -35.51+ 0.00

3000

TP delay [ns]

TVC(cbch) (4,11,3)

AT 1 nuiL1oze+ud [ 25
4186+ 0.0
pl -33.25+ 0.00

4000 e

po

3000

2000

wof C = 30.08 [ps/ch] .

1 1
50 100

TP delay

TVC(cbch) (4,11,7

4000 e pO

[ns]

-1 nui boze+u4d [ 25
4253+ 0.0
pl -36.61+ 0.00

3000

2000 -

wool- C =27.31 [ps/ch

TP delay

TVC(cbch) (4, 11 11

4000

[ns]

-1 nuiL gyye+ud 25
4255+ 0.0
-35.9 + 0.0

3000

2000

1000

TP delay

TVC(c, bch) (411,15

4000 [Gu.

[ns]

Tinaizae+u4 /25
4227+ 0.0
p1 -35.42 + 0.00

3000

2000

1000

TP delay

[ns]
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1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000 =,

3000

2000

1000

TVC(c,b,ch)=(4, 12,0)

T AL vy20/25
[, PO 41852 0.0
pl -34.79.+ 0.00

TP delay [ns]

TVC(cbch) (4,124

-1 283e+04 | 25
P, pO 4207+ 0.0
pl -37.02:+ 0.00

TP delay [ns]

TVC(cbch) (4, 12 8

T bg/e+u4 [ 25
P pD 4202+ 0.0
pl -36.24 + 0.00

TP delay [ns]

TVC(cbch) (412,12

-1 nuig440e+04 / 25
PO 4217+ 0.0
pl -36.16 + 0.00

TP delay [ns]
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1000
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1000

4000

3000

2000

1000

TVC(cbch) (4,12,1)

AT 1L 1zse+u4 [ 25
[, po 4221+ 0.0
pL -35.82:+ 0.00

TP delay [ns]

TVC(c, bch) (4,125

- nun bz1e+u4 / 25
e, pO 4210 0.0
pL -36.48+ 0.00

TP delay [ns]

TVCEebeh)=(4, 12,9

1 nuig 39ve+ud / 25
= DO 4216+ 0.0
pl -36.64 + 0.00

TP delay [ns]

TVC(C, bch) (412,13

— T 3/ze+u4 [ 25
F= pO 4199+ 0.0
pl -35.66 + 0.00

TP delay [ns]

4000

3000
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1000

4000

3000

2000

1000

4000 [,
3000
2000

1000

4000 =,
3000
2000

1000

TVC(cbch) (4,12,2)

- C = 29.33 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (4.12,6

- /0L 48 e+04 | 25
- pO 4212+ 0.0
I pl -36.35 + 0.00

X~ 1w 130e+04 /25
== po 4195+ 0.0
3 pl -34.09+ 0.00

TP delay [ns]

TVC(epeh)=(4, 12, 10

©1nuizu4se+u4 | 25
DO 4243+ 0.0
pl -36.11+ 0.00

TP delay [ns]

TVC(cbch) (412,14

© i s40e+04 / 25
PD 4202+ 0.0
pl -35.62 + 0.00

TP delay [ns]
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1000
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1000

4000

3000

2000

1000

TVC(cbch) (4,12,3)

AT 1 nuiLszee+u4 [ 25
e, po 4198+ 0.0
p1 -35.65+ 0.00

TP delay [ns]

TVC(c, bch) (4,12,7

- 1nui b4 /e+04 [ 25
- PO 4223+ 0.0
pL -36.74 + 0.00

50 1(;0
TP delay [ns]

TVC(c, bch) (4, 12 1

T inuipr3e+ud [ 25
- pO 4238+ 0.0
pl -35.58 + 0.00

TP delay [ns]

TVC(cbch) (4,12,15

= -1 naiquze+ud [ 25
PO 4207+ 0.0
-35.46 + 0.00

TP delay [ns]



TVC(CbCh) (4, 13 0)

4000

3000

2000

1000

© 1z zove+ud | 25
o, pO 4293+ 0.0
pl -37.26+ 0.00

TP delay [ns]

TVC(cbch) (4,134

4000

3000

2000

1000

= 1 nuiL408e+04 / 25
[Fouse PO 4232+ 0.0
pl -36.43+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (4, 13 8

4000

3000

2000

1000

Trnun13Ye+u4 /25
L PD 4271+ 0.0
-34.23+ 0.00

[ C=29.21 [ps/ch] .

0

1
50 100

TP delay [ns]

TVC(cbch) (4,13, 12

4000
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2000

1000

T rnuiL445e+04 / 25
- po 4237+ 0.0
pl -35.16 + 0.00

TP delay [ns]
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1000
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1000
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2000

1000

TVC(chh) (4,13,1)

A1 nuiz.ayve+ud [ 25
e po 4285+ 0.0
pl -37.16+ 0.00

TP delay [ns]

TVC(c, bch) (4,135

“ i 371e+04 / 25
[, pO 4220+ 0.0
pL -36.12:+ 0.00

TP delay [ns]

TVCebeh)=(4, 13,9

Tinugg/1e+ud /25
- po 4307+ 0.0
-35.9 + 0.0

1
50 100

TP delay [ns]

TVC(C, bch) (413,13

~ 1 nuiLavoe+ud | 25
- pO 4241+ 0.0
pl -35.34+ 0.00

TP delay [ns]
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1000
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1000

4000

3000
2000

1000

TVC(CbCh) (4,13,2)

A~ 1nuz4uie+ud /25
e, po 4301+ 0.0
[ p1 -37.6+ 0.0

3000

TP delay [ns]

TVC(cbch) (4.13,6

- rnui b3ze+04 [ 25
pO 4250+ 0.0
pl -37.27+ 0.00

TP delay [ns]

TVC(cbch) (4, 13 10

T rnuizuroe+u4 [ 25
- po 4319+ 0.0
: pl -35.29+ 0.00

- C = 28.34 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (413,14

T rnuiLb10e+U4 / 25
- pD 4246+ 0.0
L -35.51+ 0.00
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50 100

TP delay [ns]
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1000
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1000

TVC(Cbch) (4,13,3)

R- 1 2.2ze+04 [ 25
po 4311+ 0.0
pL -36.74+ 0.00
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AT 1 nuiLubLe+ud /25
4200+ 0.0
-34.74 % 0.00

p1

TP delay [ns]

TVC(c,b ch) (5 4,7

b=, pO
pl

-1 nui 314e+04 / 25
4220+ 0.0
-35.15+ 0.00

TP delay [ns]

TVC(c,b ch) (5,4,

X~ g,

/abe+u4 125
4268+ 0.0
-36.7 £ 0.0

1
50 100

TP delay [ns]

TVC(C, bch) (54,15

T nai soze+ud [ 25
4209+ 0.0
-35.19+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (5,5,0

K™ 1nuitole+u4 /25
.. po 4188+ 0.0
pl -35.85+ 0.00

TP delay [ns]

TVC(cbch) (55,4

- rnuiLza1e+04 / 25
e pO 4187+ 0.0
pl -36.35:+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (5 5,8

T g 3z1e+04 / 25
- po 4227+ 0.0
p1 -37+ 0.0

TP delay [ns]

TVC(cbch) (5,5, 12

Srua Y5/ 25
= po 4229+ 0.0
pl -36.02:+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,51

A7 1 nuLuyoe+ud [ 25
.. po 4208+ 0.0
pl -37.06 + 0.00

TP delay [ns]

TVC(c,b ch) (5 55

- nui Z31e+u4 / 25
e, pO 4195+ 0.0
pL -36.47 + 0.00

TP delay [ns]

TVC(c,b ch) (5 59

~ 1 nu.ozze+u4 / 25
- pO 4246+ 0.0
pl -36.42 + 0.00

TP delay [ns]

TVC(cbch) (5,5,13

Tinuisy/e+ud [ 25
= pO 4226+ 0.0
pl -36.63+ 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

4000

2000

1000

TVC(cbch) (5,5,2)

K™ 1nuilole+u4 /25
= po 4190+ 0.0
L pl -36.34 + 0.00

3000

TP delay [ns]

TVC(cbch) (5,56

T nuiLzz8e+u4 [ 25
- pO 4189+ 0.0
F Pl 3672+ 0.00

3000

TP delay [ns]

TVC(cbch) (5, 5 10

1000

1 nuiz,uyve+ud | 25
o=, po 4239+ 0.0
o pl -36.31+ 0.00

3000

TP delay [ns]

TVC(cbch) (55,14

~1nuiLgs4e+04 [ 25
= pD 4236+ 0.0
[ p1 -36.79+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,5,3

AT 1 nuiLsuse+ud [ 25
- po 4216+ 0.0
pl -36.55+ 0.00

TP delay [ns]

TVC(c,b ch) (5 57

-1 nui 448e+04 / 25
4222+ 0.0
-37.4 % 0.0

50 1(;0
TP delay [ns]

TVC(c,b ch) (5, 5

SRR ba=e+u4/25
= po 4250+ 0.0
pl -36.25+ 0.00

TP delay [ns]

TVC(C, bch) (55,15

T nui 1se+ud [ 25
- po 4229+ 0.0
p1 -35.98 + 0.00

TP delay [ns]



TVC(cbch)(560) TVC(cbch)(561) TVC(cbch)(562) TVC(cbch)(563)
A™ 1L usse+u4 / 25 K™ 1 z34e+U4 | 25 AT 1w 15/e+04 /25 A1 zzne+Ud | 25
4000 =— PO 4185+ 0.0 4000 =— po 4177+ 0.0 4000 _=- po 4197 + 0.0 4000 [ou, po 4205+ 0.0
pl -35.02+ 0.00 pl -34.64 + 0.00 F pl -34.68 + 0.00 pl -35.1+ 0.0

- 3000

3000 - 3000 -1 3000 - N

2000 B 2000 - 2000 2000

1000 E 1000 1000

1 w0l C = 28.84 [ps/chl]

1 1 L 1 1 1 1 1
50 100 50 100 50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (56,4 TVC(cbch) (5.6, TVC(cbch) (56,6 TVC(c, bch) (5.6,

“ g A)ﬁleﬂjd 125 4000 Tnarg z)qze+l)4/25 “ g 21:;e+u4 125 Trnar J):MEH)A/ZS
4000, pO 4196+ 0.0 pO 4193+ 0.0 4000 e, pO 4213+ 0.0 4000 e, pO 4203+ 0.0
pl -35.51+ 0.00 pL -35.83+ 0.00 F pl -36.47 £ 0.00 pL -35.32.+ 0.00
3000~ B 3000 1 3000~ ] 3000 1
2000 |- E 2000 1 2000 ] 2000 [ -
10001 C 4 1000 B woor C = 27.42 [ps/ch ] wool- C = 28.31 [ps/ch ]
1 L= o [ 1 L= 1 -
50 100 50 100 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(eb.ch)=(5,6,8) TVC(eb,oh)=(5,6,9) TVC(eb.ch)=(5, 6, 10) TVC(e.heh)=(5, 6, 11)
Tzl rge+u4 | 25 T nang.aze+u4 [ 25 T z.3e+04 /25 T nuiasie+ud /25
4000 f, PD 4218+ 0.0 4000 fo, DO 4237+ 0.0 4000 __- DO 4253+ 0.0 4000 o, 4241% 0.0
pl -34.74 + 0.00 pl -34.62 + 0.00 : pl -35.82+ 0.00 -34.66 + 0.00

- 3000

3000 -1 3000 - N 3000 -

2000 4 2000 |- - 2000 2000 -

1000 E 1000 C = 28.89 [pS/Ch] 1000: w00l C = 28.85 [pS/Ch] 7]

1
50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

1
50 100

TVC(cbch) (5,6, 12 TVC(cbch) (5,6,13 TVC(cbch) (56,14 TVC(C, bch) (5,6, 15

T i gooe+u4 / 25 T 1 nui syoe+ud | 25 T 1ooe+ud /25 T inuiLsrye+ud [ 25
4000 k=, PO 4237+ 0.0 4000 4231+ 0.0 4000 - PD 4234+ 0.0 4000 po, PO 4240+ 0.0
pl -36.56 + 0.00 -36.51+ 0.00 r pl -36.91+ 0.00 pl -36.92+ 0.00

3000

-1 3000 - 3000 - 3000 -1

2000 . 2000 1 2000 - 2000

1000 -1 1000 -1 1000 -1 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



TVC(cbch)(570 TVC(cbch)(571 TVC(cbch)(572) TVC(cbch)(573

X~ 1w zave+U4 [ 25 AT 1 nuiL2Zooe+ud [ 25 X~ 1w io1e+U4 /25 AT 1 nuiLZooe+u4 / 25
4000 ., po 4218+ 0.0 4000, po 4232+ 0.0 4000 fm po 4237+ 0.0 4000 o, po 4254+ 0.0
pl 353+ 0.0 pl_ -35.88% 0.00 [ pl 3529+ 0.00 pL -35.81% 0.00
3000 4 3000 - 3000 4 3000 .
]
2000 E 2000 E 2000 ] 2000 E
1000 - 1000 T 1000 - 1000 7]
[ ]
-
. -
50 00 50 100 50 T00
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (57,4 TVC(cbch) (5.7, TVC(cbch) (57,6 TVC(c, bch) (5.7,

“ g, l)AbeﬂJA 125 Tnar z)ue+l)4/25 “ g J):)Ae+U4 125 T nar )&4[&+04/25
4000 4249+ 0.0 4000 =, pO 42512 0.0 4000 fem, pO 4250+ 0.0 4000 fr, pO 4257+ 0.0
-35.4% 0.0 Pl 3569+ 0.00 [ PL_ -35.92% 0.00 Pl -3562% 0.00
3000 ] 3000 E 3000 E 3000 4
2000 o 2000 - 2000~ . 2000 - ]
1000 ] 1000 ] woor- C = 27.84 [ps/ch ] woor C = 28.07 [ps/ch 7
1 L= 1 L - 1 -
50 100 50 100 50 00
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (5 7,8 TVC(cbch) (5 7,9 TVC(cbch) (5, 7 10 TVC(cbch) (5, 7

T z10e+04 /25 Tonang.ase+ud [ 25 Tz 1zze+04 | 25 Sonang, /ye+u4/25
4000 B po 4227+ 0.0 4000 pO 4253+ 0.0 #000 e, po 4274+ 0.0 4000 o, p0 4265+ 0.0
pl -36.46 + 0.00 pl -36.78 + 0.00 r pl -36.56 + 0.00 pl -35.68 + 0.00

3000

. 3000 1 3000 - 3000 -1

2000 -1 2000 -1 2000 N 2000

1000 -1 1000

- 1000 1000

0

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch)(57l ) TVC(cbch)(5713) TVC(cbch)(57l4) TVC(cbch)(5715)
T rnuiLzyse+u4 | 25 <1 nuiLquae+ud [ 25 T Soe+ud /25 T 1nuiasae+ud [ 25
4000 pO 4273+ 00 4000 pO 4282+ 00 4000 fomm PD 4275+ 00 4000 pO 4278+ 00
Pl -35.89 + 0.00 p1 -36.78 + 0.00 L pl -36.19+ 0.00 p1 -36.44 + 0.00

- 3000

3000 _ 3000 -1 3000 .

2000 — 2000 ] 2000 - 2000

1000 ] 1000 1 1000 - 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
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1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,8,0)

A7 1 nui sove+ud / 25
4203+ 0.0
-36.51+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (58,4

T b8 /e+u4 [ 25
pO 4231% 0.0
pl -35.81+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (5 8,8

il b44e+04 / 25
- po 4229+ 0.0
-35.9+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (5,812

©rnuiL44se+04 / 25
= po 4227+ 0.0
pl -35.18+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,81

X- 1 L dyoe+ud | 25
Frase po 4211+ 0.0
pL -36.35+ 0.00

TP delay [ns]

TVC(c,b ch) (5 8,5

=1 4o8e+04 / 25
[P, pO 4221+ 0.0
pL -35.36 + 0.00

TP delay [ns]

TVC(c,b ch) (5 8,9

T nu.4/4e+04 /25
- po 4250+ 0.0
pl -35.93 + 0.00

TP delay [ns]

TVC(cbch) (5,813

TinuiLgo/e+ud [ 25
- pO 4227+ 0.0
pl -36.27 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000
3000
2000

1000

4000

3000
2000

1000

4000

3000

2000

1000

TVC(cbch) (5,8,2)

- C = 28.22 [ps/ch

1
50 100

TP delay [ns]

TVC(cbch) (58,6

AT 1nuis4/e+04 /25
_l'_ po 4215+ 0.0
L pl -35.43+ 0.00

- 1 nuibuge+ud / 25
pO 4232+ 0.0
pl -34.91+ 0.00

TP delay [ns]

TVC(cbch) (5, 8 10

© iz 114e+u4 /25
. po 4270+ 0.0
L pl -36.14 + 0.00

TP delay [ns]

TVC(cbch) (5,814

T Sroe+u4 [ 25
- pD 4231+ 0.0
L -34.53+ 0.00

- C = 28.96 [ps/ch]

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,8,3)

K- e5/5/25
o, po 4215 0.0
pL -35.67+ 0.00

TP delay [ns]

TVC(c,b ch) (5 8,7

- 1nui /3pe+04 / 25
- pO 4246+ 0.0
p1 -35.49+ 0.00

TP delay [ns]

TVC(c,b ch) (5, 8

T 4we+u4/25
- pO 4261+ 0.0
p1 -34.94 + 0.00

TP delay [ns]

TVC(C, bch) (5.8,15

T nuiayse+ud [ 25
= po 4245+ 0.0
p1 -36.2+ 0.0

TP delay [ns]



TVC(cbch) (5,9,0)

K™ 1 zzse+U4 [ 25

4000 [ po 4189+ 0.0
Pl -33.06% 0.00
3000~ 71
2000~ 7]
10 C = 30.24 [ps/ch] ™. ]
-+ o
TP delay [ns]
TVC(cbch) (5.9.4)
T rnuLUs/e+ud [ 25
4000 . po 4230+ 0.0
Pl -33.65+ 0.00
3000~ 71
2000 ]
oo C =29.71 [ps/ch] v 7]
% o
TP delay [ns]
TVC(cbch) (5 9,8)
© 1 nuiLybge+ud / 25
4000 [ pD 4210+ 0.0
pl -33.11+ 0.00
3000~ 7]
2000 = 71
10r C =30.20 [ps/ch] ™. 7]
1 1 -
b 50 00
TP delay [ns]
TVC(cbch) (5.9,12)
T i gooe+ud / 25
4000 fon, po 4258+ 0.0
p1 -35.2+ 0.0

3000

2000

1000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,9,1)

X~ 1L Usre+u4 [ 25
P po 4186+ 0.0
pl -33.07 + 0.00
[ C=30.24 [ps/ch] ™. ]
.
L 1 %
50 100

TP delay [ns]

TVC(cbch) (59,5

= 98U5 / 25
4227+ 0.0
pl -33.17 + 0.00

- PO
[ C =30.15 [ps/ch] ™ ]
& o
TP delay [ns]

TVC(c,b ch) (5 9,9

T nuig 715e+04 / 25
= 4234+ 0.0
-34.53 + 0.00

[ C =28.96 [ps/ch] 7

1
50 00

TP delay [ns]

TVC(c,b Ch) (5, 9 13

== pO

Tinaiz4/e+u4 /25
4258+ 0.0
-34.74+ 0.00

I C =28.78 [ps/ch]

PR R SR |
50 100

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,9,2)

K™ | UL‘JEHJW‘
-I' po 4201+ 0.0
N pl -32.91+ 0.00
r C=30.38 [ps/ch] ™ ]
L 5(') 10'0
TP delay [ns]
TVC(cbch) (5,9,6)
~nunL 18be+04 / 25
-, pO 4224+ 0.0
[ pl -34.76::‘
- C =28.77 [psichPN, 1

TP delay

TVC(eb,oh)=(5, 9, 10

[ns]

RRALEDS 123e+04/25
4000 fm, pO 4244+ 0.0
[ p1 -33.15+ 0.00
a000 7
2000 ]
w00~ C = 30.17 [pS/Ch] - ]
- - b
1 1
b 50 100

4000

3000
2000

1000

TP delay [ns]

TVC(cbch) (59,14

pD

pl

~1nuiL4zoe+04 / 25
4268+ 0.0
-35.96 + 0.00

TP delay [ns]
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3000
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1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,9,3)

A1 laze+Ua ] 25

po
pL

4206+ 0.0
-33.28+ 0.00

[ C=30.04 [ps/ch] %, ]
-'\-
gé 160
TP delay [ns]

TVC(c,b ch) (5 9,7

= 1 nui Zage+ud | 25
= po 4237+ 0.0
pl -34.19+ 0.00

[ C =29.25 [ps/ch]

_L

50 160
TP delay [ns]

TVC(c,b ch) (5, 9

9,11)
1 nui b19e+u4 | 25
= 4238+ 0.0
-33.35+ 0.00
[ C =29.99 [ps/ch] ™. ]
L L i
50 100
TP delay [ns]

TVC(c,b ch) (5, 9 15

- pO

- 3Use+u4 [ 25
4266+ 0.0
-34.81+ 0.00

I C=28.73 [ps/ch]

50

1
100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(CbCh) (5, 10 0)

T Lo ioe+u4 /25
pO 4205+ 0.0
pl -36.16+ 0.00

TP delay [ns]

TVC(cbch) (5.10,4

-1 Bsze+u4 | 25
pO 4238+ 0.0
pl -37.03+ 0.00

- C -1
% T
TP delay [ns]
TVC(c,b, ch) (5, 10 8

T 3rge+u4 [ 25
po 4238+ 0.0
pl -36.75+ 0.00

TP delay [ns]

TVC(cbch) (5,10, 12

T r13e+u4 / 25
pO 4247+ 0.0
pl -34.86 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (5, 10 1)

- waiodve+ud /25
s pO 4208+ 0.0
pL -36.46 + 0.00

TP delay [ns]

TVC(c, bch) (5.10,5

- i glze+u4d / 25
E pO 4224+ 0.0
pL -36.85+ 0.00

TP delay [ns]

TVC(c,b ch) (5, 10

T nuy.p/3e+ud [ 25
E pO 4274+ 0.0
pl -38.67 + 0.00

| =
50 100

TP delay [ns]

TVC(cbch) (510,13

Tinai g r4e+u4 [ 25
- pO 4262+ 0.0
pl -36.24 + 0.00

TP delay [ns]

4000

3000
2000

1000

4000
3000

2000

4000

3000

2000

4000

3000
2000

1000

1000

1000

0

TVC(cbch) (5,10, 2

K™ 1nuinsie+ud /25
po 4215+ 0.0
pl -36.78 + 0.00

TP delay [ns]

TVC(cbch) (5.10,6

-1 i z4e+04 [ 25
pO 4238+ 0.0
pl -37.93+ 0.00

100
TP delay [ns]

TVC(cbch) (5, 10 10

T Uy roe+us /25
DO 4279+ 0.0
pl -37.7+ 0.0

TP delay [ns]

TVC(cbch) (5.10, 14

T 1 pe+ud /25
pD 4261+ 0.0
pl -35.59 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (5,10,3)

AT 1 nuiLoble+ud [ 25
po 4220+ 0.0
p1 -36.1+ 0.0

1
100

TP delay [ns]

TVC(c, bch) (5,10, 7

= 11U yoae+u4 / 25
pO 4249+ 0.0
p1 -37.46+ 0.00

100
TP delay [ns]

TVC(cbch) (5, 10 1

T inuz1sle+ud /25
pO 4289+ 0.0
pl -37.99+ 0.00

TP delay [ns]

TVC(cbch) (510,15

Tinair1/e+u4 /25
po 4261+ 0.0
p1 -35.77 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (5,11,0)

K™ nui1yze+04 /25
4177+ 0.0
pl -35.02 0.00

TP delay

TVC(cbch) (511,4

pO
pL

[ns]

T rnun 1 56e+04 /25
4208+ 0.0
-36.45+ 0.00

% o
TP delay [ns]
TVC(c,b, ch) (5, 11 8)
- rnui31ye+u4 / 25
= po 4214+ 0.0
pl -35.13+ 0.00

TP delay

TVC(cbch) (5,11, 12

[ns]

K71 nui 1zoe+04 / 25
= po 4230+ 0.0
p1 -35+ 0.0

TP delay

[ns]

TVC(Cbch) (5,11,1)

4000 &

Fome, po

AT 1 nuiLiyve+ud [ 25
4178+ 0.0
pl -35.24 + 0.00

3000

2000

1000

TP delay

TVC(cbch) (5 11,5

4000 fm, pO

pl

[ns]

-1 nui431e+04 / 25
4223+ 0.0
-36.71+ 0.00

3000 -

2000

1000~ C

50 1(;0
TP delay

TVC(cbch) (5, 11 9

4000 fem po

[ns]

"1 nug.uble+ud / 25
4250+ 0.0
pl -35.96 + 0.00

3000

2000

1000

TP delay

TVC(cbch) (511,13

4000 pO

[ns]

~ 1 nuiLyyae+ud / 25
4249+ 0.0
pl -36.15+ 0.00

3000

2000

1000

TP delay

[ns]

4000

3000
2000

1000

4000
3000

2000

4000

3000

2000

4000
3000
2000

1000

1000

1000

0

TVC(CbCh) (5,11, 2)

froese po

A7 1 nuiLudoe+04 /25
4193+ 0.0
pl -36.12+ 0.00

TP delay

TVC(cbch) (5 11,6

[ns]

=1 nur boye+ud [ 25
4220+ 0.0
-36.3+ 0.0

TP delay

TVC(cbch) (5,11, 10

[ns]

X~ 1 nuiLys3e+ud [ 25
-, po 4256+ 0.0
- pl -37.05+ 0.00

TP delay

TVC(cbch) (511,14

nai

- 1)419/25
pO 4249+ 0.0
pl -36.1+ 0.

[ns]

36.1+ 0.0

TP delay

[ns]

TVC(cbch) (5,11,3)

4000 [, po

p1

AT rnuiLiore+ud [ 25
4206+ 0.0
-35.98+ 0.00

3000

2000

1000

TP delay

TVC(cbch) (511,7

4000 o pO

[ns]

- nui 3b/e+u4 / 25
4230+ 0.0
pl -36.08 + 0.00

3000

2000 -

1000 [~ C

50 1(;0
TP delay

TVC(cbch) (511,11

T nuiL1/Ye+u4 /25
4265+ 0.0
pl -36.09 + 0.00

4000 e,

pO

[ns]

3000

2000

1000

TP delay

TVC(cbch) (511,15

4000 [Gu.

[ns]

Tonair3e+ud /25
4239+ 0.0
p1 -35.94+ 0.00

3000

2000

1000

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(eb.ehy=(5, 12,0)

S g ize+ud |25
- pO 4203+ 0.0
pl -34.44 % 0.00

- C =29.03 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (512 4

- i, r3pe+u4 / 25
4211+ 0.0
-34.81+ 0.00

50 10‘0
TP delay [ns]

TVC(e.b.eh)=(5, 12, 8

T inuz174e+04 [ 25
O pD 4232+ 0.0
p1 -34.96 + 0.00

TP delay [ns]

TVC(e,b.ch)=(5, 12, 12

Sy ose+ud [ 25
E po 4220+ 0.0
-34.21+ 0.00

I C =29.23 [ps/ch]

P |
= 100

TP delay [ns]

TVC(ebch=(5,12,1)

4000 PO

AT nuiL191e+U4 [ 25
4206+ 0.0
-35.1+ 0.0

pl

3000

2000

1000

n 1
50 100

TP delay [ns]

TVC(chh) (5125

=

4000 pO
pl

sbe+u4 / 25
4224+ 0.0
-35.23+ 0.00

3000

2000

1000

TP delay [ns]

TVC(c,b ch) (5,12,9

4000 [

S nuy s2/e+04 [ 25

4232£ 0.0
-33.69+ 0.00

3000 -

2000 -

1000 C = 29.68 [pS/Ch]

1
50 100

TP delay [ns]

TVC(e.b.ch)=(5, 12, 13

1de+ual25
4216+ 0.0
-34.89+ 0.00

A

4000 o PO

p1

3000

2000

1000 |~

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000
3000

2000

1000

4000

3000
2000

1000

TVC(eb.ch)=(5,12,2)

e, o

A™ 1 nuiLsUse+u4 / 25
4229+ 0.0
pL -36.41+ 0.00

TP delay

TVC(cbch) (5126

F- o

pl

[ns]

TnuiL r53e+04 / 25
4228+ 0.0
-35.87 + 0.00

TP delay

TVC(e.b.eh)=(5, 12, 10

[ns]

o 1s4e+04 [ 25
4265+ 0.0
-34.51+ 0.00

- C = 28.97 [ps/ch]

1
s 50 100

TP delay

TVC(eb.eh)=(5, 12, 14

= b

[ns]

i saze+u4 [ 25
4222+ 0.0
p1 -35.75+ 0.00

TP delay

[ns]

TVC(ebeh)=(5,12,3)

A” 1 uiLadse+Ud [ 25
4226+ 0.0
Pl -36.49+ 0.00

4000 [u

po

3000

2000

1000

TP delay

TVC(C, bch) (512, 7

4000 s PO

[ns]

-z, u3se+ud [ 25
4244+ 0.0
p1 -35.42:+ 0.00

3000 -

2000 -

woo- C = 28.23 [ps/ch

TP delay

TVC(cbeh)=(5, 12, 11

4000 fom p°

pl

[ns]

1 nuiz.uyZe+ud | 25
4257+ 0.0
-34.38+ 0.00

3000 -

2000 -

1000 C = 29.09 [ps/ch]

1
50 100

TP delay

TVC(eb.eh)=(5, 12, 15

4000 [u.

[ns]

S nun g a9e+u4 [ 25
4225+ 0.0
p1 -34.83 + 0.00

3000

2000

1000

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5.13,0)

-1 nuz,ubbe+ud / 25
PO 4207+ 0.0
pl -35.94 + 0.00

TP delay [ns]

TVC(cbch) (5.13,4

T rnuiLaz1e+04 / 25
pO 4217+ 0.0
pl -36.58 + 0.00

L ¢ ]
% o
TP delay [ns]
TVC(c,b, ch) (5, 13 8

T zsze+u4 | 25
PD 4236+ 0.0
pl -35.62+ 0.00

TP delay [ns]

TVC(cbch) (5,13, 12

~1nuig445e+04 / 25
PO 4242+ 0.0
pl -36.02 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,13,1)

AT nuz,s83e+U4 [ 25
PO 4215+ 0.0
p1 -35.99 + 0.00

1
100

TP delay [ns]

TVC(c, bch) (5.13,5

~nun1.48e+04 [ 25
DU 4236+ 0.0
pL -36.74 + 0.00

1(;0
TP delay [ns]

TVC(c,b ch) (5, 13

T nue.z4/e+04 /25
DO 4249+ 0.0
pl -36.18 + 0.00

TP delay [ns]

TVC(cbch) (513,13

T bzbe+u4 [ 25
pO 4237+ 0.0
pl -35.66 + 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

4000

3000
2000

1000

0

4000

3000
2000

1000

1000

TVC(cbch) (5,13,2)

X~ 1z n3se+U4 [ 25
po 4203+ 0.0
pl -35.6 + 0.0

TP delay [ns]

TVC(cbch) (5.13,6

“ 1L 374e+04 [ 25
pO 4208+ 0.0
pl -35.18:+ 0.00

1
100

TP delay [ns]

TVC(cbch) (5, 13 10

T g 1z3e+04 / 25
DO 4283+ 0.0
-37.51+ 0.00

1
100

TP delay [ns]

TVC(cbch) (5.13, 14

© i 489e+U4 [ 25
PD 4247+ 0.0
pl -35.63 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (5,13,3)

C =28.98 [ps/ch]

A7 1 nuz,b3oe+u4 / 25
PO 4203+ 0.0
p1 -34.51+ 0.00

L
50

100

TP delay [ns]

TVC(c, bch) (5,137

-1 nui Zble+u4 / 25
PO 4221% 0.0
pL -35.75+ 0.00

1(;0
TP delay [ns]

TVC(cbch) (5, 13 1

T nuiz 1g3e+u4 / 25
pO 4273+ 0.0
pl -36.45+ 0.00

TP delay [ns]

TVC(cbch) (513,15

T bi14e+04 /25
pO 4252+ 0.0
pl -36.48 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (5, 14 0)

- 1 i 4ooe+04 [ 25
o pO 4209+ 0.0
p1 -36.1+ 0.0

TP delay [ns]

TVC(Cbch) (5, 14 4

T 11ze+04 /25
o, po 4209+ 0.0
pl -36.07 + 0.00

50 10'0
TP delay [ns]

TVC(cbch) (5, 14 8

- i Z1e+04 [ 25
- pD 4214+ 0.0
p1 -35.63+ 0.00

TP delay [ns]

TVC(Cbch) (5, 14 12

T rnuiLgsse+u4 / 25
= po 4244+ 0.0
pl -35.83+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (5,14,1)

P po

A1 L adse+Ud | 25
4204+ 0.0
pL -36.11 0.00

TP delay

TVC(c,b Ch) (5, 14 5

[ns]

- i 11ze+u4 [ 25
4200+ 0.0
pl -36.03 + 0.00

TP delay

TVC(c, bch) (5, 14 9

[ns]

T inun, b/e+ud [ 25
4236+ 0.0
pl -35.63 + 0.00

TP delay

TVC(c,b ch) (5, 14 13

e, pO
p1

[ns]

T inai so3e+ud [ 25
4250+ 0.0
-36.8 + 0.0

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(CbCh) (5, 14 2)

TVC(Cbch) (5,14,3)

- C = 28.07 [ps/ch

1
50 100

TP delay [ns]

TVC(Cbch) (5, 14 6

1000

T rnuiLzrve+ud [ 25
P pO 4228+ 0.0
[ Pl -35.62+ 0.00

A~ nu La1e+ud [ 25
B po 4234+ 0.0
pL -36.76+ 0.00

TP delay [ns]

TVC(c,b Ch) (5, 14 7

- nunL193e+04 / 25
- pO 4229+ 0.0
[ p1 -36.42+ 0.00

TP delay [ns]

TVC(e,b,ch)=(5, 14, 10

< inun 1 20e+04 /25
= po 4215+ 0.0
p1 -35.38 + 0.00

TP delay [ns]

TVC(e.beh)=(5, 14, 11

- 1 i ysae+u4 | 25
= pO 4254+ 0.0
[ pl -35.64 + 0.00

TP delay [ns]

TVC(CbCh) (5, 14 14

- 1 syse+u4 [ 25
- pD 4230+ 0.0
[ p1 -35.47 £ 0.00

<1 nui ogoe+u4 / 25
k. pO 4261+ 0.0
pl -36.04 + 0.00

TP delay [ns]

TVC(cbch) (5, 14 15

TP delay [ns]

- ssbe+ud [ 25
e, pO 4240+ 0.0
p1 -35.93 + 0.00

TP delay [ns]



TVC(CbCh) (5, 15 0)

4000 oy pO

-1 pzae+u4 [ 25
4248+ 0.0
-34.91+ 0.00

3000 -

2000 =

woor C = 28.65 [ps/ch]

1
50 100

TP delay

TVC(Cbch) (5, 15 4

4000 &

[ns]

- i bzye+ud / 25
4215+ 0.0
-36.47 + 0.00

pD

e PO
pL
3000 [~ ]
2000 = ]
1000 C 7]
1 1 "
50 100
TP delay [ns]
TVC(c,b, ch) (5, 15 8)
~ 1 nuiL pbze+u4 / 25
4000 [ 4226+ 0.0
p1 -37.34 + 0.00

3000

2000

1000

0

TP delay

TVC(Cbch) (5, 15 12

4000 o, po

[ns]

- rnuiL (39e+04 [ 25
4261+ 0.0
p1 -36.33+ 0.00

3000

2000

1000

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (5,15,1)

ke po

pl

AT 1nuiLsr1e+u4 /25
4233+ 0.0
-34.3+ 0.0

[ C =29.16 [ps/ch]

L

1
50 100

TP delay

TVC(c,b Ch) (5, 15 5

g

[ns]

- Be+ud [ 25
4223+ 0.0
pl -37.07 + 0.00

TP delay

TVC(c,b ch) (5, 15

= pO

[ns]

<1 nub.oY0e+u4 / 25
4237+ 0.0
p1 -35.73+ 0.00

TP delay

TVC(c,b ch) (5, 15 13

[ns]

Tonair33e+ud [ 25
4275+ 0.0
-36.81+ 0.00

PR R SR |
50 100

TP delay

[ns]

4000

3000

2000

4000

3000

2000

4000

3000
2000

1000

4000
3000
2000

1000

1000

TVC(CbCh) (5,15,2)

[ oase po

A~ 1 nui o41e+04 / 25
4258+ 0.0
p1 -36.65+ 0.00

TP delay

TVC(Cbch) (5, 15 6

1000

pO
p1

[ns]

T, /Q/e+u4 / 25
4230+ 0.0
-36.85+ 0.00

TP delay

TVC(e,b,ch)=(5, 15, 10

= o

[ns]

- rnug1re+u4 [ 25
4258+ 0.0
-35.8 + 0.0

TP delay

TVC(CbCh) (5, 15 14

[ns]

- nuipl7e+ud [ 25
4271% 0.0
p1 -36.16 + 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (5,15,3)

po
pL

A1 L odze+U4 ] 25
4269+ 0.0
-35.45+ 0.00

TP delay

TVC(c,b Ch) (5, 15 7

o, pO

[ns]

S nui s1/e+04 /25
4236+ 0.0
p1 -36.18+ 0.00

1
50 00

TP delay

TVC(e.beh)=(5, 15, 11

= pO

[ns]

T inuiz1z1e+u4 /25
4267+ 0.0
p1 -36.28 + 0.00

TP delay

TVC(cbch) (5, 15 15

[ns]

- i pule+ud [ 25
4257+ 0.0
p1 -35.54 + 0.00

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,0,0

AT inuiasie+ud /25
P s po 4152+ 0.0
p1 -34.09 + 0.00

TP delay [ns]

TVC(cbch) (6,0,4

- Lb1e+04 [ 25
o, pO 4172+ 0.0
-34.06 + 0.00

[ C =29.36 [ps/ch]

50 10‘0
TP delay [ns]

TVC(cbch) (6 0,8

©1nug.4z8e+04 | 25
[aese PD 4179+ 0.0
pl -36+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (6,0,12

T rnuizu4re+u4 /25
= po 4210+ 0.0
-35.35+ 0.00

PR B SRS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,0,1

A7 1 nuiLbooe+ud /25
Foaee po 4168+ 0.0
pl -35.56 + 0.00

TP delay [ns]

TVC(c,b ch) (6 0,5

- U bb3e+usd [ 25
P pO 4183+ 0.0
pL -35.58+ 0.00

TP delay [ns]

TVC(c,b ch) (6 0,9

-1 nuiy Ysae+ud /25
4199+ 0.0
-36.6 + 0.0

TP delay [ns]

TVC(cbch) (6,0,13

T nui gsae+ud [ 25
E pO 4206+ 0.0
p1 -35.7+ 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(cbch) (6,0,2)

- C = 28.60 [ps/ch

1
50 100

TP delay [ns]

TVC(cbch) (60,6

K™ 1 nui obze+u4 / 25
e po 4173+ 0.0
L pl -34.96 + 0.00

T rnu Z5ze+04 [ 25
P po 4200+ 0.0
[ pl -35.84+ 0.00

TP delay [ns]

TVC(cbch) (6, 0 10

1000

1 nuib.440e+04 | 25
F po 4217+ 0.0
- pl -35.89+ 0.00

TP delay [ns]

TVC(cbch) (6,0,14

T L ysze+u4 | 25
F. pD 4201+ 0.0
L pl -35.17 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,0,3

AT Lo roe+ud [ 25
P e po 4188+ 0.0
pl -35.63+ 0.00

TP delay [ns]

TVC(c,b ch) (6 0,7

=1 nui 4une+u4 / 25
o, pO 4206+ 0.0
pL -34.82+ 0.00

[ C =28.72 [ps/ch]

_L

50 100
TP delay [ns]

TVC(c,b ch) (6, O

Trnug, ssue+u4/25
£ po 4223+ 0.0
pl -35.71+ 0.00

TP delay [ns]

TVC(C, bch) (6,0,15

L
=]
)

-1 nuiLyyye+ud / 25
4217+ 0.0
p1 -35.99 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6.1,0)

Fo.. po

T p41e+04/25
4177+ 0.0
-36.95+ 0.00

pl

TP delay [ns]

TVC(cbch) (6.1,4

pO
pL

- rnuz,0zve+ud | 25
4180+ 0.0
-34.31+ 0.00

- o
TP delay [ns]
TVC(cbch) (6 18
== pD

- 1 nuiL pyoe+ud / 25
4202+ 0.0
-34.66 + 0.00

TP delay [ns]

TVC(cbch) (61,12

1 i 534e+04 /25
4201 0.0
-35.77+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(c,b ch) (6,1,

A

F... po

pl

1

nuibuLe+u4 /25
4197+ 0.0
-37.46 + 0.00

TP delay [ns]

TVC(c,b ch) (6 1,5

Cnun 2.3e+04 /25
4164+ 0.0
-35.33+ 0.00

TP delay [ns]

TVC(c,b ch) (6,1,9

X

nuiLUs/e+us / 25
4234+ 0.0
-34.9 + 0.0

1
100

50
TP delay [ns]
TVC(c,b Ch) (6, l 13)
- T rnuiLb3/e+u4 [ 25
= pO 4195+ 0.0
-35.53+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (6,1,2)

e, PO

pl

X~ 1L 553e+04 [ 25
4213+ 0.0
-37.93+ 0.00

1 LY
50 100
TP delay [ns]
TVC(cbch) (6 1,6

pD
pl

T 1nu,bage+04 | 25
4200+ 0.0
-36.13 + 0.00

TP delay [ns]

TVC(eb,oh)=(6, 1, 10

i

= PO
pl

3.0e+04 /25
4247+ 0.0
-35.59+ 0.00

TP delay [ns]

TVC(c,b Ch) (6, 1 14

-1 1 4ve+ud | 25
- pD 4103+ 0.0
X p1 -35.1% 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,1,3)

po

p1

AT 1 nuiL4yoe+u4 [ 25
4196 + 0.0
-37.46 + 0.00

TP delay [ns]

TVC(c,b ch) (6 1,7

e pO

pl

- 1nui /yle+u4 / 25
4193+ 0.0
-34.83+ 0.00

1
100

TP delay [ns]

TVC(c,b ch) (6, l

T 5/::e+u4/25
4257+ 0.0
-35.6 + 0.0

1
100

TP delay [ns]

TVC(c,b ch) (6, 1 15

71 nuiL buse+ud / 25
4201+ 0.0
-35.71+ 0.00

1
100

TP delay [ns]



TVC(cbch)(620) TVC(cbch)(621) TVC(cbch)(622) TVC(cbch)(623)
A™ 11w boze+ud [ 25 A~ 1L bzse+ud | 25 AT 1L b41e+04 /25 A~ 1 Buse+ud / 25
A000R po 4203+ 0.0 400, PO 4213+ 0.0 4000 [Foee, po 4212+ 0.0 4000, PO 4215+ 0.0
pl -37.5+ 0.0 pl -36.12+ 0.00 F pl -35.47 + 0.00 pl -36.55+ 0.00

- 3000

3000 7 3000 B 3000~

2000~ B 2000 . 2000

I 2000

w00~ C = 26.66 [pS/C 7] 1000

1000

wol C = 28.19 [ps/ch

0 | 1 _L 1 | 1 _L 1
50 100 50 100 50 100 50 100

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (62,4 TVC(cbch) (62,5 TVC(cbch) (62,6 TVC(c, bch) (6,27

- i bl1ze+ud / 25 “ 1 1bbe+u4 [ 25 Sl bbe+us4 [ 25 -1 nu Zgge+u4 [ 25
4000 pO 4217+ 0.0 4000 g, pO 4222+ 0.0 4000 [, pO 4238+ 0.0 4000 pO 4251% 0.0
pl 35951 0.00 Pl -36.23: 0.00 L Pl -35.82% 0.00 Pl -36.29 0.00
3000 - - 3000 - 3000 [~ - 3000 -1
2000 E 2000 - 2000 - 2000 -
h [ ~_ . 1000 g
1000F C ] 1000 w00~ C = 27.92 [pS/Ch ]
- [ - ]
- -
1 1 - 1 1 -
50 00 50 00
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(eh.ch=(6,2,8) TVC(eh.e=(6,2,9) TVC(eb.ch=(6, 2, 10) TVC(ebe)=(6, 2, 11)
© 1 nuiL ogge+u4 / 25 -1 b, guge+u4 / 25 T, (g/e+u4 / 25 -1 yube+u4 / 25
4000 f, pO 4223+ 0.0 4000 fae, pO 4267+ 0.0 4000 fome, DO 4266+ 0.0 4000 fs p0 4279+ 0.0
pl 3506+ 0.00 Pl -37.12%0.00 [ PL_ -35.96% 0.00 Pl -36.88+ 0.00

e 3000

3000 N 3000 - 3000 1

2000 - 2000 -1 2000 - 2000

1000 1000 1000 4 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (6,212 TVC(cbch) (6,213 TVC(cbch) (6,2 14 TVC(C, bch) (6,215

T gre+u4 [ 25 Tonan g rge+ud [ 25 T 1nuiLplae+ud [ 25 T naiuzye+ud [ 25
4000 pO 4215+ 0.0 4000 pO 4242+ 0.0 4000 PD 4227+ 0.0 4000 [, pO 4246+ 0.0
pl -34.96 + 0.00 pl -36.69+ 0.00 F pl -35.42+ 0.00 pl -35.85+ 0.00

e 3000

3000 1 3000 - 3000 -1

2000 ] 2000 2000 - 2000

1000 1000 1000 e 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,3,0

K™ 1 nui nsae+04 /25
Froesa po 4199+ 0.0
pl -36.78 + 0.00

TP delay [ns]

TVC(cbch) (63,4

- bh1e+ud / 25
b pO 4232+ 0.0
pl -37.55+ 0.00

TP delay [ns]

TVC(cbch) (6 3,8

T LY se+u4 | 25
- po 4238+ 0.0
pl -36.09 + 0.00

TP delay [ns]

TVC(cbch) (6,312

T L, rs4e+04 / 25
pO 4238+ 0.0
pl -35.78+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,31

X" 1L dzzerud | 25
Frase po 4204+ 0.0
pL -37.01% 0.00

TP delay [ns]

TVC(c,b ch) (6 3,5

-1 nui 4p1e+04 / 25
o po 4235+ 0.0
-36.5+ 0.0

50 1(;0
TP delay [ns]

TVC(c,b ch) (6 3,9

~ 1 nuis.ayse+ud | 25
- po 4256+ 0.0
p1 -35.54 £ 0.00

TP delay [ns]

TVC(cbch) (63,13

Tanai g/ /e+ud [ 25
= pO 4226+ 0.0
pl -35.14 + 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

1000

4000

2000

1000

TVC(cbch) (6,3,2)

A7 1nui rzoe+04 /25
Frcee, po 4217+ 0.0
- pl -36.83+ 0.00

3000

TP delay [ns]

TVC(cbch) (63,6

T b /e+u4 [ 25
- pO 4240+ 0.0
[ pl -36.22+ 0.00

3000

TP delay [ns]

TVC(cbch) (6, 3 10

T rnubge+u4 [ 25
__ DO 4285+ 0.0
L pl -35.98 + 0.00

3000

TP delay [ns]

TVC(cbch) (6,3 14

1 nuiLpsbe+u4 / 25
- pD 4229+ 0.0
[ p1 -36.23+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,3,3)

AT 1 nuiLsvse+ud [ 25
po 4219+ 0.0
pl -35.89+ 0.00

TP delay [ns]

TVC(c,b ch) (6 3,7

S nui /11e+04 / 25
- pO 4250+ 0.0
pL -35.79+ 0.00

TP delay [ns]

TVC(c,b ch) (6, 3

T zz::e+u4/25
- pO 4264+ 0.0
pl -35.78 + 0.00

TP delay [ns]

TVC(C, bch) (63,15

T nai rsae+u4 [ 25
e po 4245+ 0.0
p1 -36.47 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,4,0

A Huu:ueﬂm/zs
.. po 4201+ 0.0
pl -36.06 + 0.00

TP delay [ns]

TVC(cbch) (64,4

- i zgle+ud / 25
e, pO 4189+ 0.0
p1 -34.11 % 0.00

[ C =29.32 [ps/ch]

50 10‘0
TP delay [ns]

TVC(cbch) (6 4,8

T2y re+u4 | 25
4192+ 0.0
-35.6+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (64,12

T rnuiLg3oe+u4 / 25
4225+ 0.0
-33.6 + 0.0

[C=29.76 [ps/ch] ™. ]

PR B SRS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,4,1

XL 6a1e+Ud | 25
. po 4180+ 0.0
pL -35.54 £ 0.00

TP delay [ns]

TVC(c,b ch) (6 4,5

-1 4p9e+04 / 25
- pO 4188+ 0.0
pL -34.89+ 0.00

TP delay [ns]

TVC(c,b ch) (6 4,9

. Huwuze+u4/25
= po 4212+ 0.0
pl -35.23 + 0.00

TP delay [ns]

TVC(cbch) (64,13

Tinaizyle+ud [ 25
= pO 4224+ 0.0
pl -34.74 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000

2000

1000

TVC(cbch) (6,4,2)

K™ 1nuiLoure+ud /25
_- po 4194+ 0.0
o pl -36.16+ 0.00

3000

TP delay [ns]

TVC(cbch) (64,6

- 1 nuiL 4p8e+04 / 25
e pO 4192+ 0.0
[ pl -35.35+ 0.00

TP delay [ns]

TVC(cbch) (6, 4 10

Tz 1roe+u4 [ 25
P DO 4244+ 0.0
- pl -34.88 + 0.00

TP delay [ns]

TVC(cbch) (64,14

T 1 3ye+ud /25
__ pD 4232+ 0.0
L pl -33.75+ 0.00

- C = 2063 [ps/ch] ™. 1

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,4,3

AT rnuiLbzre+ud [ 25
.. po 4209+ 0.0
pl -35.78 + 0.00

TP delay [ns]

TVC(c,b ch) (6 4,7

“ 1 nuan 1.b4e+04 [ 25
- pO 4204+ 0.0
p1 -34.93+ 0.00

TP delay [ns]

TVC(c,b ch) (6, 4

SRR mze+u4/25
== 4229+ 0.0
-33.89+ 0.00

[ C =29.50 [ps/ch] ]

1
50 100

TP delay [ns]

TVC(C, bch) (64,15

Tonan g 3oe+ud [ 25
= po 4228+ 0.0
p1 -34.62 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,5,0

A7 1 nuisupe+u4 / 25
Focea po 4206+ 0.0
pl -35.81+ 0.00

TP delay [ns]

TVC(cbch) (6,54

-1z 489e+04 [ 25
Fome, pO 4201+ 0.0
p1 -34.24+ 0.00

[ C =29.20 [ps/ch]

50 10‘0
TP delay [ns]

TVC(cbch) (6 5,8

T rae+u4 /25
= po 4220+ 0.0
pl -35.83+ 0.00

TP delay [ns]

TVC(cbch) (6,5,12

Ty rye+ud /25
= po 4230+ 0.0
pl -35.71+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,51

AT 1L soye+ud [ 25
Fraee po 4217+ 0.0
pl -35.75+ 0.00

TP delay [ns]

TVC(c,b ch) (6 55

- 1nu.413e+04 / 25
. 4198+ 0.0
-34.07 + 0.00

[ C =29.35 [ps/ch] 7

50 1(;0
TP delay [ns]

TVC(c,b ch) (6 59

~ 1 nug sz8e+u4 / 25
4217+ 0.0
-35.3+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (6,5,13

T 1 nui gbae+ud / 25
= pO 4252+ 0.0
pl -36.17 + 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000
3000
2000

1000

TVC(cbch) (6,5,2)

TP delay [ns]

TVC(cbch) (6,56

K™ 1 nuioble+ud /25
_l_ po 4229+ 0.0
o pl -36.55+ 0.00

3000

Trnun z2.32e+04 1 25
fo, pO 4213+ 0.0
[ pl -34.21% 0.00

- C =29.23 [ps/ch]

50 10‘0
TP delay [ns]

TVC(cbch) (6, 5 10

1000

T z8/e+04 /25
- po 4246+ 0.0
L pl -35.72+ 0.00

TP delay [ns]

TVC(cbch) (6,5,14

~ i, rose+u4 / 25
4225+ 0.0
-35.2+ 0.0

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,5,3

x- 1 i Sae+ud | 25
oo po 4214+ 0.0
pL -34.9+ 0.0

TP delay [ns]

TVC(c,b ch) (6 57

- 1nu 1yle+u4 / 25
- pO 4215+ 0.0
pL -35.15+ 0.00

TP delay [ns]

TVC(c,b ch) (6, 5

Ty we+u4/25
4251% 0.0
-35.6 + 0.0

TP delay [ns]

TVC(C, bch) (6,5,15

T nui use+u4 25
= pO 4239+ 0.0
p1 -36.14+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,6,0)

K™ 1 nuioole+ud /25
po 4201+ 0.0
pl -35.45+ 0.00

TP delay [ns]

TVC(cbch) (6.6,4

- i 1s8e+u4 / 25
e, pO 4186+ 0.0
pl -35.05+ 0.00

e 4
% T
TP delay [ns]
TVC(c,b ch) (6, 6 8

T L 4zoe+04 [ 25
po 4220+ 0.0
pl -35.67 + 0.00

TP delay [ns]

TVC(cbch) (6,6,12

~rnuiL4zoe+u4 / 25
pO 4238+ 0.0
pl -35.82+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,6,1

AT 1 nuiLos/e+u4 [ 25
- po 4211+ 0.0
pl -35.86 + 0.00

TP delay [ns]

TVC(c,b ch) (6 6,5

-1 nui 3v8e+u4 [ 25
pO 4211 0.0
pL -36.34 + 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (6 6,9

T nuy.sz2ze+04 25
po 4251+ 0.0
-34.91+ 0.00

TP delay [ns]

TVC(cbch) (6,6,13

T 1 nuiLa4ye+ud [ 25
pO 4230+ 0.0
pl -35.66 + 0.00

TP delay [ns]

4000

3000
2000

1000

4000
3000
2000

1000

4000

3000

2000

4000
3000
2000

1000

TVC(cbch) (6,6,2)

T rnun Looe+ud /25
pO 4206+ 0.0
p1 -35.49 + 0.00

TP delay [ns]

TVC(cbch) (66,6

- rnurzgle+ud [ 25
4198+ 0.0
-35.51+ 0.00

10‘0
TP delay [ns]

TVC(cbch) (6, 6 10

1000

~1nuz1e5e+04 / 25
po 4262+ 0.0
pl -35.98 + 0.00

TP delay [ns]

TVC(cbch) (6,6,14

T rnuiL4roe+04 / 25
4227+ 0.0
-35.51+ 0.00

P
100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,6,3)

T 1ose+ud /25
pO 4219+ 0.0
pl -35.45+ 0.00

C =28.21 [ps/ch

L
50 100

TP delay [ns]

TVC(c,b ch) (6 6,7

-1 nui blee+u4d / 25
pO 4211£ 0.0
p1 -35.94+ 0.00

TVC(c,b ch) (6, 6

50 1(;0
TP delay [ns]

T, /34e+u4/25
pO 4259+ 0.0
-35.2+ 0.0

TP delay [ns]

TVC(C, bch) (6,6,15

Tonan L zge+ud | 25
po 4242+ 0.0
p1 -36.2+ 0.0

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,7,0

X~ 1w so1e+U4 /25

F... po 4190+ 0.0
p1 -35.5+ 0.0

TP delay [ns]

TVC(cbch) (67,4

- rnuiL419e+u4 / 25
E pO 4202+ 0.0
p1 -34.75+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (6 7,8

Tz 30e+04 /25
- pO 4211+ 0.0
pl -36+ 0.0

TP delay [ns]

TVC(cbch) (6,7,12

T L pase+u4 / 25
= po 4258+ 0.0
pl -36.46 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,7,1

AT rmuLorze+ud [ 25
s po 4214+ 0.0
pl -36.72+ 0.00

TP delay [ns]

TVC(c,b ch) (6 7,5

-1 nui Zole+u4d / 25
Fowe pO 4214+ 0.0
pL -35.33+ 0.00

TP delay [ns]

TVC(c,b ch) (6 7,9

Tinuy. 11 /e+ud [ 25
= pO 4231+ 0.0
pl -36.47 + 0.00

TP delay [ns]

TVC(cbch) (67,13

Tinai3/e+ud [ 25
= pO 4252+ 0.0
pl -37.23+ 0.00

TP delay [ns]

4000

3000

2000

4000

3000

2000

1000

4000

3000

2000

4000

3000

2000

1000

TVC(cbch) (6,7,2)

e, po

AT 1nuiayre+ud /25
4220+ 0.0

TP delay [ns]

TVC(cbch) (67,6

pl -36.27 + 0.00

1L 4n4e+04 / 25
- pO 4221+ 0.0
- pl -35.04 + 0.00

TP delay [ns]

TVC(cbch) (6, 7 10

1000

0

Tzl (e+u4 [ 25
. po 4255+ 0.0
- pl -37.12+ 0.00

TP delay [ns]

TVC(cbch) (67,14

1000

T 1nuiLpsse+u4 / 25
- pD 4256+ 0.0
L pl -36.54 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,7,3

AT 1 nuiLssoe+ud [ 25
=3 po 4219+ 0.0
pl -35.55+ 0.00

TP delay [ns]

TVC(c,b ch) (6 7,7

~1nui4p/e+04 / 25
- pO 4221+ 0.0
p1 -34.52:+ 0.00

[ C =28.97 [ps/ch]

_L

50 1(;0
TP delay [ns]

TVC(c,b ch) (6, 7

T a/4e+u4/25
= po 4265+ 0.0
pl -37.52+ 0.00

TP delay [ns]

TVC(C, bch) (67,15

T nui pzze+ud [ 25
- pO 4266+ 0.0
p1 -36.76 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,8,0)

Srna Zzaerud 25
- pO 4186 + 0.0
p1 -34.96+ 0.00

TP delay [ns]

TVC(cbch) (6,84

T L e /e+ud [ 25
e, pO 4272+ 0.0
pl -38.96+ 0.00

50 10‘0 -
TP delay [ns]

TVC(cbch) (6 8,8

T i 145e+04 / 25
4215+ 0.0
-35.1+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (6,812

T 14ze+04 /25
= po 4225+ 0.0
pl -35.87 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,81

AT 1 nuzynse+ud [ 25

Foase po 4184+ 0.0
pL -34.81% 0.00

1 1
50 100

TP delay [ns]

TVC(c,b ch) (6 8,5

L pO

1 nuz.guze+ud | 25

pl -37.76 + 0.00

4255+ 0.0

TP delay [ns]

TVC(c,b ch) (6 8,9

1nuz.2y1e+ud [ 25

e, po 4225+ 0.0
p1 -34.62 % 0.00

[ C =28.89 [ps/ch] ]

1
50 100

TP delay [ns]

TVC(cbch) (6,813

Srna 71538725
e, po 4236+ 0.1
pl -36.18+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

TVC(cbch) (6,8,2)

T zoze+ud /25
_l'_ pO 4208+ 0.0
- pl -35.09 + 0.00

- C = 28.50 [ps/ch 1

o+ o

TP delay [ns]
TVC(cbch) (6.8,6)
“rnurbr1e+u4 [ 25

- pO 4266:‘
L pl -38.24+ 0.00
[C=26.15[ps/c ]

2 s

TP delay [ns]

TVC(cbch) (6, 8 10

- o

1 nuiL ( 74e+04 [ 25

pl -35.31+ 0.00

4257+ 0.0

TP delay [ns]

TVC(cbch) (6,814

TrnuiLgrse+u4 [ 25
. pD 4225+ 0.0
L pl -34.74 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,8,3)

E po

AT rnuanz ze+u4 1 25
4211+ 0.0
-35.81+ 0.00

p1

1
100

TP delay [ns]

TVC(c,b ch) (6 8,7

- pO

-1 U Ubze+u4 / 25
4286+ 0.0
-38+ 0.0

1
100

TP delay [ns]

TVC(c,b ch) (6, 8

= pO

T sme+u4/25
4263+ 0.0
-35.08 + 0.00

TP delay [ns]

TVC(C, bch) (6,815

T nuiagse+ud [ 25
4234+ 0.0
-35.19+ 0.00

1
100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,9,0

A7 1 nun osse+ud / 25
Pocse po 4217+ 0.0
pl -36.66 + 0.00

TP delay [ns]

TVC(cbch) (69,4

- i 33ze+04 / 25
e pO 4240+ 0.0
pl -35.25+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (6 9,8

1z 1uve+u4 / 25
- po 4223+ 0.0
pl -35.13+ 0.00

TP delay [ns]

TVC(cbch) (6,9,12

T 1r4e+04 /25
= po 4240+ 0.0
-34.17 + 0.00

[ C =29.27 [ps/ch]

PR B SRS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,9,1

x- 1 L dyserud | 25
Fraee po 4222+ 0.0
pL -35.87+ 0.00

TP delay [ns]

TVC(c,b ch) (6 9,5

-1 nui415e+04 / 25
pO 4253+ 0.0
pL -35.88+ 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (6 9,9

-1 nug.pube+u4 / 25
- po 4236+ 0.0
pl -35.98 + 0.00

TP delay [ns]

TVC(cbch) (6,9,13

T inai z4se+ud [ 25
= pO 4237+ 0.0
pl -35.34+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000
2000

1000

4000

3000

2000

4000

3000

2000

TVC(cbch) (6,9,2)

TP delay [ns]

TVC(cbch) (69,6

AT g rze+04 /25
_-_ po 4240+ 0.0
o pl -37.73+ 0.00

3000

- rnunL413e+04 / 25
- po 4261% 0.0
[ 358+ 0.0

TP delay [ns]

TVC(cbch) (6, 9 10

1000

1 nuzpgyve+ud | 25
-, po 4263+ 0.0
- pl -36.23 + 0.00

TP delay [ns]

TVC(cbch) (6,9,14

1000

T rnuiLg1se+u4 /25
. pD 4252+ 0.0
L pl -36.72+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,9,3

AT 1 nuiLz3ae+u4 [ 25
e po 4244+ 0.0
pl -37.19+ 0.00

TP delay [ns]

TVC(c,b ch) (6 9,7

Crnan 15z2e+04 [ 25
- pO 4278+ 0.0
p1 -36.84 + 0.00

50 1(;0
TP delay [ns]

TVC(c,b ch) (6, 9

T 9/9e+u4/25
- pO 4274+ 0.0
pl -36.33+ 0.00

TP delay [ns]

TVC(C, bch) (69,15

T nai suse+ud / 25
- pO 4261+ 0.0
p1 -36.66 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (6,10,0)

“rnaiLb14e+U4 /25
PO 4208+ 0.0
pl -35.75+ 0.00

TP delay [ns]

TVC(cbch) (6.10,4

T b r1e+u4 /25
ease pO 4217+ 0.0
pl -36.86 + 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (6, 10 8

T 1nuiL43oe+u4 / 25
- PD 4222+ 0.0
pl -37.04 + 0.00

TP delay [ns]

TVC(cbch) (6,10, 12

T psze+ud [ 25
- PO 4231+ 0.0
pl -35.47 + 0.00

TP delay [ns]

TVC(cbch) (6,10,1)

AT 1 nuLolye+ud [ 25
4210+ 0.0
-36.2+ 0.0

pl

4000 Fucen )

3000

2000

1000

TP delay

TVC(c, bch) (6.10,5

4000 [ pO

pl

[ns]

“nun1.50e+04 / 25
4221+ 0.0
-36.35+ 0.00

3000 |-

2000 -

1000 [~ C

50 1(;0
TP delay

TVC(c,b ch) (6, 10

T

4000 e

pO

[ns]

.y re+04 125
4226+ 0.0
pl -36.04 + 0.00

3000

2000

1000

TP delay

TVC(cbch) (610,13

4000 [, pO

p1

[ns]

T 1 o5e+u4 /25
4232+ 0.0
-356.5+ 0.0

3000

2000

1000

TP delay

[ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(cbch) (6,10,2)

TP delay [ns]

TVC(cbch) (6.10,6

X~ 1 i bose+U4 [ 25
e, po 4222+ 0.0
F pl -36.41+ 0.00

3000

~nuiL bz3e+u4 [ 25
- pO 4230+ 0.0
3 PL_ -36.95% 0.00

TP delay [ns]

TVC(cbch) (6, 10 10

1000

0

© 1 nuz,yse+u4 / 25
- DO 4252+ 0.0
3 Pl -37.07%0.00

TP delay [ns]

TVC(cbch) (6.10,14

~ i o4e+04 [ 25
- PD 4234+ 0.0
F pl -35.5+ 0.0

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,10,3)

A7 1 nuiLbobe+ud /25
4216+ 0.0
p1 -37.13+ 0.00

po

TP delay

TVC(c, bch) (6,10, 7

e, po
pl

[ns]

= 11U bbbe+u4 / 25
4234+ 0.0
-36.47 + 0.00

50 1(;0
TP delay

TVC(cbch) (6, 10 1

[ns]

T naiL ry3e+u4 [ 25
4265+ 0.0
pl -37.23+ 0.00

TP delay

TVC(cbch) (6,10,15

[ns]

-1 bybe+u4 / 25
4241 0.0
pl -35.74 + 0.00

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (6,11,0)

K™ 1 nuiayze+u4 /25
oeea po 4226+ 0.0
pl -35.32 0.00

TP delay [ns]

TVC(cbch) (6,11,4

- 1L Z61e+04 | 25
P e, pO 4183+ 0.0
pl -36.27 % 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (6, 11 8

- rnuzzie+ud | 25
- po 4232+ 0.0
pl -35.96+ 0.00

TP delay [ns]

TVC(cbch) (6,11, 12

X~ 1 403e+04 / 25
- po 4254+ 0.0
pl -35.02+ 0.00

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

TVC(Cbch) (6,11,1)

[ C =28.94 [ps/ch]

K™ 1 nuaiL4roe+ud [ 25
" po 4224+ 0.0
pl -34.55+ 0.00

1 1
50 100

TP delay [ns]

TVC(cbch) (6,11,5

- nui z13e+04 / 25
[, DO 4200+ 0.0
pl -37.29 % 0.00

TP delay [ns]

TVC(eh.ch)=(6, 11, 9

[ C =28.95 [ps/ch] ]

Tinunp.1/e+u4 /25
= 4220+ 0.0
-34.55 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (611,13

T nai suze+ud 25
- pO 4254+ 0.0
p1 -34.8+ 0.0

TP delay

[ns]

1o C = 28.73 [ps/ch]

PR U S S |
50 100

TP delay

[ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

4000

3000
2000

1000

TVC(CbCh) (6, 11 2)

~rnuiLpoze+ud [ 25
-_ pO 4241+ 0.0
- pl -35.88+ 0.00

3000

TP delay [ns]

TVC(cbch) (6,116

- nunL313e+04 / 25
- pO 4207+ 0.0
3 pl -37.02 0.00

TP delay [ns]

TVC(c,b, ch) (6,11, 10

1000

X~ 1 nuig.414e+04 /25
. po 4252+ 0.0
- pl -35.49+ 0.00

TP delay [ns]

TVC(cbch) (611,14

T gr1e+u4 /25
- pD 4270+ 0.0
L pl -35.84 + 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (6,11,3)

A~ 1 nuiLbyae+U4 [ 25
== po 4248+ 0.0
pl -36.81+ 0.00

TP delay [ns]

TVC(cbch) (6,11,7

-1 nui r4be+04 / 25
- pO 4215+ 0.0
pL -36.01% 0.00

50 1(;0
TP delay [ns]

TVC(e.b.eh)=(6, 11, 11

T nuiz.usse+ud [ 25
- po 4255+ 0.0
pl -35.71+ 0.00

TP delay [ns]

TVC(cbch) (611,15

T nui s45e+04 / 25
4269+ 0.0
-35.51+ 0.00

TP delay

[ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (6, 12 0)

T zuse+u4 [ 25
Frcea pO 4184+ 0.0
p1 34,59+ 0.00

TP delay [ns]

TVC(cbch) (6,124

-1 nuiLap3e+04 / 25
k. pO 4235+ 0.0
37.8+ 0.0

50 10‘0
TP delay [ns]

TVC(cbch) (6, 12 8

T nuiLg1se+u4 / 25
= po 4199+ 0.0
p1 -35.24 + 0.00

TP delay [ns]

TVC(cbch) (6,12, 12

T i ssve+u4 | 25
e po 4229+ 0.0
pl -34.85+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 [,

3000

2000

1000

TVC(chh) (6, 12 1)

Srna T ze62/25
F... pO 4195+ 0.0
Pl 3375+ 0.00

[ C =29.63 [ps/ch]

1 1
50 100

TP delay [ns]

TVC(cbch) (6,125

=1 nui 38be+u4 / 25
Fomes, po 4229+ 0.0
pL -36.99 + 0.00

TP delay [ns]

TVC(Ebeh)=(6, 12,9

~ 1 nugpuse+ud / 25
= po 4226+ 0.0
pl -35.11 + 0.00

TP delay [ns]

TVC(cbch) (612,13

~ 1 nuiLquye+ud 25
pO 4225+ 0.0
pl -34.99 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000
2000

1000

4000

3000
2000

1000

4000

3000

2000

1000

TVC(CbCh) (6,12,2)

- C = 29.61 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (6.12,6

K™ 1nuiuble+ud /25
_l'_ po 4192+ 0.0
- pl -33.77 + 0.00

- rnunL3/9e+04 [ 25
F po 4223+ 0.0
[ pl -36.98+ 0.00

TP delay [ns]

TVC(cbch) (6, 12 10

T, rzze+04 | 25
- po 4243+ 0.0
L pl -34.92 + 0.00

TP delay [ns]

TVC(cbch) (6,12, 14

T rnuiLg1ze+04 /25
__ pD 4235+ 0.0
L pl -34.44 + 0.00

- C = 29.04 [ps/ch]

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (6,12,3)

AT 1 nuiLzsoe+ud [ 25
F po 4218+ 0.0
pl -35.7+ 0.0

TP delay [ns]

TVC(c, bch) (6,127

-1 i bgbe+u4 / 25
- pO 4261+ 0.0
-38.4+ 0.0

1=
50 100
TP delay [ns]

TVC(eh.eh)=(6, 12, 11

-1 nuiL ozZoe+ud / 25
- pO 4265+ 0.0
-36.15+ 0.00

TP delay [ns]

TVC(cbch) (612,15

Tonui s/e+u4 [ 25
= po 4213+ 0.0
-34.45+ 0.00

[ C=29.03 [ps/ch]

PR I S S |
50 100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 &

3000

2000

1000

TVC(CbCh) (6, 13 0)

e 5o

pl

© 1L pyve+u4 / 25
4202+ 0.0
-36.9+ 0.0

TP delay

TVC(Cbch) (6, 13 4

[ns]

=i bu3e+u4 / 25
4164+ 0.0
-35.6+ 0.0

50 10'0
TP delay

TVC(eb,oh)=(6, 13,8

Fruse pO

[ns]

T g, ruve+u4 / 25
4200+ 0.0
p1 -34.89+ 0.00

TP delay

TVC(c,b ch) (6, 13 12

[ns]

- 1 nuiL ysye+u4 [ 25
4211+ 0.0
-35.26 + 0.00

L n n n n 1
50 100

TP delay

[ns]

TVC(chh) (6, 13 1)

4000 fmr,

3000

2000

1000

- i odve+ud /25
- pO 4211+ 0.0
pL -36.9+ 0.0

TP delay [ns]

TVC(c,b Ch) (6, 13 5

4000

3000 |-

2000

1000 [~

- 1 nuiLb0se+u4 25
e DU 4167+ 0.0
pl -36.04 + 0.00

TP delay [ns]

TVC(eb.oh)=(6, 13,9

4000 [,

3000

2000

1000

T nuy.BU/e+u4 [ 25
4236+ 0.0
-35.4+ 0.0

1
50 00

TP delay [ns]

TVC(c,b ch) (6, 13 13

S nug, 142e+\)4/25
4000 2184+ 0.0
-34.36 + 0.00
3000 [ 1
2000 [~ 71
w00 C =29.10 [pS/Ch] 1
-
-
PR R S R
B 00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

TVC(c,b,ch)=( 6, 13, 2)

ur

- o

X1 2352125
4211+ 0.0
p1 -36.46+ 0.00

TP delay

TVC(c,b ch) (6, 13 6

P, PO
p1

[ns]

T i b2ze+04 [ 25
4171+ 0.0
-35.56 + 0.00

TP delay

TVC(cbch) (6, 13 10

[ns]

RRALEDS z:,)e+u4/25
4000 F-. pO 4218+ 0.0
[ pL -34.05 + 0.00
3000 L ]
20001 .
wor C =29.37 [ps/chl ™, 1]
1 1 -
b 50 100
TP delay [ns]

4000

3000
2000

1000

TVC(c,b Ch) (6, 13 14

F. "

- 1 i yy3e+ud [ 25
4203+ 0.0
p1 -34.94 £ 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (6,13,3)

A~ 1 nuiL18Ye+U4 [ 25
P.... po 4215+ 0.0
pL -36.49:+ 0.00

TP delay [ns]

TVC(c,b Ch) (6, 13 7

Snan 1 /oe+u4 /25
Fueee po 4196+ 0.0
p1 -35.79+ 0.00

50 100
TP delay [ns]

TVC(Cbch) (6, 13 11

~ 1 nuiz zgye+ud [ 25
- po 4237+ 0.0
p1 -36.27 + 0.00

TP delay [ns]

TVC(cbch) (6, 13 15

Sy 3e+ud [ 25
E pO 4203+ 0.0
p1 -35.39 + 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(CbCh) (6, 14 0)

T rnuiLzi4e+u4 /25
.. pO 4201+ 0.0
pl -35.96 + 0.00

TP delay [ns]

TVC(cbch) (6,144

- 1L 119e+04 / 25
- pO 4204+ 0.0
p1 -35.45+ 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (6, 14 8

[ C =29.44 [ps/ch]

T L, ry4e+04 / 25
= po 4182+ 0.0
-33.96 + 0.00

1
50 100

TP delay [ns]

TVC(cbch) (6,14, 12

T szze+04 | 25
== po 4211+ 0.0
pl -35.32+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (6, 14 1)

S 7 oysd /25
e pO 4201% 0.0
p1 -35.63 £ 0.00

TP delay [ns]

TVC(c, bch) (6.14,5

-1 nu zgze+u4 [ 25
- pO 4209+ 0.0
pL -36.63+ 0.00

TP delay [ns]

TVC(ebeh)=(6, 14,9

Tinugn/1e+ud /25
= po 4205+ 0.0
-34.2+ 0.0

[ C =29.24 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (614,13

T nui sove+ud / 25
- pO 4194+ 0.0
pl -35.98 + 0.00

TP delay [ns]

TVC(CbCh) (6, 14 2)

4000

2000

1000

T ir4e+04 /25
=, pO 4205+ 0.0
o pl -359+ 0.0

3000

TP delay [ns]

TVC(cbch) (6.14,6

4000

3000

2000

1000

-1 nurzb3e+u4 [ 25
- pO 4222+ 0.0
[ pl -36.78 0.00

TP delay [ns]

TVC(cbch) (6, 14 10

4000

3000

2000

1000

© i, r19e+04 / 25
==, po 4212+ 0.0
o pl -34.15+ 0.00

- C = 29.28 [ps/ch]

0

1
50 100

TP delay [ns]

TVC(cbch) (6. 14,14

4000

3000
2000

1000

T rnuiLgzie+u4 /25
= pD 4215+ 0.0
L p1 -36.45 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(Cbch) (6,14,3)

AT 1L 130e+u4 [ 25
e, po 4224+ 0.0
pl -35.63+ 0.00

TP delay [ns]

TVC(c, bch) (6,147

- /i alae+ud [ 25
- pO 4241+ 0.0
p1 -37.04+ 0.00

50 100
TP delay [ns]

TVC(ehch)=(6, 14, 11

1 nuiL syse+u4 / 25
= po 4218+ 0.0
p1 -34.89+ 0.00

TP delay [ns]

TVC(cbch) (614,15

T nui sove+ud / 25
= pO 4205+ 0.0
p1 -35.76 + 0.00

TP delay [ns]



TVC(CbCh) (6, 15 0)

4000

3000

2000

1000

- 1 i s4se+u4 [ 25
- pO 4150+ 0.0
p1 -36.13+ 0.00

TP delay [ns]

TVC(Cbch) (6, 15 4

4000

3000

2000

1000

- i 310e+u4 / 25
4172+ 0.0
-34.51+ 0.00

50 10'0
TP delay [ns]

TVC(cbch) (6, 15 8

4000

3000

2000

1000

1 nuiL4npe+U4 / 25
o pO 4212+ 0.0
-34.01+ 0.00

[ C =29.40 [ps/ch]

0

1
50 00

TP delay [ns]

TVC(c,b ch) (6, 15 12

4000

3000

2000

1000

Ty rae+ud /25
b po 4287+ 0.0
pl -37.28+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(chh) (6, 15 1)

- bhre+ud | 25
Fe pO 4152+ 0.0
pL -35.09 & 0.00

TP delay [ns]

TVC(c,b Ch) (6, 15 5

- 11U 404e+04 / 25
E pO 4184+ 0.0
-34.07+ 0.00

[ C =29.36 [ps/ch]

50 150
TP delay [ns]

TVC(c,b ch) (6, 15

T inuzgs/e+ud [ 25
4229+ 0.0
-34.56 + 0.00

[ C =28.94 [ps/ch] ]

1
50 00

TP delay [ns]

TVC(c,b ch) (6, 15 13

~ 1 nuiL pbye+ud / 25
e pO 4280+ 0.0
-36.91+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000
2000

1000

TVC(CbCh) (6,15,2)

A~ nui a8oe+04 / 25
Fe po 4158+ 0.0
L pl -35.31+ 0.00

3000

TP delay [ns]

TVC(c,b ch) (6, 15 6

1 nuiL408e+04 / 25
P pO 4195+ 0.0
L pl -34.97 + 0.00

- C = 28.60 [ps/ch

50 10'0
TP delay [ns]

TVC(e,b,ch)=(6, 15, 10

- L bsYe+ua 25
- pO 4253+ 0.0
r pL -34.71+ 0.00

- C = 28.81 [ps/ch]

1
50 100

TP delay [ns]

TVC(c,b Ch) (6, 15 14

~uan 1o5e+ud [ 25
b pD 4279+ 0.0
r p1 -36.34 £ 0.00

TP delay [ns]

TVC(Cbch) (6,15,3)

4000 po

AT 1 nuiL4/9e+u4 [ 25
4176+ 0.0
p1 -36.09 + 0.00

3000

2000

1000

TP delay [ns]

TVC(c,b Ch) (6, 15 7

4000 &

pl

= 1 nui oe+ud / 25
po 4200+ 0.0
-33.87 + 0.00

3000

2000 -

% C = 29.52 [ps/ch]

1
50 00

TP delay [ns]

TVC(e.beh)=(6, 15, 11

4000 e pO

pl

-1 nui 3uge+u4 / 25
4243+ 0.0
-34.09 + 0.00

3000 -

2000 -

1o00F C = 29.33 [ps/ch]

1
50 00

TP delay [ns]

TVC(cbch) (6, 15 15

4000 pm, PO

=i vobe+ud [ 25
4286+ 0.0
p1 -36.86 + 0.00

3000

2000

1000

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,0,0)

e, po

pl

K™ 1 nuioyie+ud /25
4195+ 0.0
-36.6+ 0.0

TP delay [ns]

TVC(cbch) (70,4

T rnuiL4/4e+04 [ 25
4178+ 0.0
-34.42 + 0.00

TP delay [ns]

TVC(cbch) (7 0,8

©nuiLysve+u4 / 25
po 4211+ 0.0
pl -35.65+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (7,0,12

T g qoze+04 / 25
= po 4240+ 0.0
pl -37.83+ 0.00

50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,0,1)

r13e+U4 /25
4196+ 0.0
-36.57 + 0.00

A,

e, po

pl

TP delay [ns]

TVC(c,b ch) (7 0,5

“nui b rye+u4d [ 25
4194+ 0.0
-35.15+ 0.00

TP delay [ns]

TVC(c,b ch) (7 0,9

Tnan4.42e+04 25
- pO 4214+ 0.0
pl -36.36 + 0.00

TP delay [ns]

TVC(cbch) (7,0,13

T inui 148e+ud / 25
- pO 4234+ 0.0
pl -37.29+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000

3000

2000

1000

4000

2000

4000

2000

1000

TVC(cbch) (7,0,2)

P, po

K™ 1 nui rove+U4 / 25
4206+ 0.0
-36.5+ 0.0

pl

TP delay

TVC(cbch) (70,6

pD

p1

[ns]

=1 nurLbpYe+u4 [ 25
4187+ 0.0
-34.57 + 0.00

- C = 28.93 [ps/ch]

50

1
100

TP delay [ns]

TVC(cbch) (7, 0 10

1000

0

Trnuz3e+u4 | 25
- po 4251+ 0.0
- pl -36.76 + 0.00

3000

TP delay [ns]

TVC(cbch) (7,0,14

T nug.gose+ud | 25
_.* pD 4240+ 0.0
[ p1 -38.22+ 0.00

3000

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,0,3)

E po

p1

AT 1L rsoe+u4 [ 25
4198+ 0.0
-36.19+ 0.00

TVC(c,b ch) (7 0,7

pO
pl

1
100

TP delay [ns]

- nui /z24e+04 [ 25
4212+ 0.0
-35.02+ 0.00

1
100

TP delay [ns]

TVC(c,b ch) (7, O

T au=e+u4/25
= pO 4248+ 0.0
pl -36.11 + 0.00

TP delay [ns]

TVC(C, bch) (7,0,15

T inuiszsze+ud [ 25
e po 4248+ 0.0
pl -37.44+ 0.00

TP delay [ns]



TVC(cbch)(710) TVC(cbch)(?ll) TVC(cbch)(?lZ) TVC(cbch)(713)
A~ 11 byve+ud / 25 A~ 1L Bare+ud | 25 AT 1L 1ie+ud [ 25 A~ 1 Bube+us [/ 25

4000 =— PO 4178+ 0.0 4000 =— po 4193+ 0.0 4000 _=— po 4194+ 0.0 4000 e, po 4224+ 0.0
pl -35.72+ 0.00 pl -36.58 + 0.00 r pl -36.71+ 0.00 pl -36.34+ 0.00

- 3000

3000 -1 3000

-1 3000

2000 - 2000 -1 2000 N 2000

1000 4 1000 - 1000 B 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch) (7.1,4 TVC(cbch) (7,1,5 TVC(cbch) (7,1,6 TVC(cbch) (7,1,7

T i, 739e+04 [ 25 -1 bybe+ud [ 25 - i, 7zge+04 [ 25 S nu /r3e+04 / 25
4000 4224100 4000w, DU 4219+ 0.0 4000 fm, pO 4234+ 0.0 4000 pO 4241+ 0.0
-36.1+ 0.0 pL -35.52.+ 0.00 L pl -35.79 % 0.00 pL -36.02.+ 0.00

3000 1 3000 1 3000~ - 3000 -

2000 b 2000 E 2000 - - 2000 N

1000 ] 1000 ] w0l C = 27.94 [ps/ch 1 1000 ]

X -
- -
1 1 ! 1 =
50 100 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(ebeh)=(7, 1,8 TVCEebeh)=(7, 1, TVC(ebeh)=(7, 1, 10 TVC(eb.eh=(7, 1,

11
AL t?doeﬂm 125 ERALEICK l?uze+u4/25 T 524e+04/25 T ‘Jb)ﬂeﬂM/ZS
4000 fm, pO 4228+ 00 4000 fo pO 4238+ 00 4000 fomm DO 4251£ 00 4000 fom, p0 4264+ 0.0
Pl 35551 0.00 Pl -34.64 0.00 L pl -33.4% 0.0 -34.78 % 0.00
3000 B 3000 E 3000 ] 3000 B
2000 4 2000 E 2000k ] 2000 1
1000 B 1000 C = B I ] 1000 C = —
C =28.87 [ps/ch] - wol C = 29.94 [ps/ch] *._ 7] C =28.75 [ps/ch] -
1 1 - [ 1 1 =] 1 1 "
50 00 0 50 00 50 00
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]

TVC(cbch)(711 ) TVC(cbch)(7113) TVC(cbch)(711 ) TVC(cbch)(7115)
T r3e+u4 /25 ~ 1 nuiL ysye+ud 25 ~ 1 nuiLyyse+u4 | 25 T inuizuz/e+ud [ 25
4000 pO 4226+ 0.0 4000 pO 4223+ 0.0 4000 PD 4228+ 0.0 4000 o, pO 4230+ 0.0
pl -35.28 + 0.00 pl -35.52+ 0.00 F pl -35.92+ 0.00 pl -35.36 + 0.00

- 3000

-1 3000 -1 3000

3000

2000 -1 2000 - 2000 2000

1000 -1 1000

& 1000 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

0

4000

3000

2000

1000

TVC(cbch) (7,2,0)

T 14ve+ud /25
4207+ 0.0
-36.31+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (72,4

- 1L Byge+ud / 25
e, pO 4188+ 0.0
pl -35.38:+ 0.00

e 4
% o
TP delay [ns]
TVC(c,b ch) (7, 2 8

T zuse+ud /25
po 4234+ 0.0
pl -37.57 + 0.00

TP delay [ns]

TVC(cbch) (7,212

T L pze+ud /25
pO 4216+ 0.0
pl -36.18+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,2,1

K™ 1L 41se+ud [ 25
- po 4192+ 0.0
pl -36.28 + 0.00

TP delay [ns]

TVC(c,b ch) (7 2,5

-1 nuz.Doge+u4 / 25
4208+ 0.0
-36.2+ 0.0

50 1(;0
TP delay [ns]

TVC(c,b ch) (7, 2

~ 1 nuis.ause+ud / 25
po 4239+ 0.0
pl -35.57 + 0.00

TP delay [ns]

TVC(cbch) (7.2,13

T inai r9se+ud / 25
pO 4214+ 0.0
pl -35.92+ 0.00

TP delay [ns]

4000

2000

1000

4000

2000

1000

4000

2000

4000
3000
2000

1000

TVC(cbch) (7,2,2)

K™ 1 nuidoze+04 /25
o po 4201+ 0.0
L pl -36.68 + 0.00

3000

TP delay [ns]

TVC(cbch) (7,2,6

- rnuiL1z4e+04 [ 25
o pO 4190 0.0
[ pl -34.63+ 0.00

3000

TP delay [ns]

TVC(ebeh)=(7,2, 10

1000

0

© 1 nuiLyuse+u4 / 25
= po 4255+ 0.0
- pl -36.89 + 0.00

3000

TP delay [ns]

TVC(cbch) (7,214

~ 1L pzae+u4 [ 25
4227+ 0.0
-35.61+ 0.00

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,2,3)

T nun La4e+04 [ 25
- pO 4214+ 0.0
pl -36.18+ 0.00

TP delay [ns]

TVC(c,b ch) (7 2,7

Crnu1/1e+04 /25
- pO 4212+ 0.0
pL -36.09+ 0.00

TP delay [ns]

TVC(c,b ch) (7, 2

T ‘Jibe+U4/25
= pO 4261+ 0.0
pl -37.72+ 0.00

TP delay [ns]

TVC(C, bch) (7.2,15

T inui ysle+ud [ 25
- pO 4231+ 0.0
p1 -35.72+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,3,0

K™ 1nuiLolye+ud /25
- po 4187+ 0.0
pl -36.09 + 0.00

TP delay [ns]

TVC(cbch) (7.3,4

T e3/e+ud [ 25
4180+ 0.0
-35.7+ 0.0

50 10‘0
TP delay [ns]

TVC(cbch) (7 3,8

©1nuizuloe+u4 / 25
po 4196+ 0.0
pl -36.29 + 0.00

TP delay [ns]

TVC(cbch) (7,312

T rnuiLguse+u4 / 25
4216+ 0.0
-36.51+ 0.00

PR B SRS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7.3,1

X- 1 L bzae+U4 | 25
- po 4197 + 0.0
pL -37.32:+ 0.00

TP delay [ns]

TVC(c,b ch) (7 3,5

- /UL 684e+U4 | 25
= DU 4190+ 0.0
pl -36.43+ 0.00

TP delay [ns]

TVC(c,b ch) (7 3,9

~ 1 nu.B44e+04 | 25
po 4216+ 0.0
pl -36.86 + 0.00

TP delay [ns]

TVC(cbch) (7.3,13

T nui ogse+ud / 25
pO 4207+ 0.0
pl -36.33+ 0.00

TP delay [ns]

4000

2000

1000

4000

3000

2000

4000

3000

2000

4000

3000
2000

1000

TVC(cbch) (7,3,2)

TP delay [ns]

TVC(cbch) (73,6

1000

A7 1 nui4sye+04 /25
_=_ po 4204+ 0.0
o pl -36.4+ 0.0

3000

- i, fg5e+04 / 25
- pO 4194+ 0.0
L pl -35.98 + 0.00

TP delay [ns]

TVC(cbch) (7, 3 10

1000

0

©1nuzbe3e+u4 [ 25
-, po 4234+ 0.0
- pl -37.19+ 0.00

TP delay [ns]

TVC(cbch) (7.3 14

T, ruze+u4 | 25
E pD 4212+ 0.0
+ pl -36.12+ 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7.3,3

AT 1L ruze+ud [ 25
P aee po 4203+ 0.0
pl -36.57 + 0.00

TP delay [ns]

TVC(c,b ch) (7 3,7

=11 byoe+u4 / 25
pO 4198+ 0.0
p1 -35.47 + 0.00

TP delay [ns]

TVC(c,b ch) (7, 3

T, 1ue+u4/25
e pO 4242+ 0.0
pl -36.86 + 0.00

TP delay [ns]

TVC(C, bch) (7.3,15

T inui glae+ud [ 25
po 4224+ 0.0
p1 36+ 0.0

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,4,0)

A1,

reve+u4 [ 25
4190+ 0.0
-36.02+ 0.00

TP delay [ns]

TVC(cbch) (7,4,4

233e+04 | 25
4213+ 0.0
-35.83+ 0.00

— po, o,
pl
- C -
% o
TP delay [ns]
TVC(c,b ch) (7, 4 8

pD
pl

.Usbe+u4 | 25
4214+ 0.0
-34.99 + 0.00

1
100

TP delay [ns]

TVC(cbch) (7,4,12

~1nuiLyy4e+u4 | 25
4218+ 0.0
-36.18 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000 5,

3000

2000

1000

TVC(cbch) (7,4,1)

e, po

pl

A7 1 nuiLbsoe+ud [ 25
4186+ 0.0
-35.26 + 0.00

TP delay [ns]

TVC(c,b ch) (7 4,5

S nun1.45e+04 [ 25
4215+ 0.0
-35.42 + 0.00

TP delay [ns]

TVC(c,b ch) (7, 4

= pO

pl

~ 1 nug boye+ud 25
4235+ 0.0
-35.16 + 0.00

TP delay [ns]

TVC(cbch) (7.4,13

T nui psle+ud / 25
4226+ 0.0
-35.49+ 0.00

TP delay [ns]

4000

3000
2000

1000

4000
3000

2000

4000
3000

2000

4000

3000
2000

1000

1000

1000

TVC(cbch) (7,4,2)

A1,

F PO
pl

rave+u4 /25
4193+ 0.0
-36.02 + 0.00

TP delay [ns]

TVC(cbch) (7,46

T b r1e+u4 /25
4226+ 0.0
-36.8+ 0.0

TP delay [ns]

TVC(ebeh)=(7, 4,10

pO
p1

© 1 nuz, 358e+u4 | 25
4250+ 0.0
-34.85+ 0.00

TP delay [ns]

TVC(cbch) (7.4,14

T f rse+u4 [ 25
4214+ 0.0
pl -35.86 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,4,3)

PSRN

oo, )
pl

(ove+u4 [ 25
4198+ 0.0
-35.71+ 0.00

TP delay [ns]

TVC(c,b ch) (7 4,7

pO
pl

-1 nui Yuse+u4 / 25
4234+ 0.0
-37.01+ 0.00

50 100

TP delay [ns]

TVC(c,b ch) (7, 4

e, pO

1)
-1 nuiz.ugbe+ud / 25
4252+ 0.0
-35.21+ 0.00

pl

TP delay [ns]

TVC(C, bch) (7.4,15

-1 nuiz.yuse+ud 25
4236+ 0.0
-37.12+ 0.00

TP delay [ns]



TVC(c,b Ch) (7, 5 0) TVC(c,b Ch) (7,51) TVC(c,b Ch) (7,5,2) TVC(c,b Ch) (7, 5 3)
i Corevud 25 K- LS 4e+Ud ] 25 X~ 1L ouoe+U4 ] 25 i Loserud 25
4000, PO 4189+ 0.0 4000, po 4195+ 0.0 a0, po 4214+ 0.0 4000, pO 4220+ 0.0
Pl -35.08+ 0.00 pl 3535 0.00 [ Pl -35.94% 0.00 pl 3572 0.00

3000

-1 3000 -1 3000 =1 3000 -1

2000 -1 2000 =1 2000 = 2000

1000 - 1000 - 1000 - 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(CbCh) (7 54) TVC(CbCh) (7 55) TVC(CbCh) (7 5,6) TVC(CbCh) (7 57)
- i 315e+04 / 25 -1 nui 3bze+u4 [ 25 -1 3pve+u4 / 25 S nun 153e+04 /25
4000 4190+ 0.0 4000, pO 4211+ 0.0 4000 pO 4206+ 0.0 4000 f pO 4218+ 0.0
4346+ 00 Pl -35.65% 000 [ L -35.07% 000 -35.4% 00
3000 ] 3000 - s000|- ] 3000 ]
2000 - 2000 E 2000 ] 2000 —

1000 1 1000 1 wol C = 28,52 [ps/ch 100 1
1 1 " 1 1 - 1 1 -
50 100 50 100 50 100
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(ebeh)=(7,5,8) Ve eh)=(7,5,9) TVC(ebeh)=(7.5,10) TVC(eb.eh)=(7, 5, 11)

©nuiL, rg4e+04 / 25 T rnun.bz1e+u4 [ 25 © 1, (poe+u4 / 25 T 1 yze+u4 25
4000, pO 4208 0.0 4000 pO 4220+ 00 4000 DO 4239+ 0.0 4000 e, p0 4243+ 00
pl -36.56 + 0.00 pL -36.93+ 0.00 [ pl -36.62.+ 0.00 pL -36.34.+ 0.00

3000 -1 3000 - 3000 - 3000 -1

2000 - 2000 -1 2000 N 2000

1000 - 1000 -1 1000 -1 1000

0

0
TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]
TVC(cbch)(751 ) TVC(cbch)(7513) TVC(cbch)(751 ) TVC(cbch)(7515)
TinuiLs1oe+u4 / 25 T o/ze+u4 [ 25 T, (g/e+u4 [ 25 -1 suye+u4 [ 25
4000 pO 4239+ 0.0 4000 [, pO 4240+ 0.0 4000 e, PD 4244+ 0.0 4000 pO 4228+ 0.0
pl -36.62 + 0.00 pl -36.78 + 0.00 : pl -37.25+ 0.00 pl -35.98 + 0.00

3000 . 3000 - 3000 1 3000 .

2000 -1 2000 -1 2000 -1 2000

1000 -1 1000 - 1000 N 1000

TP delay [ns] TP delay [ns] TP delay [ns] TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,6,0

A7 nun suse+ud / 25
P ocea po 4228+ 0.0
pl -36.82+ 0.00

TP delay [ns]

TVC(cbch) (7.6,4

- rnuiL415e+04 / 25
Fraese. pO 4208+ 0.0
p1 -35.48 + 0.00

50 10‘0
TP delay [ns]

TVC(cbch) (7 6, 8

1 nuizgoge+u4 / 25
= po 4190+ 0.0
pl -34.11+ 0.00

I C =29.31 [ps/ch]

1
50 100

TP delay [ns]

TVC(cbch) (7,6,12

-1 nuiLuyse+Us / 25
= po 4203+ 0.0
pl -32.55+ 0.00

[ C=30.72 [ps/ch] ™ ]

PR B SRS |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,6,1

AT 1 nuiLruoe+ud [ 25
e po 4231+ 0.0
p1 365+ 0.0

TP delay [ns]

TVC(c,b ch) (7 6,5

“nu b3/e+04 [ 25
[Fomes, pO 4226+ 0.0
pL -35.89 + 0.00

TP delay [ns]

TVC(c,b ch) (7 6,9

<1 nup.Zobe+ud | 25
= po 4225+ 0.0
pl -35.24 + 0.00

TP delay [ns]

TVC(cbch) (7.6,13

T nuioyse+ud [ 25
= pO 4237+ 0.0
pl -35.47 + 0.00

TP delay [ns]

4000

3000
2000

1000

4000
3000
2000

1000

4000
3000
2000

1000

4000
3000

2000

1000

TVC(cbch) (7,6,2)

AT 1nui 71oe+04 /25
po 4225+ 0.0
pl -36.01+ 0.00

TP delay [ns]

TVC(cbch) (76,6

Srnuanl/1e+u4 [ 25
po 4240+ 0.0
pl -36.31+ 0.00

10‘0
TP delay [ns]

TVC(cbch) (7, 6 10

T rnuzz31e+u4 [ 25
po 4250+ 0.0
pl -35.96 + 0.00

1
100

TP delay [ns]

TVC(cbch) (7.6,14

T, rzoe+u4 | 25
pD 4250+ 0.0
pl -36.67 + 0.00

P
100

TP delay [ns]

TVC(cbch) (7,6,3)

4000 e,

3000

2000

1000

AT 1L roze+ud [ 25
po 4242+ 0.0
p1 -36.6+ 0.0

TVC(c,b ch) (7 6,7

1
100

TP delay [ns]

4000 [

3000

2000 -

1000 C

-1 nui Yuse+u4 / 25
pO 4253+ 0.0
pL -36.72:+ 0.00

TVC(c,b ch) (7, 6

1(;0
TP delay [ns]

4000 [u.

3000

2000

1000

T 9a1e+u4/25
po 4237+ 0.0
pl -35.11 + 0.00

TP delay [ns]

TVC(C, bch) (7.6,15

4000 [

3000

2000

1000

-1 nuiz z0se+u4 25
po 4242+ 0.0
-35.72+ 0.00

1
100

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,7,0

K71 nui syoe+u4 / 25
o, po 4208+ 0.0
p1 -34.86 + 0.00

TP delay [ns]

TVC(cbch) (77,4

i 1 30e+u4 [ 25
F po 4205+ 0.0
pl -34.93 0.00

50 10‘0
TP delay [ns]

TVC(eb,oh)=(7, 7,8

©1nuz14pe+04 | 25
= po 4218+ 0.0
pl -35.38+ 0.00

TP delay [ns]

TVC(cbch) (7,7,12

T Loz e+u4 [ 25
= po 4225+ 0.0
pl -37.57 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,71

A 1L 4sse+ud [ 25
e po 4221+ 0.0
pl -35.51+ 0.00

TP delay [ns]

TVC(c,b ch) (7 7,5

=1 nui 3oze+ud | 25
F po 4216+ 0.0
pl -35.67 + 0.00

TP delay [ns]

TVC(c,b ch) (7, 7

T nugplie+ud / 25
4233+ 0.0
-36.1+ 0.0

1
50 100

TP delay [ns]

TVC(cbch) (7,7,13

T nuiL p3be+ud / 25
4224+ 0.0
-37.81+ 0.00

TP delay [ns]

4000

2000

1000

4000
3000
2000

1000

4000

2000

1000

4000

2000

1000

TVC(cbch) (7,7,2)

- C = 28.45 [ps/ch

K™ 1 nuiooze+V4 /25
P, po 4219+ 0.0
- pl -35.15+ 0.00

3000

1
50 100

TP delay [ns]

TVC(cbch) (7.7,6

T rnuiL4z1e+04 [ 25
pO 4233+ 0.0
pl -36.33+ 0.00

TP delay [ns]

TVC(ebeh)=(7, 7, 10

0

1 nuiLg4se+u4 / 25
- po 4241+ 0.0
F pl -36.45+ 0.00

3000

TP delay [ns]

TVC(cbch) (7,7,14

T L pse+u4 [ 25
- pD 4221+ 0.0
L p1 -36.85+ 0.00

3000

PR IR SRR |
50 100

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7.7,3)

. po

p1

A1 dave+Ud | 25
4224+ 0.0
-35.42:+ 0.00

TP delay [ns]

TVC(c,b ch) (7 7,7

feme pO
pl

- 1nui bo/e+u4 / 25
4236+ 0.0
-35.94+ 0.00

TP delay [ns]

TVC(c,b ch) (7,7,

X~ rnun 1

= po
pl

1)
bre+ud / 25
4252+ 0.0
-36.04 + 0.00

TP delay [ns]

TVC(C, bch) (7.7,15

T nuiLob/e+ud [ 25
4223+ 0.0
-37.29+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,8,0)

X~ 1 r11e+u4 [ 25
4164+ 0.0
-36.11 + 0.00

1
50 100

TP delay

TVC(cbch) (7.8,4

[ns]

T i rz9e+04 [ 25
4181+ 0.0
pl -35.76 + 0.00

TP delay

TVC(cbch) (7 8,8

[ns]

-1 nu 503e+u4 [ 25
4197+ 0.0
-35.23+ 0.00

1
100

TP delay

TVC(cbch) (7,812

B pO

p1

[ns]

~ 1z 1n4e+04 / 25
4209+ 0.0
-37.4+ 0.0

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7.8,1)

Fe po

A1 L (a0e+U4 | 25
4178+ 0.0
pL -35.65+ 0.00

TP delay

TVC(c,b ch) (7 8,5

[ns]

-1 nuiLbb/e+u4 [ 25
4189+ 0.0
pl -36.13+ 0.00

TP delay

TVC(c,b ch) (7 8,9

pO

[ns]

T naiyroe+ud [ 25
4219+ 0.0
p1 -35.97 £ 0.00

TP delay

TVC(c,b Ch) (7, 8 13

3 pO
p1

[ns]

T nuizylve+ud / 25
4216+ 0.0
-38.2+ 0.0

N M Y
50 100

TP delay

[ns]

TVC(cbch) (7,8,2)

4000

3000
2000

1000

P PO

pl

X~ 1L 8r1e+04 [ 25
4179+ 0.0
-35.5+ 0.0

TP delay

TVC(cbch) (78,6

4000

3000

2000

1000

P, F’°

p1

[ns]

T, 74/e+04 | 25
4195+ 0.0
-36.19 + 0.00

TP delay

TVC(eb,oh)=(7, 8, 10

4000

3000

2000

1000

pO
pl

[ns]

©1nuiz.4zpe+u4 | 25
4204+ 0.0
-33.64 + 0.00

- C = 29.73 [ps/ch]

0

1
50 100

TP delay

TVC(cbch) (7.8 14

4000

3000
2000

1000

[ns]

~1nuz 3use+ud [ 25
4228+ 0.0
pl -38.42+ 0.00

TP delay

[ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7.8,3)

K™ 1L Broe+u4 [ 25

Fe po

p1

4178+ 0.0
-34.85+ 0.00

[ C =28.69 [ps/ch

L
50 100

TP delay [ns]

TVC(c,b ch) (7 8,7

pO
pl

-1 nui ygbe+u4 / 25
4206+ 0.0
-36.67 + 0.00

50 100
TP delay [ns]

TVC(c,b ch) (7, 8

= pO

T 94be+u4/25
4206+ 0.0
-35.01+ 0.00

pl

TP delay [ns]

TVC(c,b ch) (7, 8 15

-z 159e+U4 [ 25
4227+ 0.0
-37.82+ 0.00

TP delay [ns]



4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,9,0

AT nui r3oe+u4 /25
- po 4180+ 0.0
pl -39.18 + 0.00

TP delay [ns]

TVC(cbch) (79,4

- i BE3e+u4 / 25
e pO 4187+ 0.0
pl -37.15+ 0.00

TP delay [ns]

TVC(cbch) (7 9,8

-1 nun Blie+ud | 25
po 4191 0.0
-34.75+ 0.00

1
50 100

TP delay [ns]

TVC(cbch) (7,9,12

i 5o0e+U4 / 25
= po 4204+ 0.0
pl -35.06 + 0.00

TP delay [ns]

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

4000

3000

2000

1000

TVC(cbch) (7,91

A1 L 4a1e+U4 ] 25
F. po 4180+ 0.0
pL -36.92:+ 0.00

TP delay [ns]

TVC(c,b ch) (7 9,5

= 1 nui Seve+ud / 25
= po 4195+ 0.0
pl -36.58 + 0.00

TP delay [ns]
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